ADDENDUM NUMBER: 3

PROJECT: UNC Charlotte Residence Hall Phase XIV - Balance of Work
DATE: July 2, 2015
OWNER: UNC Charlotte

ARCHITECT: FWA Group

NOTICE TO BIDDERS:

This addendum is issued prior to receipt of bids, proposals, and its contents do hereby become a part of the
pricing documents for the above referenced project.

All subcontractor bidders are responsible for assuring that their subcontractors and vendors are properly
apprised of the contents of this Addendum.

All information contained in this Addendum supersedes and takes precedence over any conflicting information in
the original pricing documents.

All bidders must acknowledge receipt of this Addendum in the space provided on the Form of Proposal for their
bid package.

GENERAL REVISIONS TO BID INFORMATION

1 CM RFI's #31 - 58 - Attached.

Revised Milestone Schedule Per Bid Package Manual General Summary of Work
2 Section 4.1 - Attached.

3 Bid date, time, and location remain the same.

REVISIONS TO DESIGN DOCUMENTS
1 FWA Group Addendum #01 Dated July 2, 2015 - Attached.

END OF ADDENDUM

Rodgers Page 1 of 1



RODGERS

Our Passion is Building®

Pre-Bid RFI Log - Construction Manager

RFI Log #2
Project: UNCC Phase XIV Residence Hall - Balance of Work
To: FWA Group
Prepared By: Ben Palmer
Phone:|704-531-5173
Fax:|N/A
Email: |bpalmer@rodgersbuilders.com
Date: July 2, 2015
Quest & Clarifi
31 Can multiple Bid Packages be combined into one proposal, or can volunteer alternates be provided should multiple bid packages be
awarded to the same bidder?
A . RBI: No, multiple Bid Packages cannot be combined into one proposal. Each bid package must be bid separately in its own sealed
nswer. envelope.
32|A) Please confirm the specific location and/or count for the skate deterrents. B) Please provide a manufacturer for the skate deterrents.
Answer: RBI: For question (A), please refer to Arch. RFI #13. For question (B), please see Spec 12 93 00 and the Landscape Drawings.
33|Who is responsible for the concrete footer/foundation for the site steps?
Answer: RBI: BP 03A is responsible for the concrete footer/foundation for the site steps.
34|Which bid package is responsible for installing the bike shelter as needed for Alternate #147?
Answer: RBI: Please reference CM RFI #4.
Bid package 10C does not state who is responsible for punching the overhead steel per the submittal punch template. Bid package 5A
35|states under C05 that the Misc. Steel subcontractor will be providing and installing the steel itself, but does not require them to punch the
steel as the scope currently reads. Please confirm which package is responsible for punching the steel.
Answer: RBI: BP 10C shall be responsible for and include punching/drilling holes as needed in the structural steel supporting operable partitions.
Bid package 10C does not mention blocking for the jambs of the operable partition and pocket door to be embedded into the drywall to
36 prevent caving and properly support the weight of the pass doors. The description for bid package 9A states that they are to provide
blocking for Division 10 specialties, without directly referencing the operation partition or the amount of blocking. Please confirm if the bid
package 9A subcontract will be providing blocking for each end of the operable partition and for the jambs at each leaf of the pocket door.
A . RBI: Blocking as shown on the Contract Documents will be provided and installed by BP 09A. Should additional blocking be required for
nswer. operable partitions BP 10C, this will be provided and installed by BP 10C as indicated in BP 10C - Item GC-01.
Drawing A510, detail A1 correctly details an above ceiling plenum barrier required by ASTM E557 to prevent sound from flanking over the
37 operable partition and through the ceiling. This construction is typically covered by the 9A subcontractor considering its drywall
composition, but is not currently listed in their scope requirements. Please confirm that bid package 9A will be providing the plenum barrie
as detailed
RBI: Confirmed, BP 09A will be providing the plenum barrier as detailed. BP 10C will be providing and installing all operable partition
Answer: . )
components as shown in Detail A1/A510.
BP 08B: Reference general summary of work, 3.7, hoisting and bid package 08B- doors and hardware. A buck hoist or service elevator
38 will be required for this subcontractors use for delivery of doors and hardware to floors 2-5. For both safety and insurance reasons, we will
not be able to carry doors and hardware up stairs. Please confirm a buck hoist or service elevator will be available for use at time of door
and hardware installation.
Answer: RBI: Confirmed that either a buck hoist or construction elevator will be available for all use at the time of door and hardware installation.
’ All trades will have access to the buck hoist and/or construction elevator to facilitate installation of the Work.




39

Reference bid package 08B- doors and hardware. ltem BO07 states that frames are to be provided with conduit. This is highly atypical and
not recommended. Typically, frames are provided with electrical box and prep only. Conduit is provided by bid package 16A. Please
confirm bid package 16A is responsible for conduit at hollow metal frames.

Answer:

RBI: Confirmed. For clarification purposes, BP 16A is responsible for providing and installing conduit and wire to all door related devices.
Termination of wiring to devices shall be by BP 08B.

40

Reference bid package 08A- glass assemblies and bid package 08B- doors and hardware. Per 08A- item A11, all hardware for
aluminum/glass doors by bid package 08A (other than cylinders/cores which will be by bid package 08B). Please confirm.

Answer:

RBI: Confirmed that all hardware for aluminum and glass doors is by BP 08A, except for cylinders/cores which shall be provided by BP
08B.

4

iy

Reference bid package 08B- doors and hardware. ltem B23 states low voltage wiring by bid package 08B. To avoid overlap with bid
package 16A, Please confirm this is a requirement of bid package 08B.

Answer:

RBI: To clarify, BP 08B Item B23 states final connections of electrical low voltage wiring are included in BP 08B. Low voltage wiring is
included in BP 16A.

42

Please reference 08 06 71- door hardware schedule and bid package 08B- doors and hardware. Bid package 08B, item B19 states that
construction cylinders are required for use during construction. Spec section 08 06 71 is not scheduled in this way. For example, reference
hardware set 16 (this is typical across all of the “housing” hardware sets). The lock is specified “LC”. This is “less cylinder”. The permanent
cylinder is shown on the line below the lock “20-000”. The way the hardware is currently designed, there won’t be any way to lock these
openings during construction. The locks will be shipped less the cylinder. The permanent cylinder won’t be shipped and installed until the
end, leaving the openings unsecured during construction. If EVERY opening is required to be secured during construction, we would
suggest removing the “LC” from the locks in all hardware sets (then the locks will be shipped with a cylinder that can be used during
construction and replaced with the permanent cylinder at a later date). If every opening will not be required to lock and you only require a
set amount of doors to be secured, we would suggest adding a requirement to 08B such as “please provide “XX” construction cylinders for
use during construction at contractors discretion to secure openings until permanent cylinders are installed”. This will suffice at ALL
MORTISE LOCK and/or EXIT DEVICE applications. The cylindrical locks are a different story. With a key-in-lever cylinder, the only way to
change out the cylinder is to remove the lever completely. You can’t just simply swap out the cylinder. The lever has to be taken off the
door. While it is not impossible it makes it rather labor intensive and expensive. For the most part, the common area consist of mortise
locks so this won’t be a big issue in the common area. However, the bedroom doors inside the units all have lockable cylindrical locks.
Obviously, this is one of the most common door types with a very large quantity. Please advise if the unit bedroom doors will be required tq
be secured during construction?

Answer:

RBI: Include provisions to allow for the following doors to be locked during the construction process: Exterior entry doors, electrical
rooms, mechanical rooms, IT rooms, and main entry door from corridor into each suite. Bedroom doors do not require a temporary lock.

43

Please confirm anodized aluminum clad steel doors & frames are to be provided and installed by bid package 08A- glass assemblies.
Reference door schedule on A610, door material “ST” and frame material “ACST” (reference opening 140 for an example).

Answer:

RBI: Confirmed that aluminum clad steel doors & frames are to be provided and installed by BP 08A.

44

BP 16A Electrical - Please clarify where BP 16A is to pull feeders from/to and where to start their conduit (where the hand off is from BO
02J).

Answer:

RBI: BP 16A shall provide and install all underground duct bank(s) that are not clearly identified in the Early Site Bid Documents. BP16A
shall provide and install ALL feeders.

45

Sheet A101N, General Note #14 — Please confirm the Plumbing package has the SS panels at the janitors mop sink.

Answer:

RBI: Confirmed, Plumbing BP 15C will furnish and install the stainless steel wall guards, mop hangers, etc. as required of Plumbing
Fixture P-7.

46

Please clarify how the HVAC, plumbing equipment and construction elevator will be powered for construction use.

Answer:

RBI: BP 16A shall include provisions to provide power for equipment and elevator operation for construction use prior to and after
permanent power.

47

Refer to dwg#E503 detail#11, who is responsible for providing Elevator/Fire Curtains. What are the locations? Are these on all levels and
for all elevators? If by EC please provide specifications for Elevator Curtains.

Answer:

RBI: Elevator Smoke Curtains shall be provided by BP 16A as defined in the Specific Summary of Work. The locations are shown on the
Electrical & Architectural Drawings. The spec section for Elevator Smoke Guards is 08 34 83.

48

Refer to dwg#E508 detail#1, notes#1&2. Please clarify who supplies the 20A duplex receptacle in the Washer Box provided by Plumbing
Contractor. Please clarify?

Answer:

RBI: Plumbing BP 15C shall provide the integral 20A receptacle in the Washer Boxes. See Plumbing Fixture WP-1. BP 16A shall make
electrical connections and terminations to receptacle.




Refer to dwg#E705, who is providing disconnects for the following:
1. ODU-01, ODU-1-3, 1-4, 1-5 and 1-1.

4912, EVR-1, EVR-2 and AHU-1.
3. UH-1-mentions note#6 integral to unit, also note#9 disconnect by EC please clarify?
Answer: RBI: Items #1 & 2 - BP 15D HVAC to provide and install; See Note #7 on M002. Item #3 will be provided & installed by BP 15D HVAC.
Please refer to Para A50 of Bid Package -16A Electrical Specific Summary of work- Communication System-Paging and Music systems
50|and resident call system. We don’t see any locations for these items. Please clarify where to look for these. If not, please delete these
items from EC scope of work. Please clarify?
RBI: To clarify, the verbiage for 'paging and music systems, resident call raceway' are not applicable. The intent of the '‘Communication
Answer: Systems' reference in A50-BP 16A is to ensure that BP 16A includes all low voltage and communication systems as shown in the
Drawings and Specifications.
51 Please refer to Para A38 of Bid Package -16A Electrical Specific Summary of work-Please provide low voltage matrix to clarify what is
EC'’s responsibility and what is Owner’s responsibility. This will clarify who is providing what.
A . RBI: A low voltage matrix will not be provided. BP 16A is to include all low voltage and communication systems as shown in the Drawings|
nswer. and Specifications.
52 Please refer to Para A53 of Bid Package -16A Electrical Specific Summary of work- Please provide details/locations where to provide
power to interior and exterior signage. Are we missing these somehow?
RBI: Bidders are responsible to review all Drawings and Specifications. For example, one location for signage to note is the Exterior Light|
Answer: ) )
Fixture Schedule on Drawing E003.
Please refer to Para B- BO1 thru BO8 of Bid Package -16A Electrical Specific Summary of work- Elevator Smoke Guards- we understand
53 during the pre bid meeting that Elevator work has been awarded- so is it possible to get details on these elevators so that we can price the
smoke guard system compatible with the Elevators you will be installing. This will help everyone in the end. Please provide necessary
details.
Answer: RBI: Thyssen Krupp has been awarded the elevator contract (BP 14A). Shop drawings are in progress but are not finalized at this time.
54|BP 16A - Is there any traffic control work involved for this project we are bidding. If so please provide details. Please clarify?
RBI: Each Bid Package shall provide traffic control as required to install work, including but not limited to deliveries, unloading of
Answer: materials, barricades and traffic control (including flagmen) by each bid package. Flaggers in the Right of Way must be DOT certified in
flagging operations.
55 BP 16A - Alternate#14- where can we find the complete scope for this alternate-please mark on the respective drawings to properly quote
our scope of work. Please clarify?
Answer: RBI: Ref. Drawings E011 and Detail #1/E301.
56 For RR-ADA-R tiled bathrooms: Will the slab be recessed in this area to allow roll-in accessibility? If so, will recess area be in the shower
area only or the entire bathroom floor?
Answer: RBI: Yes the slab will be recessed per Drawing C5/A141. Ref Structural Drawings for slab depression locations/size/depth.
57|Are there Liquidated Damages associated with this project?
RBI: Yes, please Ref. Article #23 of the Supplementary General Conditions (00 73 23), which states For each day in excess of the
contract duration, the CM shall pay to the Owner, the sum of One Thousand Dollars ($1,000.00) per calendar day until November 28, 2016
and the sum of One Hundred Dollars ($100.00) per calendar day per bed after November 28, 2016 the work is delayed beyond the
Answer: . . . o . .
completion date or authorized extension thereof, as liquidated damages reasonably estimated in advance to cover the losses to be
incurred by the Owner by reason of failure of said CM to complete the work within the time specified, such time being of the essence of
this contract and a material consideration thereof.
58|Please clarify who is to provide and install power supplies for electrified door hardware?
Answer: RBI: BP 08A & 08B shall provide power supplies for their associated doors. BP 16A shall install power supplies.




RODGERS

Our Passion is Building®

Description of Milestone/Duration

North Wing Milestone Date/Duration

South Wing Milestone Date/Duration

Structural walls and decking

9/22/2015 - 12/28/2015

10/16/2015 - 12/1/2015

Roof trusses and sheathing

12/29/2015 - 1/26/2016

12/9/2015 - 1/5/2016

Miscellaneous exterior framing and exterior sheathing

10/21/2015 - 1/26/2016

10/16/2015 - 1/12/2016

Brick veneer

12/28/2015 - 3/8/2016

12/8/2015 - 12/16/2015

Dryin 1/26/2016 1/12/2016
Exterior skin mock up complete 11/13/2015 11/13/2015
AHU & ERV delivery 12/17/2015 12/17/2015
Elevator Ready For Construction Use 2/16/2016 2/16/2016
Permanent Power 3/11/2016 3/11/2016

Rough in prior to dry in

11/25/2015 -3/23/2016 (15 days/floor)

12/16/2015 - 3/16/2016 (10 days/floor)

MC cable install after dry in

1/27/2016 - 6/15/2016 (15 days/floor)

1/12/2016 - 6/15/2016 (10 days/floor)

Hang/tape/finish 15 days/floor 10 days/floor
Temporarily Controlled Conditioned Air 3/18/2016 3/18/2016
Final Designer Inspection 10/10/2016 10/10/2016
Final SCO Inspection 10/21/2016 10/21/2016

UNCC Residence Hall - Phase XIV

Addendum #03

7/2/2015




ADDENDUM NO. 1

Residence Hall Phase XIV

University of North Carolina at Charlotte
July 2, 2015

W

ADDENDUM NUMBER ONE (1)
DATE: July 2, 2015

PROJECT: Resident Hall Phase XIV
University of North Carolina at Charlotte
Building Package
SCO ID# 12-10117-03A
Code 41026 Item 307

FWA PROJECT
NUMBER: 2420.02

This Addendum Number One (1) forms a part of the Contract Documents, clarifies and/or
modifies the original Documents for the above referenced project and subsequent Addenda,
and shall take precedence over the original Contract Document drawings, specifications,
schedules and other documents dated June 18, 2015 as issued by The FWA Group.

This Addendum consists of three (3) pages of written text, zero (0) specification sections and
sixteen (16) full size drawings.

CHANGES TO PRIOR ADDENDA:
e NA

CHANGES TO PROCUREMENT AND CONTRACTING REQUIREMENTS:
Revise the following Specification Section:

00 01 10 - TABLE OF CONTENTS (Revise the following)

213113 FIRE PUMPS
26 24 16 PANELBOARDS

CHANGES TO SPECIFICATIONS GROUP
Revise the following Specification Sections:

09 91 13 — INTERIOR PAINT (Revise the following)

2.1 MANUFACTURERS
C. Approved Equivalent Products;
5. Latex, exterior, satin:

a. S-W: SuperPaint Exterior Latex Satin, A89 Series
b. BenMoore: Moorlife Exterior Flat, N105
c. PPG Paints: PP739 Acri Shield Satin Acrylic House Paint

www.FWAgroup.com SERVICE THROUGH ARCHITECTURE SINCE 1963 Page 1



ADDENDUM NO. 1

Residence Hall Phase XIV

University of North Carolina at Charlotte
July 2, 2015

3.6 EXTERIOR PAINTING SCHEDULE
C. Exterior Gypsum Board Substrates: Ceiling in archway
1. Latex System:

c. Topcoat: Latex, exterior, satin: S-W SuperPaint Exterior Latex Satin, A89 Series,
at 4.0 mils wet, 1.5 mils dry, per coat.

08 80 00 — GLAZING (Revise the following)

2.8 INSULATING-GLASS UNITS
A. Radiant Low-E Insulating-Glass Units (G1):
1. Basis-of-Design Product: Guardian Industries Corp.; Sunguard SNX 62/27 (#2) on
Green) or a comparable product by one of the following:
a. PPG Industries Solarban 70XL (2) Solexia/Clear
b. Viracon, Inc. VNE-63 #2

B. Radiant Low-E Insulating-Glass Units (G1T):
1. Basis-of-Design Product: Guardian Industries Corp.; Sunguard SNX 62/27 (#2) on
Green) or a comparable product by one of the following:
a. PPG Industries Solarban 70XL (2) Solexia/Clear
b. Viracon, Inc. VNE-63 #2

CHANGES TO DRAWINGS:
The sheets listed below (Revised by Addendum No. 1) are hereby revised and made part of the
Contract Documents:

VOLUME 1 DRAWINGS

(Revisions include scupper/conductor head details, miscellaneous door schedule
corrections, additional information for Window IF01 @ Laundry Rm’s X42 and hollow
metal frames revised to storefront @ Rm’s 151, 157 & 159)

A503 — EXTERIOR DETAILS-R1

A610 — DOOR SCHEDULE & TYPES_R1

A611 — EXTERIOR & INTERIOR FRAME TYPES_R1
A612 — DOOR DETAILS_R1

a0 oo

VOLUME 2 DRAWINGS
(Revisions include addition details & clarifications to cold-formed framing)

CF101-MATERIAL SCHEDULES_R1

CF202-N-2ND FLOOR NORTH STRUCTURAL WALL PLAN_R1
CF203-N-3RD FLOOR NORTH STRUCTURAL WALL PLAN_R1
CF204-N-4TH FLOOR NORTH STRUCTURAL WALL PLAN_R1
CF205-N-5TH FLOOR NORTH STRUCTURAL WALL PLAN_R1
CF205-S-5TH FLOOR SOUTH STRUCTURAL WALL PLAN_R1
CF206-N-ROOF NORTH STRUCTURAL WALL PLAN_R1
CF301-TYPICAL DETAILS_R1

S002-STRUCTURAL NOTES_R2

“T@ e a0T

www.FWAgroup.com SERVICE THROUGH ARCHITECTURE SINCE 1963 Page 2



ADDENDUM NO. 1
Residence Hall Phase XIV

University of North Carolina at Charlotte
July 2, 2015

j-  S202-N-2ND FLOOR NORTH FRAMING PLAN_RY7
k. S303-FOUNDATION DETAILS_R4

l.  S501-ROOF FRAMING DETAILS_R3

VOLUME3 DRAWINGS
e NA

END OF ADDENDUM NO. 1

Jim Palmieri, AIA
The FWA Group

www.FWAgroup.com SERVICE THROUGH ARCHITECTURE SINCE 1963 Page 3



ASPHALT SHINGLES IR — 1"/ 1om )
CONT. SELF ADHERING OVER 30# FELT SR w D e L T T e— R &
WATERPROOF . R e T A R R Y —
MEMBRANE TPO MEMBRANE. EXTEND 36" 1" POLYISO RIGID INSULATION ] SRS B U R B e e
BETWEEN SLEEPERS « 0 e, I TR e, SN CAST STONE
UNDER ASPHALT SHINGLES St e T, T Lo o s 2, T P S L oo _ PARAPET CAP
— 3/4" PLYWOOD (2) LAYERS OF SELF-ADHERING — A{ ol R T T Y RTINS ®
PROTECTION BOARD MEMBRANE FLASHING, EXTEND gal e e o R A e T , CONT. CAP ELASHING rO u
36" ON EACH SIDE OF VALLEY / R MR S —— i [ OVER ENTIRE WALL
RUBBER BOOT — R-30 RIGID INSULATION I RAPEEEEENIN R | B ASSEMBLY
S 7 o Cote T : | \%7‘
FLASHING \ e > o au — REGLET FLASHING B 500 EAST BOULEVARD
J g Wil CHARLOTTE, NORTH CAROLINA 28203
PR ! ! 704 | 332-7004
R — TERMINATION BAR SET IN
~— TPO MEMBRANE ADHERED \ . I13/4"| FULL BED OF SEALANT W/ [ ] #10 Palmetto Business Park
TO PROTECTION BOARD [ ; FASTENERS @ 12" O.C. Hilton Head Island, SC 29928
. 4 WAl ) 843 | 785-2199
34" PLYWOOD SHINGLES ON 30# FELT @ Bt 6" COLD FORMED METAL E
PROTECTION BOARD ON 3/4" PLYWD ON 2X4 CONT. TREATED 2x WOOD 9 | | ~ | | A FRAMED BOX BEAM
SELF-ADHERING MEMBRANE ‘1’\/’2[’ f/l'-TELEPERS ON1 BLOCKING. PROVIDE 10 g TYP. FLASHING s WAl 16/32" CDX PLYWOOD
— R-30 TAPERED RIGID FLASHING, EXTEND 8" DOWN L CK WITH 1 POLYISO \'\//lvlé g’g'z fA'EET'iTL BETWEEN ] DETAIL, SEEA5/A501, | - Wi
INSULATION WALL & 8" OVER PROTECTION © EXTEND 8" BEYOND PR [ !
1/4" | 12" BOARD RIGID INSULATION 7 EACH SIDE OF i ; CONT. 16" GA. FLAT GALV.
i BETWEEN SLEEPERS 8 A N 0000 SCUPPER ! ! STEEL SHEET STRAPPING
67 -7 3/4" {4;." 1-1/2" COMPOSITE METAL N LA FOR CAST STONE
) ;} b DECK, SEE STRUCTURAL CAST STONE AL ANCHORS, PROVIDE (2)
o ANGHORS VAL SCREWS @ 16" O.C.
T CONT. ALUM. REGLET /L." ' \ Al ATTACHED TO COLD
“ FLASHING F = LW FORMED METAL FRAMING
A [
e T~ "
TERMINATION BAR SET IN = WAl 1/2" EXTERIOR SHEATHING
CAST STONE, SEE |
FULL BED OF SEALANTW X 2\~~~ x| - SCHEDULE ON A615 A
FASTENERS @ 12" O.C. COLD-FORMED METAL N - W[ T AIR BARRIER, WRAP UP
I e e o O I I I T T | > - - A AND OVER PARAPET
TRUSS FRAMING 0 CONT. SEALANT ~ AL
67'-13/8" ALUM. COLLAR (TYP. W Al TPO MEMBRANE ADHERED
- - ;} AROUND SCUPPER) Al TO PLYWOOD, LAP OVER
v v V=Y i SCUPPER FLANGE
Lo TPO TO ASPHALT SHINGLE ; :
— AIR BARRIER OVER 1-1/2" TO 1/2" PLYWOOD : ¥ S| |
COMPOSITE METAL DECK, PROTECTION BOARD SCALE: 3" = 1'-0" ® - “ SCUPPER FLANGE
SEE STRUCTURAL
1-1/2" POLYISO RIGID REFERENCED FROM: A5 | A302 LAP SEALANT
ROOF DETAIL AT VENT PIPE .. T FOR CONSTRUCTION
1" POLYISO RIGID INSULATION SCUPPER, EXTEND 8" ALUM. BASE FLASHING TO LAP
\ AIR BARRIER OVER 1/2" SCALE: 11/2" = 1-0" BETWEEN SLEEPERS BEYOND ON EACH SIDE. —— AROUND & INTO ALUM. SCUPPER
EXTERIOR SHEATHING : = : Z FLANGE. SOLDER OR SEAL
ASPHALT SHINGLES b’é’fAfgggS%gEK 27 B ALUM. SCUPPER FLANGE TO CONT. FIRE TREATED WOOD CANT STRIP
] , P LAP AROUND & INTO ALUM. o
OVER 30# FELT ety _— 1/8" /12
N " . / COLLAR. SOLDER OR SEAL — " e LAP SEALANT
$ ) | [ ——— 8" COLD-FORMED METAL FRAMING CONT. SELE ADHERED 12 (TYP. ALL AROUND) ——— | AT/\
21'-03/4" AF.F. '\Eﬂggﬂgzﬁ'\ﬁ@\é%%mm 6" 7 A A 2x4 SLEEPERS ’ v ! ‘
A NOTE: ALL EXPOSED  _ I\ ‘
~—— 6" COLD-FORMED METAL ALUM. SCUPPER N N | TPO MEMBRANE ADHERED
PRAMED BOX BEAM CONT. TREATED 2x WOOD COLD FORMED METAL % COMPONENTS TO N 1 TO PROTECTION BOARD 4
BLOCKING, PROVIDE 10 TRUSS FRAMING, SEE ) MATCH COLOR OF A D ENINY | < D
5/8" TYPE"X" MIL SLIP SHEET STRUCTURAL o DOWNSPOUTS g | W ,4 -
GYPSUM WALL BETWEEN WOOD AND = ' N <
BOARD METAL N :
DA Ve B e D T — J
N 60" - 11 1/4” X A NI : RX R PROTECTION BOARD
N/ s < N SHARRELT
CONT. ALUM. DRIP EDGE j b 5 N 4" MIN. — R-30 TAPERED
~——— R-19 BATT INSULATION ) I [\ / o NE 3 | INSULATION
. BRICK VENEER | | ] 1-1/2" METAL DECK
LAP SEALANT @ TPO || N v OVER 6" COLD
TERMINATION || MASONRY TIES —— 3 N FORMED METAL
— N7 [l ] : FRAMING
A “ || | S :
> l >/ | I ——— 1-1/2" CONT. METAL HAT CHANNELS T T, dj |
I R RN j T I
| | I GUTTER STRAP @ i 2 R-19 BATT INSULATION — -
| V ’ ) ——— VENTED ALUMINUM SOFFIT PANELS B —— |
| i W1 BRACKETS o _ | B o = TRUSSBEARING
! " AL CONT. ALUM. REGLET _ | ' | —— TPO ADHERED TO 1/2" PROTECTION BOARD — = T = | 55 - 6 3/4" CONSTRUCTION
e N7 FLASHING / ! ‘ SELF-ADHERING MEMBRANE I R C BN NV
/| W7 ~. ~ | I | ——1-1/2" POLYISO RIGID INSULATION AIR BARRIER. LAP OVER TOP o A CS-41 ‘ % DOCU M E NTS
| e | TERMINATION BAR SET IN PRE-FINISHED ALUM | ‘ TRACK & DOWN FLANGES OF ono_ il N -
N7 FULL BED OF SEALANT W/ ' . 6" COLD FORMED METAL ‘ ‘ |
! ! GUTTER, INSTALL ] | | —— 1/2" EXTERIOR SHEATHING /
- l @ ¢ § BELOWROOF LINE | ‘ B = | - 5/8" TYPE "X" GYPSUM
/ | ——— CONT. 2x4 FIRE TREATED LA | | 1 VA — WALL BOARD OVER
| 4 man BLOCKING | | ‘ | s / CHANNELS
! — d . >
‘ \ LAP SEALANT @ TPO %U;;EORC?RACKETS — | | 1/2-HR REQD, 1-HR i y PERPENDICULAR TO
" | . OVERLAP e 6" 51/ | PROVIDED FIRE SAFING = COLD FORMED METAL
[ | ‘ ! S . "
/ | - ALUM. CLAD 1x14 FASCIA, ) ] | | / FRAMING @ 16" 0.C.
! oV = PROVIDE CONT. BENT 61/2 1112 | ! -
| 9 L < PLATE @ END OF TRUSSES — | T
| . TO SUPPORT FASCIA N\ ‘ PARAPET WITH OVERFLOW SCUPPER
/ ‘« MIN | N SCALE: 3"=1-0"
_ : TPO MEMBRANE .
| . REFERENCED FROM:
‘ \ N ADHERED TO Al | A404 C
"\ | PROTECTION BOARD
)z | N R
6" COLD-FORMED g ! } } :
METAL FRAMING | oV 3/4" PLYWOOD ‘ ‘ ) :
‘ AN PROTECTION BOARD | | . BT e e T e T o
D ﬁ | | o e s e e e 4 CAST STONE ’
| R-30 RIGID INSULATION CONT. ALUM. REGLET | | | e e T e T T T R e A T T PARAPET CAP
: i FLASHING | ‘ Y T B RN A N [T ——— CONT. CAP FLASHING
| | | = e PR PR ESIREE NIRRT B OVER ENTIRE WALL \ ’
| TERMINATION BAR SET IN 7 ! ! — I i L| | ASSEMBLY W y 4
! 1-1/2" COMPOSITE METAL FULL BED OF SEALANT W/ . ! 20 | e e o N |
| DECK, SEE STRUCTURAL FASTENERS @ 12" O.C. : < ﬂ 6" COLD FORMED ) VN SR P NN \ I ]P IC CHARIOITE
e ‘ = ‘ METAL FRAMING N [“ - e, L R NN | ; REGLET FLASHING
. CONT. 2x4 FIRE TREATED % T oy B A
A PO MEMERANE ADHERED BLOCKING —— | | ; CS-10 (. oAl TERMINATION BAR SET IN RESIDENCE HALL
: N2 TO PROTECTION BOARD LAP SEALANT @ TPO f 1 : — (]! A FULL BED OF SEALANT W/
S oo | | ] ” - S I | == ;i FASTENERS @ 12" O.C. PHASE XIV
_' 1/a" | 12" - ‘ Y ~— BOTTOM CHORD OF COLD N 'S : "
3 - P | <\ FORMED METAL FRAMED ! LT e e e ] LI PRAMED BOX BEAM
, 7777 ! | ROOF TRUSS N N D e ‘ mil UNIVERSITY OF NORTH
PROTECTION BOARD 7 S L ] \ i TYP. FLASHING o . [ [ | "
‘ ! *‘ } R-30 BATT INSULATION o DETAIL, SEE A5/A501, | : : | 19/32" CDX PLYWOOD CAROLINA AT CHARLOTTE
< " w0 EXTEND 8" BEYOND SRRV RN A |
\i | R-30 TAPERED ! | < o EACH SIDE OF R I ‘ S CONT. 16" GA. FLAT GALV.
b ¥ INSULATION MIN | ) N SCUPPER — " e | VAl STEEL SHEET STRAPPING
| } 1-1/2" METAL DECK | B DS P 7/8" METAL HAT ' L et | BVl FOR CAST STONE 9201 UNIVERSITY CITY BLVD.
| A OVER 6" COLD * | / CHANNELS @ 167 L Tl e WAL ANCHORS, PROVIDE (2) CHARLOTTE, NC 28223
\ | : FRAMING | ™ PR CS-09 | VAL ATTACHED TO COLD SATE
) | ] < | X " g — WAL FORMED METAL FRAMING
) | a | | 5/8" TYPE "X" GYPSUM ———— | A MARK | (YYYY-MM-DD) DESCRIPTION
| ‘ ) | | WALL BOARD B N Wi BV [ e
| | * | ‘ CAST STONE ANCHORS | L /‘;_\[rg = | 1/2" EXTERIOR SHEATHING 2015-05-15 FINAL SUBMITTAL
' N/ : | ) ) 3" TR DR | % S N A 2015-06-18 BID DOCUMENTS
| ) | I I & @ CAST STONE, SEE s ey DA Nl " A | AIR BARRIER, WRAP UP 1 2015-07-02 | ADDENDUM NO. 001
i 3 / TRUSS EEARING e P ,; ,,,,,, ; 777777 ; 777777 ; 77777 77 B - e LA iv P SCHEDULE ON A615 = \7; S —‘ J—\_/\ : : : i AND OVER PARAPET
| v n = LA “ . 2 |/ | |
| | d 55'- 6 3/4 | X / g BRICK VENEER RS )@ R M|| — STEELLINTEL ABV.
| “ COLD-FORMED METAL ! — ¢ CS-04 | ‘ﬂ:ﬁ | ; SCUPPER, EXTEND 8" B
| TRUSS FRAMING < —T— - N Pk BEYOND ON EACH SIDE.
| % CONT. SEALANT \ Wi I Al
| ™ | ! [ |
‘ : ALUM. COLLAR (TYP. : NE AL
| ) ) g | | TPO MEMBRANE ADHERED
! R-30 BATT INSULATION | 7 J AROUND SCUPPER) 1 L] A TO PLYWOOD, LAP OVER
| T T T T T T T T T oo oo o N [ l 11 ! N VAl SCUPPER FLANGE
1 / ) | | |
! - 1 1 | |
| | | SCUPPER FLANGE
| . seeil y .
1 / N : |
| / | | 2 |
| ) = LAP SEALANT
1 o) | | = |
[ 1 R | =
| | ~ NOTE: ALUM ALUM. SCUPPER FLANGE N N | ADDITIONAL TPO MEMBRANE TO
| | CONDUCTOR HEAD Al  TO LAP AROUND & INTO | EXTEND INTO SCUPPER & TO
; | ; ; ; ; f ; ; ; ; : 10 MATGH COLOR ALUM. COLLAR. SOLDER OVERLAP TPO MEMBRANE AT
| A A A N A A A A 9-338"AFF. [ OR SEAL (TYP. ALL ROOF WITH WELDED SEAL
TRUSS BEARING — N AN AN — /N - AN AN N I e e e s P T e T i OF DOWNsPOUTS. /| 20 SEr)
55'- 6 3/4 \%f L 35/8" 35/8" % LAP SEALANT & — TPO MEMBRANE ADHERED
| \ 5/8" GYPSUM WALL BOARD OVER 2-1/2" s A ALUM. CONDUCTOR 1/8"/ 12" GRAVEL STOP LAP SEALANT TO PROTECTION BOARD
METAL STUDS @ 16" O.C. o HEAD FLANGES AT 412"
A OPENING TO EXTEND e FWA PROJECT NO:  2420.02
| L 5/8" TYPE "X" GYPSUM WALL BOARD OVER 7/8" K INTO SCUPPER
STEEL BEAM, SEE . METAL HAT CHANNELS @ 16" O.C. A FLANGES - e e e SCO PROJECT NO: #12-10117-03A
STRUCTURAL ————~ 3 : ~  ~_ = PROTECTION BOARD
@ 1 1 T
———— 5/8" TYPE "X" GYPSUM | | 4" MIN. I R-30 TAPERED DRAWN BY: JLR
WALL BOARD OVER | S, : INSULATION :
g)SLIS\‘/‘I%TéL FURRING Yy ] } SCUPPER ELANGE APPROVED BY: GRL
.C. ™ © " : |
z ! © o? (l: 4 | — 1-1/2" METAL DECK THESE DRAWINGS AND THE PROJECT
5 T 7, 7, 9-6"AFFE. . : / OVER 6" COLD MANUAL ARE INSTRUMENTS OF SERVICE AND
® ‘ \\ @ M | B FORMED METAL REMAIN THE PROPERTY OF THE FWA GROUP
; K ) ) o | - FRAMING ARCHITECTS. UNAUTHORIZED DUPLICATION
= 5/8" GYPSUM WALL & , i \ OR REUSE WITHOUT WRITTEN CONSENT IS
BOARD OVER 2-1/2" K 3 S R PROHIBITED.
METAL STUDS @ 16" O.C. - ) L - - .
8 1/4" % — 7 | PR /{ ) L L 5 - ) o o — TBUSS BEAB'NG SHEET TITLE
g —— ACOUSTICAL CEILING . R e D — 3 55'- 6 3/4" A
| ) TILE SYSTEM o e T
© - MASONRY TIES .« s g ——— R-19 BATT EXTERIOR
| 1 — : s INSULATION
DI 8- 0" AF.F. A T e e e SELF-ADHERING MEMBRANE A B I T N | /8" TYPE "X DETAILS
AIR BARRIER. LAP OVER TOP 2" [ | GYPSUM WALL
E ; 4 TRACK & DOWN FLANGES OF LA o - S -
| — 5/8" TYPE "X" GYPSUM 6" COLD FORMED METAL S e B v T BOARD OVER 7/8
8- 0" AFF. ; WALL BOARD OVER 2-1/2" FRAMED BOX BEAM S e / METAL HAT
{; 1 METAL STUDS @ 16" O.C. N y CHANNELS
- 1/2-HR REQ'D, 1-HR LA - PERPENDICULAR TO
2'-5 PROVIDED FIRE SAFING RS —— ; ‘ ,\CA%RLFSSX"\ERG @
16" O.C.
PO WALL @ TPO ROOF & CRICKET PO ROOF WALL @ GUTTER SCUPPER & CONDUCTOR HEAD DETAIL SHEET NUMBER
SCALE: 3"=1'-0" SCALE: 3"=1'-0" SCALE: 3"=1'-0"

REFERENCED FROM: Al | A115-N REFERENCED FROM: A5 | A300 REFERENCED FROM: Al | A106-N A5 03




IDENTIFICATION DOOR INFORMATION FRAME INFORMATION HARDWARE IDENTIFICATION DOOR INFORMATION FRAME INFORMATION HARDWARE
DETAIL REFERENCE PANIC DETAIL REFERENCE PANIC
UNDER DOOR FRAME | FRAME FIRE RATING| HARDWARE | HARDWARE |  SIGN UNDER DOOR FRAME | FRAME FIRE RATING| HARDWARE | HARDWARE |  SIGN
NO. ROOM NAME WIDTH | HEIGHT | CUT | MATERIAL | FINISH TYPE | MATERIAL | FINISH | TYPE DEPTH HEAD JAMB THRESHOLD LABEL SET PROVIDED | TYPE COMMENTS NO. ROOM NAME WIDTH | HEIGHT | CUT | MATERIAL | FINISH TYPE | MATERIAL | FINISH | TYPE DEPTH HEAD JAMB THRESHOLD LABEL SET PROVIDED | TYPE COMMENTS ( i
BID ALTERNATE NO. 1 - DOORS o, 190 HC DIRECTOR 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E - rO U p
008A |STAIR NORTH 3-0" | 7-0" 1/2" HM PTD F HM PTD H1A 57/8" E1/A614* E1/A614* - 90 MIN 33.0 {_ NogJ/1 F *A7/A612 & **AB6/A612 @ BID ALT. #1 191 HC-ASST. DIRECTOR 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
033 ALTERNATE STORAGE | 6'-0" | 7'-0" 1/2" HM PTD (PR)F HM PTD H2A 10 1/4" D4/A614* A4IABL4** ok - 43.0 No A *D3/A614, *C3/A614, **A1/A614 @ BID ALT. 192 HC-PROF-B 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
#1 193 HC-PROF-B 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
033A |ALTERNATE STORAGE | 3'-0" | 7'-0" 1/2" HM PTD F HM PTD H1A 5 7/8" D1/A614* D1/A614** - - 33.0 No A [*E7/A612, **E6/A612 @ BID ALT. #1 194 HOTEL OFFEICE 3.0" | 7-0" 12" AL PTD SR-FG AL PTD S55 412" D7/A612 B3/A612 & B3/AI-500 - 116.0 NO A } | E%OAER?%EESUNLC%;{/?S%AROLINA 28203
COMMON SPACES B6/A612 704 | 3327004
014 1T 3-0" | 7-0" 1/2" HM PTD F HM PTD H1A 10 1/4" D3/A614 C3/A614 Al/A614 - 44.0 No A - 195 PRIVATE CONF. 3-0" | 7-0" 1/2" AL PTD SR-FG AL PTD S56 412" C6/A612 B3/A612 & E1/AI-500 - 115.0 No A - ,
014A |[IT. 3-0" | 7-0" 1/2" HM PTD F HM PTD H1A 57/8" E7/A612 E6/A612 - - 27.0 No A - B6/A612 [] ﬁ}ltt)omrggét?siﬁnessg ;;{;;8
016 |ELEV.CONTROLROOM| 6'-0" | 7'-0" 12" HM PTD (PR)F HM PTD H2A 57/8" E7/A612 E6/A612 - 1HR 38.1 No A |SELF-CLOSING WITH COORDINATOR 196 |PRIVATE CONF. 3-0" | 7-0 12 AL PTD SR-FG AL PTD S57 41/2" C6/A612 B3/A612 & E1/AI-500 - 115.0 No A - 843 | 7852199
032  |MECH. 6-0" | 7-0" | 12" HM PTD (PR) F HM PTD H2A 57/8" A7IAG14 AGIAGL4 - 90 MIN 38.0 No A - B6/A612 E
032A | MECH. 3-0" | 7-0" | 12 HM PTD F HM PTD H1A 10 1/4" D3/A614 C3/A614 AL/A614 - 44.0 No A - 212 |IT. 3-0" | 7-0" | 1z HM PTD F HM PTD H1 11 172" ES/A612 E3/A612 - 90 MIN 119.0 No A -
032B | MECH. 6-0" | 7-0" | 1/2" HM PTD (PR) F HM PTD H2A 10 1/4" D3/A614 C3/A614 AL/A614 - 420 No A |- 275 |MEN 3-0" | 7-0" | 34 SCwv STN F HM PTD H1 57/8" E2/A612 E1/A612 B1/AI-500 - 114.0 No b I
034 CORRIDOR s 0 | 7.0 12 Y PTD (PR)F Y 5TD oA 10 Ua" D3/AG14 AGIAGLA & ALAGLA - 410 No - - 276 ELECTRICAL 3-0" | 7-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 - 119.0 No A -
C3/A614 277 MECH. 4-0" | 7-0 1/2" HM PTD F HM PTD H1 111/2" E5/A612 E3/A612 A1/AI-500 - 117.0 No A -
035 ATS ROOM 6'-0" 7'-0" 1/2" HM PTD (PR)F HM PTD H2A 5 7/8" E7/A612 E6/A612 - 90 MIN 37.0 No A - 278 WOMEN 3-0" 7-0" 3/4" SCwv STN F HM PTD H1 57/8" E2/A612 E1/A612 B1/AI-500 - 120.0 No B -
036 ELECTRICAL 6'-0" 7-0" 3/4" HM PTD (PR)F HM PTD H2A 5 7/8" E7/A612 E6/A612 - 45 MIN 39.0 Yes A - 279 JAN. 3-0 -0 3/4" HM STN F HM PTD H1 1'-25/8" E5/A612 E3/A612 Al/AI-500 - 119.0 No A -
037 STORAGE 3-0" 7'-0" 1/2" HM PTD F HM PTD H1A 5 7/8" E7/A612 AB/AG12 & - - 31.0 No A - 281 LS-ADMIN 3-0" 7-0" 1/2" SCwv STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
E6/A612 282 LS-PROF-B 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
038 TRASH ROOM 9-4" | g-8" 3/4" AL ANO OH AL ANO MFR 9 1/8" D6/A614 C4/A614 C6/A614 - 48.0 No A - 283 LS-ASST. DIRECTOR 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
038A |TRASH ROOM 3-6" | 7-0" 3/4" HM PTD F HM PTD H1A 57/8" E7/A612 E6/A612 - 45 MIN 35.0 No A - 284 LS-PROF-B 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
040 HOUSE KEEPING 3-0" | 7-2" 1/2" HM PTD F HM PTD H1A 57/8" E7/A612 E6/A612 - - 32.0 No A - 285 LS-DIRECTOR 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
042 FIRE PUMPS 6-0" | 7-0" 1/2" HM PTD (PR) F HM PTD H2A 57/8" A3/A614 C1/A614 A1/A614 - 43.0 No A - 286 LS-PROF-B 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
044A |ELEV. CONTROLROOM| 6'-0" | 7'-0" 1/2" HM PTD (PR)F HM PTD H2A 5 7/8" E7/A612 E6/A612 - 1HR 38.1 No A SELF-CLOSING WITH COORDINATOR 287 LS-PROF-A 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
046 EQUIP. 3-6" | 7-0" 1/2" HM PTD F HM PTD H1A 57/8" E7/A612 ABIAB12 & - - 36.0 No A - 288 LS-ADMIN 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E -
E6/A612 289 LS-FILES 3-0" | 7-0" 1/2" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 109.0 No A -
113 LOUNGE 6'-0" 8 -0" 1/2" AL PTD SR-FG AL PTD S51 4 1/2" D3/A612 C3/A613 A3/A613 - 46.0 Yes - ADA PUSH BUTTON 290 LS-STORAGE 3-0" 7' -0" 1/2" SCWV STN E HM PTD H1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 118.0 No A -
113A FCU CLOSET 3'-6" 7 -0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/Al-500 - 9.0 No A - 201 HC-PROF-A 3-0" 7'-0" 1/2" SCWV STN E-VP-H HM PTD Hi1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E R
113B FCU CLOSET 3'-6" 7 -0" 1/2" SCPG PTD F HM PTD H1 57/8" E2/A612 E1/A612 A1/Al-500 - 9.0 No A - 292 HC-PROF-A 3-0" 7'-0" 1/2" SCWV STN E-VP-H HM PTD H1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E R
113C_|STORAGE 3-6" | 7-0" | 12 SCPG PTD F HM PTD H1 57/8" E2/A612 E1/A612 AL/AI-500 - 34.0 No AL VNN NN 293 |HC-PROF-A 3-0" | 7-0" | 12 scwyv STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E |-
113D LOUNGE 6'-0" 7' -0" 1/2" ST PTD SR-FG ACST ANO H9 41/8" B2F/A612 B2F/A612 E1/Al-500 20 MIN *2 w Yes A {ADA PUSH BUTTON; SEE DOOR SCHEDULE 1 206 CONFERENCE 3-0" 7'-0" 1/2" AL PTD SR-FG AL PTD S60 41/2" C5/A612 C3/A612 E1/AI-500 - 111.0 No A R
1 NOTES FOR*2NOTE A A 297  |STUDY 3-0" | 77-0" 1/2" AL PTD SR-FG AL PTD S59 41/2" B5/A612 B3/A612 E1/AI-500 - 113.0 No A |-
114 IT. 3-0" | 7-0" 1/2" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 17.0 No A ST AAAST RESIDENTIAL SUITES (REFER TO ENLARGED UNIT PLANS) FOR CONSTRUCTION
115 |JAN. 3-0" | 7-0" | 34 HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 21.0 No A I A SUITE ENTRY 3-0" | 7-0" | 34 SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 E1/AI-500 20 MIN 1.0 No | -
137 |ELECTRICAL -0 | 7-0" | 34 HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 16.0 No A |- AlS  |SUITE ENTRY 3-0" | 7-0" | 34 SCWV STN F HM PTD H1 8 3/8" E2/A612 E1/A612 E1/AI-500 20 MIN 2.0 No J | ADA OPERATING DEVICE
138 |TRASH 3-0" | 7-0" | 34 SCPG PTD F HM PTD H1 8 7/8" E2/A612 E1/A612 B1/AI-500 45 MIN 20.0 No A |- A2 SUITE ENTRY 3-0" | 7-0" | 34 SCWV STN F HM PTD H1 5 7/g" E2/A612 E1/A612 E1/AI-500 20 MIN 1.0 No | -
139  |RR 3-0" | 7-0" | 34 SCwv STN F HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 20 MIN 14.0 No b A3 SUITE ENTRY 3-0" | 7-0" | 34 SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 E1/AI-500 20 MIN 1.0 No J -
140 |LOUNGE 3-0" | 7T-0" | 12 ST PTD SR-FG ACST PTD H5 418" B2F/A612 Béf(:?:éfz& E1/AI-500 20 MIN *2 11.0 No A |SEE DOOR SCHEDULE NOTES FOR *2 NOTE A3S  |SUITE ENTRY 3-0" | 7-0" | 34 SCWV STN F HM PTD H1 8 3/8" E2/A612 E1/A612 E1/AI-500 20 MIN 1.0 No J | ADDITIONAL FRAME DEPTH @ SHEAR WALL
140A |LOUNGE 3-0" | 7-0" 1/2" ST PTD SR-FG ACST PTD H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE AS SUITE ENTRY §-00 | 70 34 SCWV STN F HM PTD H1 8 378" E2/A612 E1/A612 E1/AI-500 20 MIN 1.0 No ! ADDITIONAL FRAME DEPTH @ SHEAR WALL
E1F/AGL2 ' B BEDROOM 3-0" | 7-0" 1/2" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 E1/AI-500 - 3.0 No L -
142 |LAUNDRY 3-0" | 7-0" | 34" ST PTD SR-FG ACST PTD H6 418" B2F/A612 | B2F/A612& | DIAI500 | 20 MIN *2 19.0 No A | SEE DOOR SCHEDULE NOTES FOR *2 NOTE Bl  |BEDROOM §-0" | 7-0" | V& SCWV STN F HM PTD H1 8 14" E2/A612 E1/A612 E1/AI-500 - 4.0 No L |ADA OPERATING DEVICE
E1E/A612 B2 BEDROOM 3-0" | 7-0" 1/2" SCWV STN F HM PTD H1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 3.0 No L -
150  |CORRIDOR 3-4" | 7-0" 1/2" S PTD SR-DG ACST | PID H6B 41/8" D5/A612. B2F/AB12. B3/AI-500 45 MIN *3 29.0 No A |SEE DOOR SCHEDULE NOTES FOR *3 NOTE C CLOSET 2-8" | 7-0 12 HCPG PTD SR-6P WD PTD wi 6 3/8" D2/A612 D1/A612 E1/AI-500 - 6.0 No - - D
151 OPEN OFFICE 3 -0" 7' -0" 1/2" C/él\_/w ANO 1\ SR-FG %}V ANO HG6A %ﬂ YcelAB12 | Bs/AslifD E1/AI-500 - 250 No A - C1 CLOSET 5-0" 7-0" 1/2" HCPG PTD (PR)SR-6P WD PTD W2 6 3/8" D2/A612 D1/A612 E1/AI-500 - 7.0 No - -
AN JIN w/ /1% D AAA L BEIAGI2 c2 CLOSET 5-0" | 7°-0" 1/2" HCPG PTD | (PR)SR-6P WD PTD W2 8 3/4" D2/A612 D1/A612 E1/AI-500 - 7.0 No - -
153 MAIL ROOM 3-0" | 7-0" 1/2" SCPG PTD F HM PTD H1 57/8" E2/A612 E1/A612 AL/AI-500 - 28.0 No A - c3 CLOSET 2'-6" | 7°-0" 1/2" HCPG PTD SR-6P WD PTD w1 6 3/8" D2/A612 D1/A612 E1/AI-500 - 6.0 No - -
154 WOMEN 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 C3/AI-500 - 14.0 No B - ca CLOSET 2'-6" | 7°-0" 1/2" HCPG PTD SR-6P WD PTD w1 8 3/4" D2/A612 D1/A612 - - 6.0 No - -
155 STORAGE 3-0" | 7-0" 1/2" SCPG PTD F HM PTD H1 57/8" E2/A612 E1/A612 AL/AI-500 - 28.0 No A - D RESTROOM 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 - - 5.0 No - -
156 MEN 3-0" | 7-0" 3/4" scwy 'STN F HM. PTD H1 57/8" E2/A612_ ELA612 C3/AI-500 - 15.0 No C - D1 RESTROOM 3-0" | 7-0° 3/4" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 C1/AI-500 - 5.0 No - -
157 OFFICE 3-0" 7-0" 1/2" %w 1\ SR-FG CétﬂvWANo H4 C{}(z/";jw B5/A612 | "B3/A612 ij E1/AI-500 - 24.0 No E - DIA |RESTROOM 3-0" 7-0" 3/4" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 C1/AI-500 - 5.0 No - DOOR TO HAVE TOWEL BAR INSTALLED ON
VAL SN M‘/ /N LA AA L B5IABL2 BOTH SIDES
158 IT. 3-0" | 7-0" 1/2" SCP PTD F HVM. | PID H1 57/8" E2/A612 EUAG12 A3/AI-500 - 27.0 No A - D2 RESTROOM 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 C1/AI-500 - 5.0 No - -
159 OFFICE 3-0" 7-0" 1/2" C»A«Lf«fw ANO SR-FG Cétf/\/w ANO H4 41/2" 7 'B5/A612 | "B3/A612 & E1/Al-500 - 24.0 No E - D2A  |RESTROOM 3.0 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 C1/AI-500 - 5.0 No - DOOR TO HAVE TOWEL BAR INSTALLED ON
bgjflf SN M‘/ 717%% MBS/AA612/7 DRESSING AREA SIDE
160 MECH. 3-0" | 7-0" 1/2" HM PTD F HM PTD H1 57/8" E2/A612 E1/A612 A3/AI-500 - 26.0 No A - D3 RESTROOM 3-0" | 7-0° 3/4" SCWV STN F HM PTD H1 5 7/8" E2/A612 E1/A612 D1/AI-500 - 5.0 No - -
164 LOUNGE 3-0" | 7-0" 1/2" AL PTD SR-FG AL PTD S50 41/2" D6/A612 E1/A613 E3/A613 - 45.0 Yes A - D4 RESTROOM 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 - 5.0 No - -
167 VESTIBULE 6-0" | 7-0" 1/2" AL PTD SR-FG AL PTD S52 412" D6/A612 D5/A613 E3/A613 - 46.0 Yes A ADA PUSH BUTTON D5 RESTROOM 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 B1/AI-500 - 5.0 No - -
167A |VESTIBULE 6-0" | 7-0" 1/2" AL ¢ ANO | /1\SR-FG AL /1\(ANO }| 53 412" D7/A612 B3/A612 - - 47.0 Yes A |ADA PUSH BUTTON D6 RESTROOM 3-0" | 7-0" 3/4" scwv STN F HM PTD H1 57/8" E2/A612 E1/A612 - - 5.0 No - DOOR TO HAVE TOWEL BAR INSTALLED ON
213 LOUNGE 3-0" 7'-0" 1/2" ST PTD SR-FG ACST ANO H8 41/8" B2F/A612 B2F/A612 E1/AI-500 20 MIN *2 12.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE DRESSING AREA SIDE CO N STR U CT I O N
213A FCU CLOSET 3-6" 7'-0" 1/2" SCPG PTD E HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 _ 9.0 No A - F FCU CLOSET 3'-6" 7' -0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/Al-500 20 MIN 9.0 No A -
214 I.T. 3. 0" 7' - 0" 1/2" HM PTD E HM PTD H1 8 1/4" E2/A612 E1L/A612 A1/AI-500 20 MIN 17.0 No A _ FS FCU CLOSET 3'-6" 7 -0" 1/2" SCPG PTD F HM PTD H1 8 3/8" E2/A612 E1/A612 A1/Al-500 20 MIN 9.0 No A ADDITIONAL FRAME DEPTH @ SHEAR WALL DOC U I\/I E NTS
215 JAN. 3-0" 7'-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 21.0 No A - G LAUNDRY 5-0" 7-0" 3/4" HCPG PTD | (PR)SR-6P WD PTD W2 6 3/8" D2/A612 D1/A612 - 8.0 No - -
237 ELECTRICAL 3-0" 7'-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 16.0 No A - Gl LAUNDRY 5'-0" 7-0" 3/4" HCPG PTD | (PR)SR-6P WD PTD W2 8 3/4" D2/A612 D1/A612 D1/AI-500 - 8.0 No - -
238 TRASH 3-0" 7'-0" 3/4" SCPG PTD F HM PTD H1 8 7/8" E2/A612 E1/A612 B1/Al-500 45 MIN 20.0 No A - VERTICAL CIRCULATION SPACES
239 RR 3-0" 7'-0" 3/4" sSCWV STN E HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 20 MIN 14.0 No D _ 008 STAIR NORTH 3'-0" 7 -0" 1/2" HM PTD F HM PTD H1 57/8" C7/A612 B7/A612 - 90 MIN 30.0 Yes F, G, &N |-
240 LOUNGE 3-0" 7-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE 008B  |STAIR NORTH 3-0" 7-0 172 HM PTD F HM PTD H1A 8 1/4" A3/A614 Cl/A614 Al/A614 - 40.0 Yes F,G, &N |-
E1F/A612 041 STAIR CENTRAL 3-0" | 7-0" 1/2" HM PTD F HM PTD H1A 5 7/8" E7/A612 E6/A612 - 90 MIN 30.0 Yes F,G,&N |-
240A |LOUNGE 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE 106 STAIR NORTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N [*D1/AI-500 @ BID ALTERNATE #4
E1F/A612 141 STAIR CENTRAL 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |[*D1/AI-500 @ BID ALTERNATE #4
242 LAUNDRY 3'-0" 7 -0" 3/4" ST PTD SR-FG ACST ANO H6 41/8" B2F/A612 B2F/A612 & D1/Al-500 20 MIN *2 19.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE 141A STAIR CENTRAL 3-0" 7' -0" 1/2" HMIC PTD F HM PTD H1A 8 1/4" D1/A613 C1/A613 A1/A613 45 MIN 40.0 Yes F,G, &N |-
E1F/A612 180 STAIR SOUTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 1'-31/4" C5/A612 C3/A612 A1/AI-500* 90 MIN 107.0 Yes F, G, & N [*D1/AI-500 @ BID ALTERNATE #4
257 STUDY 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H3 41/8" E2F/A612 | B2F/A612 & E1/AI-500 45 MIN *3 10.0 No A SEE DOOR SCHEDULE NOTES FOR *3 NOTE 180A  |STAIR SOUTH 3.0 | 7.0 172" aM PTD F Y PTD H1A 10 14" D3/AB14 Ca/AG14 A7IAG13 - 105.0 Yes F.G &N |-
— — . . E1F/A612 206 STAIR NORTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |*D1/AI-500 @ BID ALTERNATE #4
313 LOUNGE 3. - o" 7. - o" 1/2" ST PTD SR-FG ACST ANO H8 4 1/8" B2F/A612 B2F/A612 E1/AI-500 20 MIN *2 12.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE al STAIR CENTRAL s 0 | 7o 1o Y 51D EVPN Y 5TD 1 9 1/0" CoIABL2 CLABL2 ALIAILE00" 90 MIN 230 Vos F G &N "DLAN500 @ BID ALTERNATE #4
313A |FCUCLOSET 3. - 6" 7. - 0" v 2" SCPG PTD F HM PTD H1 8 1/4“ E2/A612 E1/A612 AL/AI-500 - 9.0 No A - 280 STAIR SOUTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 1'-31/4" C5/A612 C3/A612 A1/AI-500* 90 MIN 107.0 Yes F, G, & N |*D1/AI-500 @ BID ALTERNATE #4
314 .T. 3. - 0" 7. . 0" v 2" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 17.0 No A - 306 STAIR NORTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |*D1/AI-500 @ BID ALTERNATE #4 C
315 JAN. 3. . 0" 7. - 0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 21.0 No A . 341 STAIR CENTRAL 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |[*D1/AI-500 @ BID ALTERNATE #4
337 ELECTRICAL 3. . 0" 7. - 0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 16.0 No A - 380 STAIR SOUTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |*D1/AI-500 @ BID ALTERNATE #4
338 TRASH 3. . 0" 7. . 0" 3/ . SCPG PTD F HM PTD H1 87 8" E2/A612 E1/A612 BI/AI-500 45 MIN 20.0 No A . 406 STAIR NORTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |*D1/AI-500 @ BID ALTERNATE #4
R - ST eSS MM Sue oM EwR s MMM M0N0 orscrENENOEIORNoE 0 SARCONL | o 7o | ur P PN MM | po | | e coles  cuw: | A | moWN @m0 ve RN oimng soaremes
E1FIAGLD : 480 STAIR SOUTH 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |[*D1/AI-500 @ BID ALTERNATE #4 ’
340A |LOUNGE 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE 506 STAIR NORTH g-0" | 7-0 172° HM PTD F-VP-N HM PTD H1 91/ C2/A612 CL/A612 AL/AI-500* 90 MIN 23.0 Yes F. G, &N |"DI/AI-500 @ BID ALTERNATE #4
E1F/AB12 541 STAIR CENTRAL 3-0" | 7-0" 1/2" HM PTD F-VP-N HM PTD H1 9 1/2" C2/A612 C1/A612 A1/AI-500* 90 MIN 23.0 Yes F, G, & N |*D1/AI-500 @ BID ALTERNATE #4
342 |LAUNDRY 3-0" | 7-0" | 34 ST PTD SR-FG ACST ANO H6 41/8" B2F/A612 | B2F/A612& | DI/AI-500 | 20 MIN*2 19.0 No A |SEE DOOR SCHEDULE NOTES FOR *2 NOTE °80  |STAIR SOUTH 3-0° | 7-0" | 12 HM PTD F-VP-N HM PTD H1 91z C2/A612 Cl/AB12 AL/AI-500* 90 MIN 230 Yes F. G, &N |"D1/AI-500 @ BID ALTERNATE #4 A\ / Y 4
E1F/A612 ECO |ELEV.CENTRAL 3-6" | 7-0" 1/2" Ss - SL Ss - E1l 9" B3/A711 A3/A711 Al/A711 2 HR 49.0 No M SMOKE CONTROL CURTAIN
361 LT, 3.0° | 7-00 | 12 HM PTD F AM PTD H1 8 14" E2/AGL2 E1/A612 AL/AI-500 20 MIN 18.0 No A - EC15 |ELEV. CENTRAL 3-6" | 7-0" | 12" ss - SL SS - E1 91/2" B1/A711 D3/A711 | A4 & DI/A71L 2 HR 49.0 No M |SMOKE CONTROL CURTAIN (] \|C CHAR_[OITE
362 STORAGE 3-0" | 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 22.0 NO A - EN1-5 |ELEV.NORTH 3-6" | 7-0" 1/2" Ss - SL Ss - E1l 9 1/2" B6/A711 D3/A711 | A6 & D6/A711 2 HR 49.0 No M SMOKE CONTROL CURTAIN
363 STUDY 3-0" 7-0" 1/2" ST PTD SR-FG ACST ANO H6C 41/8" B2F/A612 B2F/A612 & E1/AI-500 20 MIN *2 10.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE ES1-2 |ELEV. SOUTH 3'-6" 7-0" 12" SS - SL SS - El D2/A712 C4/A712 A6 & B6/AT12 60 MIN 49.0 No M - R E S| D EN CE H ALL
E1F/A612
365 STORAGE 3-0 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 22.0 No A - P H AS E X|V
413 LOUNGE 3-0 7-0" 1/2" ST PTD SR-FG ACST ANO H8 41/8" B2F/A612 B2F/A612 E1/AI-500 20 MIN *2 12.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE
413A |FCU CLOSET 3-6 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 - 9.0 No A -
414 |IT. 3-0 7-0" | 12" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 17.0 No A |- UNIVERSITY OF NORTH
415 JAN. 3-0 7'-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 21.0 No A - CAROLINA AT CHARLOTTE
437 ELECTRICAL 3-0 7'-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 16.0 No A -
438 TRASH 3-0 7'-0" 3/4" SCPG PTD F HM PTD H1 87/8" E2/A612 E1/A612 B1/AI-500 45 MIN 20.0 No A -
439 RR 3-0 7'-0" 3/4" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 20 MIN 14.0 No D -
440 LOUNGE 3-0 7'-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE 9201 UNIVERSITY CITY BLVD.
E1F/AG12 CHARLOTTE, NC 28223
440A |LOUNGE 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 BélFé?Aséfz& E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE SATE
442 LAUNDRY 3-0" | 7-0 3/4" ST PTD SR-FG ACST ANO H6 41/8" B2F/A612 BélFer%fz& D1/AI-500 20 MIN *2 19.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE SCH. WIDTH SCH. WIDTH SCH. WIDTH SCH. WIDTH SCH. WIDTH MARK (Y;(\)(lYA:—'\fCI\)/-I-Z%D) PR?;EZR;ZESEGE
461 |IT. 3-0" | 7-0" | 12 HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 18.0 No A - SCH. WIDTH 6" 6" 3" gr & 4 6" 6" 6" 6" 6" 2015-01-15 SCSG%‘KAVI’\TE?LCD
462 STORAGE 3-0" | 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 22.0 No A -
463 STUDY 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H6C 41/8" B2F/A612 BEleéﬁséfZ& E1/AI-500 20 MIN *2 10.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE il il J il il N il J il J 2015-04-03 chd(é\,(ﬂvﬁﬁil_w
. = . .
465 RR 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 20 MIN 15.0 No D - y; i,L - = o ® J; i B ;gig:gg:i: ;'m; SSSM'ETJTASL
513 LOUNGE 3-0" | 7-0 1/2" ST PTD SR-FG ACST ANO H8 41/8" B2F/A612 B2F/A612 E1/AI-500 20 MIN *2 12.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE y, Yy, S . y 1 0150702 | ADDENDUM NO._ 001
513A |FCU CLOSET 3-6" | 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 - 9.0 No A - y, Yy, Yy, - y, { Yy, Yy,
514 IT. 3-0" | 7-0" 1/2" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 17.0 No A - y, y, y, B Y, e Y, Yy,
515 JAN. 3-0" | 7-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 21.0 No A - = P = = P N = = =
537 ELECTRICAL 3-0" | 7-0" 3/4" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 16.0 No A - O 0} G2T o O o G2FT-45 O
538 | TRASH 3-0" | 7-0" | 34" SCWV STN F HM PTD H1 8 7/8" E2/A612 E1/A612 B1/AI-500 45 MIN 20.0 No A |- L L L = L L - L
539 RR 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 20 MIN 14.0 No D - T T T T T © T
540 LOUNGE 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE 7 N 7 h 5 ? h 5 ? Q ? 5 ? .
E1F/A612 N\ N\ < N\ < N\ o i N\ z 2 N\ z
540A |LOUNGE 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H5 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 11.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE AN N\ < N\ = N . N\ = Z_ N\ =
E1F/A612 N N R N R N G2FT-45 S G2FT-20* =
542 LAUNDRY 3-0" | 7-0" 3/4" ST PTD SR-FG ACST ANO H6 41/8" B2F/A612 | B2F/A612 & D1/AI-500 20 MIN *2 19.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE N N @ N @ L@ \
E1F/A612
561 1T 3-0" | 7-0" 1/2" HM PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 18.0 No A - f
562 STORAGE 3-0" | 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 AL/AI-500 20 MIN 22.0 No A - z
563 STUDY 3-0" | 7-0" 1/2" ST PTD SR-FG ACST ANO H6C 41/8" B2F/A612 | B2F/A612 & E1/AI-500 20 MIN *2 10.0 No A SEE DOOR SCHEDULE NOTES FOR *2 NOTE F F'VP' H F'VP' N S R'6 P B S R' DG S R'FG
E1F/A612 *LIMITED TO 100 SQ. IN. = *G2FT-45 @ DOOR #257
565 STORAGE 3-0" | 7-0" 1/2" SCPG PTD F HM PTD H1 8 1/4" E2/A612 E1/A612 A1/AI-500 20 MIN 22.0 No A -
HONORS / LEVINE SPACES SCH. WIDTH SCH. WIDTH FWA PROJECT NO:  2420.02
170 VESTIBULE 6-0" | 7-0" 1/2" AL PTD SR-FG AL PTD S51 41/2" D6/A612 D5/A613 E3/A613 - 101.0 Yes A ADA PUSH BUTTON SCO PROJECT NO:  #12-10117-03A
170A |VESTIBULE 6-0" | 7-0" | 12 AL/ _ANO} | SR-FG AL/ ANO )| s53 412" D7/A612 B3/A612 - - 102.0 Yes A |ADAPUSH BUTTON TERMS & ABBREVIATIONS: DOOR SCHEDULE NOTES:
172 1T 3-0 7'-0" 12 | HM 5 PTD F C HM S PTD H1A 10 1/4" D3/A614 C3/A614 A7/A613 - 106.0 No A - : :
175 MEN 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 B1/AI-500 - 114.0 No C - DRAWN BY- JLR
176 GENDER NEUTRAL 3-0" | 7-0" 3/4" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 B1/AI-500 - 114.0 No D1 |- ACST ALUMINUM CLAD STEEL *1 DOOR TO BE LABELED "D-XX" WHERE "XX" IS THE RATING
177 |GUEST SUITE 3-0" | 7-0" | 34" | scwv STN F HM PTD H1 111/2" E5/A612 E3/A612 EL/AI-500 20 MIN 109.0 No b - A ALUMINUM REQUIRED IN MINUTES. SEE THE DOOR SCHEDULE FOR APPROVEDBY: ~ GRL
177A  |GUEST SUITE 3-0 7-0 3/4 AL PTD F AL PTD H1A 81/4 D1A/A613 03’7’?2;33& A7/A613 45 MIN 104.0 No J - A FLUSH OTHERWISE NOTED IN THE DOOR SCHEDULE. THESE DRAWINGS AND THE PROJECT
o - ‘ E-VP-H FLUSH VISION PANEL HALF-LITE MANUAL ARE INSTRUMENTS OF SERVICE AND
177B  |GUEST SUITE CLOSET | 2'-8" | 7'-0" 1/2" HCPG PTD SR-6P WD PTD w1 6 3/8" (D2/A612 7| DLA612 E1/AI-500 H)/1\ - 112.0 No - - — — FVP-N FLUSH VISION PANEL NARROW-LITE *0 DOOR TO BE LABELED "D-20": FRAME TO BE LABELED "OH-20" REMAIN THE PROPERTY OF THE FWA GROUP
177C  |RESTROOM 3-0" | 7-0" | 34" SCWV STN F HM PTD H1 8 1/4" E2/A612 E1/A612 B1/AI-500 - 114.0 No - - 5 5 HCPG HOLLOW CORE PAINT GRADE OR "W-30", SEE DESIGNATIONS BELOW. AR e ITHORIZED D cATION
178 WOMEN A B el Shd SeWv ST - AM PTD s 81 E2/A612 EL/AGLZ BUAL500 - 1200 No 5 - T T  — E%c :8&8% mgﬁt INSULATED CORE *3 DOOR TO BE LABELED "D-45": FRAME TO BE LABELED "OH-45" PROHIBITED.
179 HC-FILES 3-0" | 7-0" 1/2" SCWV STN F HM PTD H1 1'-25/8" E5/A612 E3/A612 E1/AI-500 - 109.0 No A - - - on OVERHEAD COILING CEE DESIGNATIONS BELOW. -
181 HC-PROF-B 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No A - 3] 2 PR PAIR ' SHEET TITLE
182 KITCHENETTE 6'-0" 7'-0" 1/2" SCPG PTD (PR)F HM PTD H2 57/8" E2/A612 E1/A612 E1/AI-500 - 121.0 No A - PTD PAINTED D-XX MEETS FIRE DOOR CRITERIA PER NFPA 252 OR UL10C A
183 LS-SEMINAR 3-0" | 7-0" 1/2" SCWV STN SR-FG HM PTD H1 57/8" E2/A612 E3/A612 & E1/AI-500 - 108.0 Yes T NO CLOSER SCPG SOLID CORE PAINT GRADE WITHOUT THE HOSE STREAM TEST, "XX" IS THE RATING
C3/A606 SCWV SOLID CORE WOOD VENEER REQUIRED IN MINUTES. DOOR SCH EDU LE
183A |LS-SEMINAR 3-0" | 7-0 1/2" HM PTD F HM PTD H1A 10 1/4" D3/A614 C3/A614 A7/A613 - 105.0 Yes A - g:i P %‘IE'ENSND RALL 6 PANEL OHXX MEETS FIRE WINDOW ASSEMBLY CRITERIA INCLUDING THE
184 HC-SEMINAR 3-0" | 7-0" 1/2" SCWV STN SR-FG HM PTD H1 57/8" E2/A612 Eg/ﬁgéée& E1/AI-500 - 108.0 No T NO CLOSER SR.DG STILE AND RAIL DOUBLE GLASS HOSE STREAM TEST PER NFPA 257 OR UL9. "XX" 1S THE & TYP ES
SR-FG STILE AND RAIL FULL GLASS RATING REQUIRED IN MINUTES.
185 AV-CLOSET 6-0" | 7-0" 1/2" SCPG PTD (PR)F HM PTD H2 57/8" E2/A612 E1/A612 E1/AI-500 - 122.0 No A - SS STAINLESS STEEL
186 WORK SPACE 3-0" | 7-0" 1/2" SCWV STN F HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 110.0 No A - O H SL ST STEEL w MEETS WALL ASSEMBLY CRITERIA PER ASTM E 119 OR UL 263.
186A |WORK SPACE 3-0" 7'-0" /2" SCWV STN F HM PTD H1 1'-11/2" E5/A612 E3/A612 E1/Al-500 - 109.0 No A - STN STAIN
188 |HC-PROF-B 3-0" | 7-0" | 1/2" SCWV STN F-VP-H HM PTD H1 5 7/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E |- T TEMPERED GLAZING: ﬁ\]EFEngAAAZT%GNTYPES ON A620 FOR GLAZING DESIGNATION AND
189 HC-ADMIN.-A 3-0" | 7-0" 1/2" SCWV STN F-VP-H HM PTD H1 57/8" E2/A612 E1/A612 E1/AI-500 - 116.0 No E - '
D O O R TY F) E S SIGN TYPES: SEE Al-600 & Al-601 FOR SIGN TYPES & SCHEDULE.
SHEET NUMBER
SCALE: 3/8" =1'-0"




1 2 3 4 S 6 /

STOREFRONT

3- 4'@.@ 1 2" SCHED. WIDTH 2"
2" SCHED. WIDTH  |-2" EQ. 2" EQ.
< E‘HL Iy < gm\j 3 @ DOOR 8 - 45/8" 7'-03/4" 14'- 10 3/4"
< < < 4 - on
- /2 < - S 167&170 S 113 ro u
i\ @ i Le, | < 1\ 8 3/4" SCHED. WIDTH 1-778" 41/2"- EQ. 2" EQ. 2" 2" EQ. " EQ. 41/2" 4'-33/8" 2" SCHED. WIDTH —4.1/2" FRAME TYPE NOTES:
=N on | 1'-10" on 1'-10" | on ~ ~
L o o o~
4 2" |4 314" 2" © | 1'-13/8" 412" © %
N / < < e
: g } 3 } ) 2 ., < } 1. ALL DIMENSIONS ARE TO NOMINAL FRAME ROUGH a D T B AR ROLINA 28203
i & < a & N a) s © OPENING AND EDGE OF INTERMEDIATE MULLIONS. '
% ' g Q N N \ & N & a o 704 | 332-7004
| ¢ — © pvy -
. N N g } N 8 o — § ] ) gﬂ’ ) g:'r’ g"} 2. FRAME MANUFACTURER TO FIELD VERIFY AND || #10 Palmetto Business Park
% 3 1 61 o - N ’ > > N S N < 3 COORDINATE ACTUAL DIMENSIONS PRIOR TO Hilton Head Island, SC 29928
3 } = © 3 N I Q izl ot G2T o Gt G2T S el G21 a G2T R FABRICATION AND INSTALLATION. 843 | 785-2199
' - —l
_ - Gl % = 8 ar GaT G % % 3. CONTRACTOR TO COORDINATE ALL E
« ) MISCELLANEOUS FRAMING AND COMPONENTS
N THAT ARE REQUIRED FOR PROPER FRAME
/1\ /1\ INSTALLATION BUT NOT PROVIDED BY FRAME
MANUFACTURER.
I
~ — i —— SIM. BUT WITH — SIM. BUT WITH GLASS B6/A612
o | o _- D6A/A612 S— GLASS ON TOP D6RIABL2 ON TOP & BOTTOM OF 4. SEE GLAZING TYPES ON A620 FOR GLAZING
S = *1 3 \ 4 INTERSECTION 4-1/2" X & BOTTOM OF v DETAIL B3/AGL2 V DESIGNATIONS AND INFORMATION.
: : . 1y \ 4 DETAIL
° E1/A613 ° C3/A613 @ DOOR 113 - : g 5142 MULLION WITH B3/AGLy ] DEA/AGLY ) D6A/AG12 A 4 5. SEE DOOR SCHEDULE & DOOR SCHEDULE NOTES
5| E A 4 5| E A 4 S e ~ v ~ v N = ON A610 FOR FIRE RATED FRAME LABEL
) \ 4 i . REQUIREMENTS.
Q Q © ) _ [5e) _ [5e) _ o " V]
m /1 m D5/A613 @ DOORS 167 & 170 m 5 5 5 PROVIDE 4-1/2" x 4- O
= T T 3 = = 1/2" INTERSECTING T ALL EXTERIOR ALUMINUM FRAMES ARE TO HAVE
= = N 4 ., ot ot = o o ° MULLION WITH a PAINTED FINISH TO MATCH EXTERIOR WINDOWS.
L L L L
i m \ I STOREFRONT W ALL INTERIOR ALUMINUM FRAMES ARE TO BE
= T z SYSTEM S53 3 ANNODIZED FINISH.
)] (%)) (%)) (%)
=
&
A G2T G2T N N G2T G2T kN GaT G2T G2T
6'-4"(M.0) FOR CONSTRUCTION

N [
N

850 EXTERIOR FRAME 851 EXTERIOR FRAME 852 853 854 855

9'- 8 3/4" 4'-10 3/4" 4-31/2" 13'- 10" 14' - 11"
" 2 ! AT o " 3-111/2" Lo .
412 SCHED. WIDTH 2 EQ. 2 EQ. 2 2| 1'-21/4 SCHED. WIDTH 4 1/2 o] EO. o Eo. o EO. > SCHED.WIDTH 2"  2'-47/8" = D
N ST N 2" EQ. 2" EQ. 2" SCHED.WIDTH 2" EQ. 2" EQ. 2"
—
: 12
é z RN g § N o ~ ~ N
N a o N \ a N N < o 2 7
= ] © (: = © m < < <
2 g]} ﬂ} : : g 5 < : : @ B Y 5 3 :
' -~ (o] (o] ! o] N m N
) 2 G2T G2T < G2T G2T g G2T , S G2T \ \ N @ 8 N
= a) S
- 7 ./ 7
& a L
D6B/AG12
D6B/AG12 DvGB/AGlZ B%/Amz ) 4 D6B/AG12
¥ A 4 B3/A612
D6B/AG12 A 4
- B6/A612 B3/A612 - B3/A612 - v -
T B = T = T T
5 ) 4 ) 4 DEA/AG12 ] o o o) °© ) \ 4 O ] O CONSTRUCTION
L v o e % o L o % ~N o LU BN o ]
T = = T = N T IR T
- ' . 831612 - ' “ e D6AIAG12 - “| - DOCUMENTS
@ © © @ © © @ © @
®) 8] O DBA/AGL2 ®)
(99} n (7] v n
G2T G2T Ctl ?t' G2T G2T ft' G2T G2T G2T G2T G2T G2T G2T G2T
i — PR AV PR N - N \ﬁ / - R E—

on
2

S56 S57 S58 S59 S60 C

HOLLOW METAL / STOREFRONT / RATED FRAMES WOQOD -\1//4

2"@H1

/4" @ H1A

SCHED. HEIGHT

SHEET NUMBER

H/ H8 H9 El W2

7 AG11

7.6 0O O 86 i UNC CHARLOITE
- - — ) 5'-8" @ H6A; 4' - 6" @ H6C N :
10 . 2 SCHED. WIDTH 2 4-0 -2 2| SCHED.WIDTH  2'-0"(I'-0" @ H6C g } AN 3 RESIDENCE HALL
N 8 LL = |
! — N " " o " I3 N w " "
| SCHED. WIDTH o g Lom Dn SCHED. WIDTH o > _ 6" o ° } § J 2| 22-2"@H6A | [2 < \ | 31/4" SCHED.WIDTH 31/4 PHASE XIV
I fii NS ! |
e S N ~ ~ N & RN 3 N T S ! o~
n n @ T n m 8 8 (‘:: 8 8 7 < < \ IAVgi G‘_D' (%1 2 3—| : 8
2 SCHED.WDTH 2 O 2 SCHED. WIDTH 2 g } g } g } < } N E} A &(:N; \ 5 G2FT-45 o 1 < UNIVERSITY OF NORTH
W W C W W &N W < @ ig A 2 @ G2FT-20 g } G2FT-20 = E'_'@ @ a ; G* G* ~ ] 1 ) o CAROLINA AT CHARLOTTE
\ - N~ [Se) : S;
= s — * fetedi— | :
(qV] (9V) ! N !
AL1F/A612 A /i a C3/A605 |
C4/A605 E1F/AGL2 1 v ; 9201 UNIVERSITY CITY BLVD.
E1F/A612 R2FIAG12 ) 4 BS/A612 ~ ls3m612 E1F/A612 R2FIAG12 \ 4 x B2F/A612 ALF/AG12 CHARLOTTE, NC 28223
* |
.| s - | . ] . 3= . \ 4 D1/A612
v \ AIEIE | Yo | ~ v : v vl . | IR
N R S DGB/A61 i . A4/AGOL RATED o g . ° | _ B2F/A612 | MARK| (YYYY-MM-DD)|  DESCRIPTION
— ™ ™ ™ (32} _ I
_ _ g _ . | vi_ : _ eene N 1k A 4 > 3 _ 2014-10-20 | PRICING PACKAGE
T T T T 7 T & T ASSEMBLY @ 2 | . ‘ T 2015-01-15 SCO/OWNER CD
Ty) : I ® o) |
0} O 0 0] < o . ) < h . | Q SUBMITTAL
? M : 3 £ S SV | o1s 2 | :
o= G2FT}45 : a G2T : G2FT-20 - : AT AL 2 : . - | : 2015-04-03 SCO/OWNER CD
a ~| o a a N o ne N | e © | o SUBMITTAL
w w w £ w w 1 F % ; w
T z % z z z I ! z 2015-05-15 FINAL SUBMITTAL
@ @ “ % & U @ 2 K&ﬁ/\ Mﬂf\f/AlF@Glz i 7 B 2015-06-18 BID DOCUMENTS
1SN v } 1 2015-07-02 | ADDENDUM NO. 001
g & = = = 1
a| € N & & |
G2FT-45 5 . G2T G2FT-20 & G* & G2FT-45 G2FT-45 N |
\ RN \ \ \ ‘
(I | ] I | ] L L N U L] | K\ L
L 1! _ 7II L 3! _ 4|| L ll - 7|| L i
1 1 1 1 |
H1 & H1A 3 H2 & H2A 3 H3 H4 H5 g Ho6, HOA, & H6C / &ata™ ™ H6B ‘ W1
— — — % !
& < } < } . } y , G2T @ H6A |
& & & *] = B5/A612 1
< < < *2 = C6/A612 A 1
g8 -2" 13'- 8" 14' - Q" - *3 = B3/A612 :
*4=DBAIAB12 |
*5=DBB/A612 2 ‘
3'- 10" 2" 3'- 10" 2" 2" 5'-0" 2" SCHED.WIDTH 2" 5'-0" 2 2" 3-8 2" SCHED. WIDTH 2" 3-8 2 = :
)y 2 v 2 v 2 Py Py b . © ! N
11 . 1 1 1 1 1 i i & 8 | 2
\ 9 \ y g : S FWA PROJECT NO:  2420.02
© © N " " ! " "
. & E} ] ~ E]} o $ y’ 2 SCHED. WIDTH 2 | 314 SCHED. WIDTH 314 SCO PROJECT NO:  #12-10117-03A
G2FT-20 G2FT-20 S K G2FT-20 N G2FT-20 G2FT-20 S - G2FT-20 N G2FT-20 G2FT-20 - Q 1
“ o - Q - o | :
?\l : S ;ﬁ
N 7 7 ! =
: : : | DRAWN BY: JLR
N N N ! ™
D4/A601 C5/A606 eBAGLY | APPROVED BY:  GRL
) 4 A 4 C5/A606 : 1
q— I
v ) | THESE DRAWINGS AND THE PROJECT
C4IAG0S ASFIA612 : : : 4 = | o : D1/A612 MANUAL ARE INSTRUMENTS OF SERVICE AND
v v 9 B2F/A612 S B2F/A612 S = ! REMAIN THE PROPERTY OF THE FWA GROUP
- \ 4 - \ 4 . - 1 \ ¢ ARCHITECTS. UNAUTHORIZED DUPLICATION
N _ N N _ N N ) N _ | OR REUSE WITHOUT WRITTEN CONSENT IS
o & T 7 3 & T 3 3 N o T 1 = PROHIBITED.
< . o < < - o < < : 2 S .z
it ® W i i ® I i5 i e m | 0 SHEET TITLE
G2FT-20 < G2FT-20 2 = < G2FT-20 < G2FT-20 2 = < G2FT-20 < G2FT-20 2 a = | T A
N ! ;
L L L I [a]
I I T ! w
8 8 8 +=— STAINLESS STEEL } 6 EXTER I OR &
ELEVATOR FRAME, } 2
: : : SEE A710 - A712 ; INTERIOR FRAME
S ) S FOR ADDITIONAL |
- - - SMOKE CURTAIN w
N N N GUIDE LOCATIONS, : TYP ES
SEE DOOR SCHED. :
G2FT-20 G2FT-20 2 G2FT-20 G2FT-20 5 G2FT-20 G2FT-20 y FOR DETAIL REF. |
\ ‘
e N _ I — L |




1 2 3 4 S 6 /

, A | . FACE OF INTERSECTING |
’ g 4 , WALL (WHERE APPLICABLE) | FACE OF 5 SEE WALL TYPES
| TYP. & | INTERSECTIN
| _—— FIRE RATED GLAZING | - MASONRY FRAME ANCHORS | XVFfFL-b éVXELEI';E
| FACE OF INTERSECTING SEE FRAME TYPES ‘ LL' . ‘ ) CONCRETE MASONRY
| " WALL (WHERE APPLICABLE) METAL PLATE @ SEE WALL TYPE 5/8" GWB ON - 7 o GROUT SOLID AT FIRE STEEL FRAME (SEE UNIT BOND BEAM, SEE
| l, SHEAR WALLS, METAL STUDS ‘ ‘ ‘ RATED ASSEMBLIES SCHEDULE WALL TYPE FOR FIRE
7 4~ [ STEEL FRAME (SEE SCHEDULE) o 5 BOTH SIDES ANNODIZED SEE WALL TYPE 5/8" GWB ON )
| TYP. ADDITIONAL 1 ( , ALUMINUM CLAD o8 GWB O RATING WHERE
CAULK, EACH ! | ADDED TO - TYPE "X" WHERE EEL EIRE DOOR (SEE APPLICABLE & SEE
SIDE (TYP.) 1 . DOOR (SEE SCHEDULE)  FrAME, SEE oy APPLICABLE) N g B ELTED MULLION \ (BOTH SIDES, TYPE SCHEDULE) STRUCTURAL FOR
| S, | SCHEDULE K ‘ ‘ ‘ — DOOR (SEE 1 , :’;"’r X" WHERE REINFORCING
| ) o | 1 SCHEDULE) APPLICABLE) B 500 EAST BOULEVARD
S . B ? CHARLOTTE, NORTH CAROLINA 28203
w - N CAULK, EACH > - " w @ L) N : AL e o CKER 7043327004
Q | | = SIDE (TYP.) METAL BOX ~ — T HEAD / JAMB o = T T o | W T © / ROD, EACH SIDE
> | o ' > STEEL ERAME o | T METAL BOX > e D || #10 Paimetto Business Park
o | W A/2» ~ BEAMHEADER N - 5 (SEE SCHEDULE) & ; BEAM HEADER = m, N Hilton Head Island, SC 29928
= | Q | N [a)
3 | N % = < w o e 2| T - w ERAME E 843 | 785-2199
: | = = —~——— STEEL FRAME 3 i ” > | DOUBLEMETAL % 1 CAOLE BACRSIDE 2 2 ANCHORS
th ‘ ! w o SEE SCHEDULE iy L STUDS @ JAMB T m| & :
(2] — H ( ) n 1 ] 1 o - L <
V N, « STEEL FRAME 1w N GROUT SOLID AT
! . |~ 5/8" GWB ON METAL (SEE SCHEDULE) FIRE RATED
! ¢ " /8" ‘ ‘ STUDS (BOTH SIDES
| & 2 ;o d DOOR (SEE FIRE RATED DOOR, SEE ) STUDS (BOTH SIDES, - \ ASSEMBLIES
3 ® SCHEDULE) DOOR SCHEDULE FOR APPLICABLE) 2 DSOEOERSCHEDULE SEALANT & BACKER ROD - STEEL FRAME
| ' DOUBLE METAL STUDS @ JAMB I [R)ﬁ\AT'E'\‘N%I SB%UFSJRFE%S CAULK, EACH B ( ) EACH SIDE | (SEE SCHEDULE)
SR N
" METAL PLATE @ SHEAR WALLS, ADDITIONAL ” - DOOR COMPONENT SIDE (TYP.) N CONCRETE MASONRY DOOR (SEE
5 " " !
>/8 GWB Ol METAL STUDS FRAME DEPTH \ FRAME DEPTH SCALE: 3"= 10" iggj&%fégg&w HERE o
"X" WHERE APPLICABLE : . : =1-
(BOTH SIDES, TYPE "X CABLE) R 58 . STRUGTURAL FOR
RA I E D M U I_ I_ I O N / DOO R ¢ REINFORCING FRAME DEPTH
DOOR JAMB DOOR HEAD SAE IO e DOOR JAMB T
SCALE: 3"=1-0" o DOOR HEAD 1 S/E" W ON METAL
SCALE: 3" =1'-0" SCALE: 3"=1-0 T ] STUDS (BOTH SIDES,
a1 SCALE: 3"=1-0 T TYPE "X WHERE DOOR JAMB
| TYPE 5/8" TYPE "X" GWB ON ' ] APPLICABLE) W _ 4o
| FACE OF INTERSECTING SEE WALL 5/8" GWB ON METAL 412" - o SCALE: 3" =1'-0
| WALL (WHERE APPLICABLE) STUDS '(\Q%TTAHLSSIEE'%)S / 1" INSULATED GLAZING |+ ) U
: -] - :7/ 4 "
' VARIES = 21/2" 3/4" -1/2" - - (BOTH SIDES) ' ' 41/8" R METAL BOX BEAM
y 2 — PRE-HUNG DOOR . | METAL STUD BOX BEAM 1" INSULATED ALUM. STOREFRONT i o5 HEADER
| (SEE SCHEDULE) @ HEAD \ | MINERAL " TRANSOM MULLION — 5
| % W ] 84 METAL BOX BEAM wooL g e | ) () — | 1 A e L | SRR N N S 1/4" GLAZING FOR CONSTRUCTION
| 3 _ ] HEADER L Pl _===:= \
_ j s 3/4%2 , qu/“" g/EAEQI\??ECRoigg : & N CEILING OR SOFFIT
o L P, N [ I Y LIMESTONE OR : . L] ALUM. STOREFRONT FIRE RATED GLAZING. ALUMINUM @ (@ﬁ e WHERE APPLICABLE
W ; w NI - N o U : STOREFRONT ||
o | = ) A 1 1x2 WOOD CASING PAINTABLE g & /' TRANSOM MULLION W/ SEE FRAME TYPES & S ULLION / ] ]
5 | L i & )= | L1 FLUSH INFILL BY N
| L N ) ) STOREFRONT MFR
2 : a o i L WOOD BLOCKING ANNODIZED ALUMINUM CLAD T/ - E E ANNODIZED g NOTE: JAMB IS SIMILAR L _a
s | 4 S STEEL SERIES FIRE RATED = GLAZING BUT WITH DOUBLE
n | R S o FRAME, ALIGH WITH - S STEELFIRE SEE TYPES METAL STUDS SToR:
| A _ [ad = ! _ -
7 e N J T 1xwooD CORRIDOR SIDE OF WALL -8 b w SOUND ATTENUATION RATED MULLION - | %Tegﬁggﬁom
R ENATARAEE SR : BLANKET, SEE WALL 2 © | =
: 7 & CASING 4 : BLANK T _ MULLION W/ D
| :/ FIRE RATED DOOR, SEE - 2 N c 5 DOOR (SEE SCHEDULE) e FLUSH INFILL BY
| 3 PRE-HUNG DOOR OOR SCHEDULE FOR 3 - 5 STOREFRONT
; > 1x WOOD CASING I D & - =L s o & MFR
| (SEE SCHEDULE) RATING, ADJUST FRAME ~ e DOOR (SEE ) C
| 1x WOOD BLOCKING Dgﬂgé\'ggaggﬁERNFT'XED i HEAD " SCHEDULE) I H E AD J AM B ™
; . D — &
1x2 WOOD CASING 2 2 b 5 = f an— =t
i g é - FIRE RATED o e SCALE: 3"=1'-0 ] DOOR (SEE
' DOUBLE METAL STUDS @ JAMB Q = = A~ DOOR, SEE / " SCHEDULE)
%@ DOOR B 41/2"
" GWB ON METAL STUDS (BOTH SIDES FRAME DEPTH ) y ] » @
58 ( ) & 3 4 SCHEDULE FOR 1" INSULATED GLAZING
o & RATING, ‘
DOOR JAMB DOOR HEAD — ADIUST FRAME |
o T N EB%EE,;Q’(ISDNS 1/4" GLAZING % ‘
" 1 1] 2 i
SCALE: 3"=1-0" SCALE: 3"=1-0 L] & i ® | DOOR 13/4"
| (2) LAYERS OF 5/8" 41/8" ~ Y COMPONENT v, ALUM.
| FACE OF INTERSECTING SEE WALL TYPE SIVB ON METAL B B N slie—e—/  STOREFRONT
3 - ) WALL (WHERE APPLICABLE) STUDS (BOTH SIDES, R T E D H E D L INSULATED ., MULLION
v - TYPE "X" WHERE A A N IO N
CAULK, EACH T v T STEEL FRAME (SEE SCHEDULE) e APPLICABLE) — GLAZING ~— et Lo HEAD / JAMB CO N STR U CT
S, £ ‘ | 1 - SCALE: 3"=1-0 DOOR HEAD
‘ . DOOR (SEE SCHEDULE) 1] ol B 2" 1/4" GLAZING
| < HEADER —— SOUND ATTENUATION BLANKET, SEE WALL TYPES : -4 /4" NG
| T 1/4" GLAZI
oy L & CAULK, EACH —— ANNODIZED ALUMINUM CLAD STEEL D O O R H EAD 13/4"
w ; B . ./ SIDE (TYP. SERIES FIRE RATED FRAME, ALIGN DOO R H EAD —
a ; b = 12 12 (TYP) MINERAL WOOL 38" 2" WITH CORRIDOR SIDE OF WALL — SCALE: 3"=1'-0
> | N y SCALE: 3"=1-0 DOOR HEAD
- | o) — FIRE RATED DOOR, SEE DOOR
3 : = STEEL FRAME (SEE ’
| Lu ' . | | B— 1 n
= g SEiEouLE m SCHEDULE FoR TG, ADILST — seE waLL e SoME 3= 10
= | 2 u . , WALL (WHERE APPLICABLE) (2) LAYERS OF M U I_ I_ I O N
s ‘ i o COMPONENT Toomea ] 5/8" GWB ON 112" SEE WALL TYPE
. i DOOR (SEE - P R | = , METAL STUDS SCALE: 3"=1'-0"
Bk N ® SCHEDULE) - N B@ﬂ 15/8 1 | T KR (BOTH SIDES, EQ , EQ
| < " : TYPE "X"
| ] . & . CONCRETE
| o 2r | 58 = ‘ WHERE 412 5 1 WALL, SEE WALL
| -~ - w X — < z APPL|CABLE) " ‘ / , OR FIRE
| ) ) 4 S | — A : N i T , 5/8"GWBON |- \ ;X%ENE e
L METAL BOX METAL 7/8" L C
POUBLE METAL STUDS @ JAMB m ﬁ ~ DOOR (SEE BEAM HEADER METAL HAT [ | APPLICABLE &
(2) LAYERS OF 5/8" GWB ON METAL STUDS FRAME DEPTH | 23/4" L 23/8" SCHEDULE) 1/2" 1/4" GLAZING CHANNELS @ | j SEE
(BOTH SIDES, TYPE "X" WHERE APPLICABLE) ’ y ’ | STEEL FRAME K c (S:i%LIJELFEYEFf\)CH 24" O.C. = s STRUCTURAL
D L 3/8" BACKER ROD & SEALANT, " \ (SEE SCHEDULE)  _ -, L » ALUM. N |
D O O R J A M B D O O R H EA JAMB COLOR LIMESTONE OR PAINTABLE o = STEEL FRAME = /" STOREFRONT A SEALANT &
o — v SCALE. 3'= 10" - T DOUBLEMETAL & —_— (SEE SCHEDULE) it TRANSOM 3 o ’ BACKER ROD, <
SCALE: 3"=1-0 S0 = - DOUBLE METAL STUDS @ JAMB = STUDS @ JAMB O { s MULLION CLOSURE L EACH SIDE
DOOR ) .
= = % = & \ GROUT SOLID
THRU WALL FLASHING, CUT FLUSH 4" NOM. BRICK VENEER 5/8" TYPE "X" GWB ON METAL STUDS (BOTH SIDES) " — (2/) ,!—AYEBRSI\?F = B (SSCEHEEDULE) / [S’C?SED(SEEE) ; AT FIRE RATED |V 'y
WITH EDGE OF LINTEL AND SET IN == ‘ o 7] ngTi\(VSTUDS L FRAME . | ASSEMBLIES
"ULL BED OF SSALANT Sl = cvmomwes | RATED JAMB e (80T Sioes, -- -- S UNC CHARLOTTE
A WEEPS @ 24"0.C.—— hfﬁA | MATERIAL e TYPE "X" WHERE 2 RAVE DEPTH 2 3 - ‘ STEEL FRAME
= S POLYISO RIGID INSULATION | - SCALE: 3"=1-0 APPLICABLE) i ¢ (SEE SCHEDULE) RESIDENCE HALL
BRICK VENEER OR CAST STONE ] | s %
. iy ! | | —— CAULK, EACH DOOR
CS-05 W/ 1/2" CUT AT BACK SIDE . AR BARRIER OVER 1/2" | GLAZING (SEE SCHEDULE) ¢ =~ SIDE (TYP) . (SEE PHASE XIV
] EXTERIOR SHEATHING | R ) 2" SCHEDULE)
STEEL LINTEL, SEE STRUCTURAL. 12 g e 6" 2" o e & " .
CONT. SEALANT - ! . - SCALE: 3"=1'-0
flir s e . g | 1 - - NIVERSITY OF NORTH
N AN - N
B.O. LINTEL P 7R o = 5/8" 5 CAROLINA AT CHARLOTTE
— - T — %Q[ N T A ¥ ( l# T 2 gy 478 1/4" GLAZING
TN 5| ——==% i : 7 |‘ DOOR HEAD
(A
—
= 1]
/ )E, Q D «\,\" B Ve . "o l_ n
ALUMINUM o b el ., - S| o DOOR JAMB g .. SCALE: 3"=1-0 9201 UNIVERSITY CITY BLVD.
STOREFRONT - 10" COLD FORMED METAL < g S 5/8" GWB ON METAL
M.O. B STEEL FRAME CHARLOTTE, NC 28223
. STRUCTURAL g T - TYPE "X" WHERE FACE OF INTERSECTING 3 ) o g
1 . . APPLICABLE) DOOR HEAD WALL (WHERE , 4 ’ DOOR DATE
INSULATED 5/8" GYPSUM WALL BOARD SEE WALL TYPE = i APPLICABLE) 1 . MARK | (YYYY-MM-DD) DESCRIPTION
DOOR | TYP SEE SCHEDULE)
GLAZING , , F— | 3/8
SEE TYPES | J-MOLDING (SEE SCHEDULE) ALUMINUM i N SCALE: 3"=1'-0 | L 2015-01-15 SCO/OWNER CD
STOREFRONT N METAL BOX BEAM FRAME ANCHORS — | GROUT SOLID AT FIRE SUBMITTAL
& 1 7 O —— 3/8" SEALANT & BACKER 288&8;3;[’)2% REWS MULLION 5/8" TYPE "X" GWB ON : ] H 5 HEADER ¥ = = \ RATED ASSEMBLIES 2015-04-03 SCO/OWNER CD
ROD, EACH SIDE METAL STUDS ] , WALL DEPTH ) > SUBMITTAL
SCALE: 3"=1-0" 41/2" 41/2" D OO R J M B (BOTH SIDES) | ! D) () = )G\ W / 5/8" GWB ON METAL STUDS o " 2015-05-15 FINAL SUBMITTAL
= Ww | w
A - \ o —— DOUBLE 3-5/8" METAL STUDS o T 2015-06-18 BID DOCUMENTS
= METAL STUD BOX BEAM JPLE Jﬁ ~ CEILING OR SOFFIT » = ' o B 1 | 2015-07-02 | ADDENDUM NO. 001
/8 SCALE: 3"=1'-0" @ HEAD ' | MINERAL  ALUMINUM Q. EQ s - > o .
7 . . WHERE APPLICABLE TOP W/ - /. L
L 618 L 105/ WOOL STOREFRONT 7| — ) DOOR S 2 N Fa o
4 . o , ) \ 5 N a S ) o TN N s - MULLION A CONCEALED SCREWS S ) : S
g 7737 A\/\q\/ 4 u a - Aﬂ \<’: = - e - . . . ;\q ) R :4 o E :4 5T 34 \\/A R c '\ '\ L N q S ) T :7 \iﬁ\rq LA {4 \'A\/ q/\ > \/ Y q 4N B . q \\':qf - . . 7 K 4 ;?4 A . q':’ ) ! BRI ~ \4 - N 4 ,q - 3/8" BACKER ROD & A w é
P o i - o , Lo \/\q' N " B y/“A\q:\ 4 . A<, 74\: - —q N *’ A q - e o . A{{' N R qu\\, - 7 i ) Z R R . ,i\ L, S - : . A fq, I /A/},/' 4 ) R 4 g - q A/\/* I . - . o) @ SEALANT, COLOR / I(-I/)J o ] o
, K R T R e — — — = - — - — ' PAINTABLE 4 o) SR
. D T e : o DOOR STOP s
i R PR S | gl 3 W/ R NOTE: JAMB IS (SEE SCHEDULE) &
Is /I PR ; I ANNODIZED ALUMINUM CLAD T s\ CONCEALED ) SIMILAR BUT WITH B 1 et N : SEALANT & BACKER
T : a —— = x ; ‘ \ STEEL SERIES FIRE RATED f SCREWS ——— : DOUBLE METAL i - g ROD, EACH SIDE
NI w(( | | FRAME, ALIGN WITH % © STUDS / j > o
‘ CONT. SEALANT : STEEL BEAM, SEE STRUCTURAL | | CORRIDOR SIDE OF WALL i B | & | | SOUND ATTENUATION s — CONCRETE WALL, SEE WALL
‘ e l ; T ‘ ! ! ‘ BLANKET, SEE WALL o " TYPE FOR FIRE RATING
' . L (1[N | CONT. TERMINATION BAR W/ 1 l l : FIRE RATED TYPES (DS%%RSCHEDULE) . . %g.. fA\éVTBA(E'ﬁlXTETAL WHERE APPLICABLE & SEE
=t | PEEL & STICK MEMBRANE FLASHING N | | FRAME TYPES l i L ?SLEAI\EZISNCGHEDULE) o.C. J-CLOSURE
N R | | | GLAZING - ALUMINUM STOREFRONT
Nm | SHEET STRAPPING, SEE NN ul HEAD (SEE SCHEDULE) ] MULLION
CAST N | WINDOW SCHEDULE ON A620 N .l D O O R J AMB
32? S I 1 AIR BARRIER OVER 1/2" NE ol s 13/4"
> I | INK | SCALE: 3"=1'-0"
STONE i | EXTERIOR SHEATHING ISR ol D OO R J AM B 3'=1-0 FWA PROJECT NO:  2420.02
Sohae | 1 * I | RATED GLAZING A
ON A615 — = : : } 2" POLYISO RIGID INSULATION INE \ : SCALE: 3" =1'-0" L SEE WALL TYPE L SCO PROJECT NO:  #12-10117-03A
, | { ! | | . "o 1 n
- | | | SCALE: 3"=1'-0
. o B L CAVITYDRANAGEMATERIAL [ ARBARREROVER12' || R HEAD /' JAMB ‘ EACE OF INTERSECTING 1 =, = 1 CONCRETE WAL
csaz | 1O [ Iy ‘ | EXTERIOR SHEATHING D ' :
adas I D S(IMME S S | i NN o SOUND ATTENUATION BLANKET, WALL (WHERE APPLICABLE) W _ SEE WALL TYPE FOR DRAWN BY: JLR
2 - I : 1 1-1/2" POLYISO RIGID INSULATION R-19 PAPER FACED BATT INSULATION : /‘/ DOUBLE 6" METAL STUDS i MINERAL WOOL SEE WALL TYPES SCALE: 3"=1-0 W o 5/g" 1 , FIRE RATING WHERE APPROVED BY: GRL
- . | @'7 A r = ol —— ANNODIZED ALUMINUM CLAD 7 o APPLICABLE & SEE
. \zl\fE)PcS @ A DRSS nut > & | [ | 1) 1| i STEEL SERIES FIRE RATED FRAME ANCHORS i STRUCTURAL THESE DRAWINGS AND THE PROJECT
<. PEDS ‘ | NN ! FRAME, ALIGN WITH / ‘
R ‘ ‘ | | | | | | | | | - ‘ : S MANUAL ARE INSTRUMENTS OF SERVICE AND
THRU WALL ; | | 1 I I | | | A A | I ! : : | T CORRIDOR SIDE OF WALL 41/8" / STEEL FRAME (SEE SCHEDULE) E SEALANT & BACKER REMAIN THE PROPERTY OF THE FWA GROUP
FLASHING, : ! [ [ ! | . . ROD. EACH SIDE ARCHITECTS. UNAUTHORIZED DUPLICATION
CUT FLUSH o\ INN | || | 3/8" SEALANT & BACKER ol w gl o [ FIRE RATED GLAZING, N DOOR (SEE SCHEDULE) - S— = ’ OR REUSE WITHOUT WRITTEN CONSENT IS
WITH EDGE N | = | || // ROD,EACH SIDE Wl > / / SEE FRAME TYPES Y FRAME ANCHORS PROHIBITED.
. OF LINTEL T NV } 1NN ! - i _— FIRE RATED GLAZING
AND SET IN I NS NF—— NN NN N, N N, N . ||/ /10"COLD FORMED METAL 1| | 3 R Lﬁj SEE FRAME TYPES o ] GROUT SOLID AT SHEET TITLE
L FULL BED OF L INE | D 11/' / FRAMING, SEE STRUCTURAL ! || = wl $ N % A
SEALANT. N N : | ‘ ‘ ‘ ‘ ‘ | | | [ ml L % 4 = e ] FRCRAED
| Csia N (AN T oA N T AN T T AN T T AN T T AN T T AN T T AN T S B I / | 5/8" GYPSUM WALL BOARD | |, u B = ANNODIZED - ’ i | ASSENBHES DOOR DETAILS
B.O. LINTEL X e e T T o e e B al N ~ /ALUMINUM CLAD 3 4= . 0 : g 5
100" NS - : =2 | Rl ! ﬁ : K i STEEL FIRE g W @ 5 STEEL FRAME
t CONT. J-MOLDING PAINTED EXTERIOR GYPSUM WALL BAORD o el RATED MULLION 2 ‘ (SEE SCHEDULE)
STEEL LINTEL, PAINT TO MATCH . | @ , L s |
’ OVER 2-1/2" METAL STUDS @ 16" O.C. N o Rl Lu &
> L UMINUM STOREFRONT Bl | | 3/8" BACKER ROD & SEALANT, (SEE |
10 3/8" 1/4" 22" -]AMB COLOR LIMESTONE OR PAINTABLE , SCHEDULE
i i 2 MULLION sl : AR AN GROUT SOLID AT FIRE 2'
3'-11/4" 1" INSULATED GLAZING : : — DOUBLE METAL STUDS @ JAMB L RATED ASSEMBLIES
N ‘ FRAME DEPTH
5/8" GYPSUM WALL BOARD 5/8" TYPE "X" GWB ON METAL STUDS CONCRETE WALL, SEE WALL SEALANT & BACKER ROD,
1/2" METAL BOTH SIDES TYPE FOR FIRE RATING WHERE EACH SIDE
F R A M E H E A D D O O R 1 1 3 3" 412" 9 1/2" SOFFIT OVER 2- ( ) APPLICABLE & SEE STRUCTURAL SHEET NUMBER
e DOOR HEAD
SCHE 3= 10 RATED GLAZING RATED MULLION DOOR JAMB
REFERENCED FROM: A5 | A302

AN

. 3"=1-0" SCALE: 3" = 10" ScALE. 3 = 10" SCALE: 3"=1-0"
1 2 3 Ty 5 6 ; A012




02-JUL-2015 10:59

P:\2013\2013.23 UNCC Phase XIVNCADD Files\xivCF101.dgn

WALL OPENING SCHEDULE

1.4

WALL SCHEDULE
WALL MEMBERS SUPPORTING MEMBERS SUPPORTING MEMBERS SUPPORTING MEMBERS SUPPORTING MEMBERS SUPPORTING MEMBERS SUPPORTING
TYPE 2ND FLOOR 3RD FLOOR 4TH FLOOR 5TH FLOOR ROOF HIGH ROOF
wo1 - - 600-5162-54 600-5162-43 600-5250-68 -
Wo02 - - 600-5162-54 600-5162-43 600-5250-68 -
Wo03 - - 600-5200-54 600-5162-54 600-5162-54 -
W04 - - 600-5200-54 600-5162-54 600-5162-54 -
W05 600-S200-68 600-S200-54 600-5200-54 600-5162-54 600-5162-54 -
W06 - - 600-5200-54 600-5200-43 600-5162-43 -
Wo07 600-S250-68 600-5162-68 600-5200-54 600-5162-54 600-5162-54 -
W08 600-5162-54 600-5162-54 600-5162-54 600-5162-43 600-5162-43 -
W09 600-S250-68 600-S200-68 600-5200-54 600-5162-54 600-5162-54 -
W10 - - 600-5162-54 600-5162-43 600-5250-68 -
wi1 - - 600-5200-54 600-5250-43 600-5250-68 -
W12 - - 600-5200-54 600-5200-43 600-5250-68 -
W13 - - 600-5162-54 600-5162-43 600-5250-68 -
W14 - - 600-5162-54 600-5162-43 600-5250-68 -
W15 600-S200-68 600-5162-68 600-5162-54 600-5200-43 600-5162-43 -
W16 600-S250-68 600-S200-68 600-5200-54 600-5162-54 600-5162-54 -
W17 600-S250-68 600-S200-68 600-5200-54 600-5200-43 600-5162-43 -
W18 600-5162-54 600-5162-54 600-5162-54 600-5162-43 600-5162-43 -
W19 600-S250-68 600-S200-68 600-5200-54 600-5200-43 600-5162-43 -
W20 600-S250-68 600-S200-68 600-5200-54 600-5200-43 600-5162-43 -
w21 600-S250-68 600-S200-68 600-5162-54 600-5200-43 600-5162-43 -
W22 600-S200-68 600-S200-54 600-5200-54 600-5162-54 600-5162-54 -
W23 600-S250-68 600-S200-68 600-5200-54 600-5162-54 600-5162-54 -
W24 600-S200-68 600-S200-54 600-5200-54 600-5162-54 600-5162-54 -
SEE 1) W25 600-S250-68 600-S200-68 600-5200-54 600-5162-54 1200-5162-68 600-5250-68
M)QTE 4: W26 600-S200-68 600-S200-54 600-5200-54 600-5162-54 1200-5162-68 600-5250-68
NS W27 600-S250-68 600-S200-68 600-5200-54 600-5200-43 600-5162-43 -
W28 600-S250-68 600-S200-68 600-5200-54 600-5162-54 600-5162-54 -
W29 600-S200-54 600-5162-54 600-5162-54 600-5162-43 600-5162-43 -
W30 600-S200-68 600-S200-54 600-5162-54 600-5200-43 600-5162-43 -
w31 600-S200-68 600-S200-54 600-5162-54 600-5162-43 600-5250-68 -
W32 600-S200-68 600-S200-54 600-5162-54 600-5200-43 600-5250-68 -
W33 - - 600-5250-43 600-5162-43 - -
W34 - - 600-5250-43 600-5162-43 600-5162-43 -
W35 - - 600-5250-43 600-5162-43 - -
W36 - - 600-5162-43 600-5162-43 600-5162-43 -
W37 - - 600-5162-43 600-5162-43 600-5162-43 -
W38 - - 600-5162-54 600-5162-43 600-5162-43 -
W39 - - 600-5162-43 600-5162-43 600-5162-43 -
W40 600-5162-54 600-S200-43 600-5162-43 600-5162-43 600-5162-43 -
w41 - - 600-5162-54 600-5162-43 600-5162-43 -
W42 600-5162-43 600-5162-43 600-5162-43 600-5162-43 600-5162-43 -
W43 600-S200-68 600-S200-54 600-5162-54 600-5162-43 - -
W44 600-S200-68 600-S200-54 600-5250-43 600-5162-43 - -
W45 600-S200-68 600-S200-54 600-5162-54 600-5162-43 600-5162-43 -
W46 - - 600-5250-43 600-5162-43 - -
W47 - - 600-5200-43 600-5162-43 600-5162-43 -
W48 - - 600-5250-43 600-5162-43 - -
W49 - - 600-5200-43 600-5162-43 - -
W50 600-5250-54 600-5162-54 600-5200-43 600-5162-43 600-5162-43 -
W50E 600-5250-54 600-5162-54 600-5200-43 600-5162-43 600-5162-43 -
W51 600-5250-43 600-5200-43 600-5162-43 600-5162-43 600-5162-43 -
W51E 600-5250-43 600-5200-43 600-5162-43 600-5162-43 600-5162-43 -
W52 600-5162-68 600-5200-54 600-5250-43 600-5162-43 600-5162-43 -
W53 600-5250-43 600-5200-43 600-5162-43 600-5162-43 600-5162-43 -
W54 600-5200-68 600-5250-54 600-5162-54 600-5162-43 - -
W55 600-5200-54 600-5162-54 600-5162-43 600-5162-43 - -
W56 600-5200-68 600-5250-54 600-5162-54 600-5162-43 600-5162-43 -
W57 600-5200-43 600-5162-43 600-5162-43 600-5162-43 600-5162-43 -
W58 600-5250-43 600-5200-43 600-5162-43 600-5162-43 - -
W59 600-5200-68 600-5200-54 600-5162-54 600-5162-43 - -
W60 600-5162-68 600-5200-54 600-5162-54 600-5162-43 600-5162-43 -
weél 600-5200-68 600-5200-54 600-5162-54 600-5162-43 - -
We62 600-5250-54 600-5200-54 600-5250-43 600-5162-43 600-5162-43 -
Weé3 600-5200-68 600-5200-54 600-5250-43 600-5162-43 - -
Wwe4 600-5200-68 600-5200-54 600-5250-43 600-5162-43 - -
W65 600-5162-54 600-5200-43 600-5162-43 600-5162-43 600-5162-43 -
W65E 600-5162-54 600-5200-43 600-5162-43 600-5162-43 600-5162-43 -
W66 600-5200-54 600-5162-54 600-5200-43 600-5162-43 - -
We7 600-5200-54 600-5162-54 600-5250-43 600-5162-43 600-5162-43 -
W67E 600-5200-54 600-5162-54 600-5250-43 600-5162-43 600-5162-43 -
W68 600-5200-68 600-5200-54 600-5250-43 600-5162-43 - -
W69 600-5162-68 600-5200-54 600-5162-54 600-5162-43 600-5162-43 -
W70 600-5200-68 600-5200-54 600-5162-54 600-5162-43 600-5162-43 -
W71 - - - - - 600-5250-68
NOTES:
1)  ALLWALL STUDS TO BE SPACED AT 16" O.C. EXCEPT WHERE OTHERWISE NOTED.
2)  ALLWALLTRACK TO BE 2" LEG MINIMUM.
3)  ALLWALLTRACK TO BE THE SAME WIDTH, THICKNESS, AND YIELD STRENGTH AS WALL STUDS (U.N.O.), AND SHALL BE FASTENED PER DETAILS
01/CF301, 06/CF301, AND 08/CF301.
4)  FOR MEMBERS SUPPORTING ROOF, TOP TRACK SHALL CONFORM TO DETAIL 10/CF301.
5)  BRACE STUDS LATERALLY AT 4'-0" O.C. MAX. PER DETAIL 03/CF301 EXCEPT WHERE NOTED OTHERWISE.
6)  ALLSTUDS MUST ALIGN FROM FLOOR-TO-FLOOR.
7)  INSTALL BRACING STRONGBACKS IN WALLS WHERE THERE IS MORE THAN 8'-0" BETWEEN POSTS, JAMBS, OR COLUMNS. SPACE STRONGBACKS
AT 8'-0" WHERE REQUIRED. SEE DETAIL 05/CF301.
8)  WALLS W50E, W51E, W65E, AND W67E SHOULD BE SHEATHED WITH 27 MIL STEEL SHEET ATTACHED WITH #10 (MIN.) LOW PROFILE HEAD

SCREWS AT 6" O.C. (PERIMETER) AND 12" O.C. (FIELD).

WALL TYPES W25 AND W26 ARE COMPOSED OF TWO MATCHING WALLS SUPPORTING THE 2ND FLOOR, AS SHOW ON CF202-N. STUDS
SUPPORTING ALL OTHER FLOORS FOR THESE WALL TYPES ARE A SINGLE WALL ONLY.

(1) (2) (3) (4) (5)
HEADER | MAXIMUM LINTEL HEAD & SILL FULL HEIGHT JAMBS CONNECTION OF
TYPE OPENING DESCRIPTION DESCRIPTION 1ST FLOOR >ND FLOOR 3RD FLOOR A4TH FLOOR STH FLOOR LINTEL TO JAMB
Ho1 2'-10" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-68-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HO3 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Ho4 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HOS 4-10" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Ho6 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Ho8 6-6" (2) 800-5162-54 600-T125-68 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HO9 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HO9A 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Ho9Z 310" (2) 800-5162-54** 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS***
H11 510" (2) 800-5162-54 600-T125-54 600-5300-54-[2] 600-5300-54-[2] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[2] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H12 3.10" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-68-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H14 2'-10" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-97-[2] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H15 24" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H15A 3.0" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H158 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H16 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H16Z 4-10" (2) 800-5162-54** 600-T125-43 600-5300-68-[2] 600-5300-68-[2] 600-5300-54-[2] 600-5300-54-[2] 600-5300-54-[2] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS***
H17 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H18 4-10" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H18A 52" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H20 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H21 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H23 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H25 2-10" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H25A 3.2 (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H258 4-6" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H25C g-2" (2) 800-5162-68 600-T125-68 600-5300-54-[2] 600-5300-54-[2] 600-5300-54-[2] 600-5300-97-[1] 600-5300-68-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H26 2'-10" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H26A g-2" (2) 800-5162-68 600-T125-68 600-5300-54-[2] 600-5300-54-[2] 600-5300-54-[2] 600-5300-97-[1] 600-5300-68-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H27 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H28 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H28A 4-10" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H28B 6-6" (2) 800-5162-54 600-T125-68 600-5300-54-[2] 600-5300-54-[2] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H31 2-6" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H33 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H34 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H34A 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H35 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H38 3.2 (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H39 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H42 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HA42A 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H428B 51" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H42U 6-0" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Ha4 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H45 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H45A 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H46 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H47 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HA7A 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H478B 54" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Hag 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H49 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H49A 54" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H50 56" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H51 3.g" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H52 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H56 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H562 34" (2) 800-5162-54** 600-T125-43 600-5300-54-[2] 600-5300-54-[2] 600-5300-54-[2] 600-5300-54-[2] 600-5300-54-[2] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS***
Hs8 44" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H59 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H60 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
HE0A 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Hel 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
He2 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H62A 310" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
He3 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
He4 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
He6 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
He7 3.g" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H67A 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H67U 44" (2) 800-5162-54 600-T125-43 600-5300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
Hes 34" (2) 800-5162-54 600-T125-43 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
He9 3. (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-68-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
H70 34" (2) 800-5162-54 600-T125-43 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1] 600-5300-54-[1] WEB: (6) #12 SCREWS, EA. FLANGE: (3) #12 SCREWS
NOTES:
1)  ALLJAMBS MUST BE CONTINUOUS TO THE THIRD FLOOR AT THE SOUTH WING, AND TO THE FIRST FLOOR AT THE NORTH WING, TO MAINTAIN LOAD PATH.
2)  SEE DETAIL 13/CF301 FOR MULTI-MEMBER POSTS.
3)  CRIPPLE STUDS SHALL MATCH THE DEPTH, SPACING, AND THICKNESS OF THE WALL TYPE.
4)  REFER TO ARCHITECTURAL DRAWINGS FOR EXACT OPENING SIZE REQUIREMENTS. ANY DIMENSIONS SHOWN ARE FOR REFERENCE ONLY.
5)  ALLHEADER, HEAD, SILL, AND JAMB MEMBERS UST BE CONTINUOUS OVER OPENINGS. NO SPLICES ARE PERMITTED. HEADER MATERIAL MUST BE UNPUNCHED EXCEPT STANDARD 1%" OVAL KNOCKOUT.
6)  WALLTOP TRACKS MUST BE CONTINUOUS OVER OPENINGS.
7)  FOR CONNECTION OF LINTEL TO JAMB SEE 11/CF301.
8)  FOR CONNECTION OF HEAD AND SILL TO JAMB SEE 12/CF301.
9)  **=USE LINTELAS SCHEDULED AT 1ST THROUGH 4TH FLOORS; AT 5TH FLOOR USE (2) 1200-5200-97
10)  ***=USE CONNECTION AS SCHEDULED AT 1ST THROUGH 4TH FLOORS; AT 5TH FLOOR USE: WEB: (18) #12 SCREWS, EA. FLANGE: (9) #12 SCREWS.
11)  HEADERS H09Z, H16Z, AND H56Z HAVE CONCENTRATED LOADS FROM ROOF TRUSS GIRDERS. WEB STIFFENERS SHOULD BE PROVIDED PER 16/CF301 AT THE LOCATIONS WHERE THESE ROOF TRUSS GIRDERS BEAR ON THE HEADERS.

POST SCHEDULE
POST MEMBER SUPPORTING MEMBER SUPPORTING MEMBER SUPPORTING MEMBER SUPPORTING MEMBER SUPPORTING
TYPE 2ND FLOOR 3RD FLOOR 4TH FLOOR 5TH FLOOR ROOF
PO1 600-5300-54-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-68-[1]
P02 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1]
P03 600-5300-54-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-54-[2] 600-5300-54-[2]
P04 600-5300-68-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-54-[2] 600-5300-97-[1]
POS 600-5300-54-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-54-[2] 600-5300-97-[1]
P06 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-97-[1]
PO7 600-5300-54-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-54-[2] 600-5300-54-[2]
POS 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1]
P09 600-5300-54-[2] 600-S300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1]
P10 600-5300-54-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-54-[2] 600-5300-97-[1]
P11 600-5300-54-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-68-[1]
P12 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-97-[1] 600-5300-68-[1]
P13 600-5300-68-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-54-[1]
P14 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-68-[1] -
P15 600-5300-97-[2] 600-S300-68-[2] 600-S300-54-[2] 600-5300-97-[1] -
P16 600-5300-68-[2] 600-S300-54-[2] 600-S300-54-[2] 600-5300-97-[1] -
P17 600-5300-97-[2] 600-$300-97-[2] 600-S300-54-[2] 600-5300-54-[2] -
P18 600-S300-118-[2] 600-$300-97-[2] 600-S300-68-[2] 600-5300-54-[2] -
P19 600-5300-97-[2] 600-S300-68-[2] 600-S300-54-[2] 600-5300-97-[1] -
P20 600-S300-118-[2] 600-$300-97-[2] 600-S300-68-[2] 600-5300-54-[2] -
P21 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-54-[1] -
P22 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-54-[1] -
P23 600-5300-54-[2] 600-S300-54-[2] 600-5300-97-[1] 600-5300-54-[1] -
P24 600-5300-97-[1] 600-S300-97-[1] 600-5300-97-[1] 600-5300-68-[1] 600-5300-54-[1]
NOTES:

1)  BRACE POSTS LATERALLY AT SPACING MATCHING WALL O.C. STUDS PER DETAIL 03/CF301.

2)  POSTS TOA ALIGN DIRECTLY BELOW TRUSS, SLAB BEAM, OR POST ABOVE UNLESS OTHERWISE DIMENSIONED FROM A COLUMN LINE.

3)  POSTS MAY ACT AS O.C. STUDS WHEN THEY OCCUR AT O.C. STUD LOCATIONS.

4)  SEE DETAIL 13/CF301 FOR MULTI-MEMBER POSTS.

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

pnn ll'",”,

\ 1,
S

&N SSI g #
§ A &0u A /5
: ”é?i Sﬁ b2

% HGINESS S
1 e §
I/,,;14/ h) B\\\’\\\\‘\
Wt

FOR CONSTRUCTION

o

N

[
L]
(=21
[g¥e]
(/7
T

7,

CONSTRUCTION
DOCUMENTS

N\1/4

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION

2015-06-18 | BUILDING PACKAGE

BID DOCUMENTS
ii 2015-07-02 ADDENDUM #1

FWA PROJECT NO: 2420.02

SCO PROJECT NO: #12-10117-03A

KWK PROJECT NO: 13110

DRAWN BY: KPM

APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

MATERIAL
SCHEDULES

SHEET NUMBER

CF101




Z Z o “mm”
o O S . z|gE |= <
TOgs & N O Ow s | g3g 5 8 !
< Z = A & 1Ly — T | > Eas|a m O .
s FZog = oo it O - - @ Slog |z = SUEE5E
a —w e3> = SN Ly, 2 T w 7?23 |8 SRS QLLGaE
2 3 2% 2 STl 2 O i < S £R | 435[2 SME E60zze —
S £f£o 5 I K SN 2% (X , T X k= — S5 Tl o™ whesS5sE
00 o« M5 8 2 faiy AR - | @) O © 2 M R TExg=Q <
T Q0 O %5 98 ESIS L aRRi®E = ©) @ FZuzug e
<E 0o Z < ¢« umnnmowﬁ&.cmm .2 M Z = > N o| oaga502 o =
2 i G %a,8 EISIERBEISISE O 14 ¢ NS TE Eo |3 B EHEEETEE @) <
32, a8y N_ Erza 32y . oiaf Z T O=Z &6 &Z [ 2392 |3 o|g|S|¥|=| gEECEE S U_ i |
Quig o292 S £ T g m ENANCT, SRS rar (weSle |2 | B5wlced
DER Ry 15 55 €8 %H Ry O o O \ <X >0 wpE (533 |2 516|0| |a| 228522 |, 2l o
HnON EOW ~Y &I O %, AR LU E < ax|L |8 W |w| W Sw=5Z236 [ —1 T C S
09 wTI® US O T 3 s, N C L == o ) S[IS(3]x|8] x2£Q05 | &= )
Sze fIN Qo5 &R LT N Z 0 Dgp 22 o | $IR |R S|lg|g|m|l|z<itcl Bl W F— 5 1 2
%3 sfo Mo 2256 o O o< Gz 52 = SIEIEIZIR a2kcl 1) A 2 |5
BOR I ®) O D 1] > ¥ - < < <|0 W <|a %WDOHW o '®) <L W
m L QO RW zg mm”u < 1312 |5|%| £22535 |5 NNSTW )
(o)) ( IL

O O 0C

L L L
\u ..‘%mu.o— ..V\_——u.ﬂ \4 ..V\mmu.o— ..N..ﬂ— ...v-.w \4
|
|
|
.“_.._ N - ——— ey
2 7
o
o |
o o
. 5] | N
wi 2] |
. =
= 3 & £ g) |
=] £ [+ = ~ ,
T Q © 7
Q (=)
(V2] - m |
3 = : |
o
= ] y !
% =) e R il GRS S S —
2 w ¥ |
= 7] -
: S = |
e @ 7
: e)
= 2 x ,
o - [ w
= s - o |
o S = |
[+a] o T ~ o
- = = 8 S £ |
-— > =
22 S ¢§ B3 o |
, P~ ()
S B X « 9 v 3 ﬂmu |
E w — a s 8 N !
>
cwn 28 g3 ¢« - |
o = = a @ = m !
>
53 g4 S & ¢ |
— ¥ & e o f=} [
¢ 2= 28 58 |
% = 3 o W o] ,
w2 oS - 724 |
m L mm [ -
= M o - | ~
2 23 8 g 3 3
S 2 a . e ©° NS . 3
R ) o _ T~
% 2 o 2 =
o 35 o = = = 7
a8 © a = T < |
22 &2 &3 5 : |
2 o = ¥ KN wJ mW "y
Z o Z O o o a :o,.mu !
58 88 g8 8 & |
= = = = = = — — [
< < = < = < <
S 8 99 9 9 g9 9 f
S o S o S o Fa] | ©
= = = = = = = |
b1 - K - — - ORI IR R IR IR KOOI
J N

SHEET NOTES
-
3, EXXXRRXRRXRA

()

4
5
6.
7

17'-10%"

=

XXX

X

D
S

XXX
EXXXX

va>

&

h@

XD

Z%

XX
72

XXX

XXX

<X

0

XX

e

X

XXX

X

RRXRX
—= T
- —

Q

XX2

XX

%
] ] X K |
u .# X 1!
] _7_ X i
== ] i % i
5] 1 K3 b 0
2! nov. u&u |
~ I % &
- ks X
X %
K &
X %
q K
q % ]
d K
" K _z
A ks s
Ry ! n |
X X = =1
N & n il
A g & 7
J
» e T - - ] KRR R IRIR . .
d K ]
| (8] 7 J K
f v %
, K K
| @_ |
| o | I [
| __. 7 | | | i
| | n 0 i
1! _7_ X X _7 n
[ | | X K 1 | v
S ! M rse % & 1l [ /
z | o & R % i v | 1
| K3 K
, o n b K il |
d el
n | @ | 8 g ¥ v
£ , I i K & h] I .
iy _ K % : =
- | " e X [ >
Q K k g
~ | K % K
1 ~
| - % K N
1
I L .r
. L

XX

X2

X0

XX

RRXXRXXXD

7777//
//
pEsE

XXX

2

(XX

ez

A
SW52
A

XX

=N

= R

wi6

L

710"

L

LLI o O m <

10:lL GlOC-1Nr-20 ubp'NZ0Z 40AIX\S3ll4 QAVO\AIX 8SDUd DONN $£Z°¢10Z\EL0Z\S129(01d\Zz03ASa\\



Z Z o “mm”
o O S . z|gE |= <
TOgs & N O Ow s | g3g 5 8 !
< Z = A & 1Ly — T | > Eas|a m O .
s FZog = oo it O - - @ Slog |z = SUEE5E
a —w e3> = SN Ly, 2 T w 7?23 |8 SRS QLLGaE
2 3 2% 2 STl 2 O i < S £R | 435[2 SME E60zze —
S £f£o 5 I K SN 2% (X , T X k= — S5 Tl o™ whesS5sE
00 o« M5 8 2 faiy AR - | @) O © 2 M R TExg=Q <
T Q0 O %5 98 ESIS L aRRi®E = ©) @ FZuzug e
<E 0o Z < ¢« umnnmowﬁ&.cmm .2 M Z = > N o| oaga502 o =
2 i G %a,8 EISIERBEISISE O 14 ¢ NS TE Eo |3 B EHEEETEE @) <
32, a8y N_ Erza 32y . oiaf Z T O=Z &6 &Z [ 2392 |3 o|g|S|¥|=| gEECEE S U_ i |
Quig o292 ﬁ\‘v £ T g m ENANCT, SRS rar (weSle |2 | B5wlced
DER Ry 15 55 €8 %H Ry O o O \ <X >0 wpE (533 |2 516|0| |a| 228522 |, 2l o
HnON EOW ~Y &I O %, AR LU E < ax|L |8 W |w| W Sw=5Z236 [ —1 T C S
09 wTI® US O T 3 s, N C L == o ) S[IS(3]x|8] x2£Q05 | &= )
Sze fIN Qo5 &R LT N Z 0 Dgp 22 o | $IR |R S|lg|g|m|l|z<itcl Bl W F— 5 1 2
%3 sfo Mo 2256 o O o< Gz 52 = SIEIEIZIR azkcl 1n) QA 2 |5
BOR I ®) O D 1] > ¥ - < < <|0 W <|a %WDOHW o '®) <L W
m L QO RW zg %m_w < 1312 |5|%| £22535 |5 RNS_IW )
(o)) (@]

L L L L L
" = w /T n " ul ™ \m ...v-.w
A, 1 "£9-.01 To-s Y£9-.01 l L-8) |
|
W | | |
[ , 7
| \m/; > ,
[ _/\_, , 7
W | | |
[ , 7
. | | | |
u » — - - = \_.A S == == 7
3 |
o | ® N~
o
g B |
. o =
3 = = T I
2 S % = S
S o o 7
(V2] - m |
g £ : |
o
|
sz & ) F————sa
© w w
= T T ,
s 2 . |
z = 2 , ®
M o o |
£ 3 2 g . ,
D x S =) M |
® oS e = !
w . mw b w
- -— = =) (4 X B
22 3¢ Y o2 |
TR R ®
= = | . [%2} 2 = |
SH g 23 =< S |
—_ = — o |
2 3 x5 2 2
3° T w 235 3 W @
o M 5 .cl... m ] m |
Z O =)
= >
E Z o ¥ mw b
et = m — Y 172) | =
= 2 = X — ) = ,
f o 9 o 5 > =2 | = n I 1
S Z o |_ .m“._ o R __Y B M RIS RN Ilﬁlr -y -
- 22 282 3 = -
o o o = = oo = 7
[ LJ <
. P = = S ,
£ 2 3 g3 g " |
— — x
z S =z &5 &8 88 & TS |
1
58 88 g8 ¢ S & |
—= = _ = _ = —
< < = < = < <
S 8 99 9 9 g9 9 f
S o S o S o Fa] | ©
= 2 22 =2z = |
b1 -—k — - — - — — — - ORI

SHEET NOTES
-
3, EXXXRRXRRXRA

()

4
5
6.
7

17'-10%"

XX

XXX

XD

XXXX

XXX
EXXXX

va>

&

h@

XD

Z%

379
72

XX

XXX

0

+

X

X

XXX

X

RRXRX
—= T
- —

Q

XX2

XX

%
] ] X K |
u .# X 1!
] _7_ X i
== ] i % i
5] 1 K3 b 0
2! nov. u&u |
~ I % &
- ks X
X %
K &
X %
q K
q % ]
d K
" K _z
A ke s
Ry ! n |
X X = =1
N & n il
A g & 7
J
» e T - - ] KRR R IRIR . .
d K ]
| (8] 7 J K
f v %
| K K
| @_ |
| o | I [
| __. 7 | | | i
| | n 0 i
1! _7_ X X _7 n
[ | | X K 1 | v
S ! M rse % & 1l [ /
Z | (L N K o _7_ 0 ]
| K3 K
, o n b K il |
d el
n | @ | 8 g ¥ v
£ , I i K & h] I .
iy _ K % : =
- | " e X [ >
Q K k g
~ | K % K
1 ~
| - % K N
1
I L .r
. L

XX

X2

X0

XX

RRXXRXXXD

7777//
//
pEsE

XXX

2

(XX

ez

A
SW52
A
—

=N

= R

wi6

L

710"

L

LLI o O m <

10:lL GlOC-1Nr-20 ubp NS OZ 40AIX\S3ll4 QAVON\AIX 8SDUd DONN $£Z°¢L0Z\EL0Z\S129(01d\Zz03aSa\\



02-JUL-2015 11:01

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIV\CADD Files\xivCF204N.dgn

710"

‘ 10"-5%"
/ VAN

w1
N\

SHEET NOTES

4, SWXX

5_ _-— -

INDICATES INTENDED LOAD BEARING COLD FORM WALL BELOW.
INDICATES LOAD BEARING WALL CALL OUT, SEE CF101FOR LOAD BEARING WALL SCHEDULE.

INDICATES INTENDED COLD FORM SHEAR WALL BELOW.
INDICATES SHEAR WALL CALL OUT, SEE CF102 THROUGH CF103 FOR SHEAR WALL SCHEDULE.

INDICATES DESIGNATED BEAM, HEADER, OR GIRDER.
INDICATES BEAM, HEADER, OR GIRDER CALL OUT, SEE CF101FOR BEAM, HEADER, AND GIRDER SCHEDULE.

INDICATES POST CALL OUT, SEE CF101FOR POST SCHEDULE.

) 25'-8/%," " 17'- 2 " " 17'-10%" ; 10'-8%" ; 22-11%" - -1 .
| ‘ |
‘
w28 i< 09
B 7 G
Lo \ |
o

POOORXRXRKX

D@

2RI

SRR
(%]
=
<

XXXK]

2O

X2

RO

XXX

XXX]

XX KX

CRRRAXRRX

XX

XXX

TR

X0

XX

XXX

X2

|
=
8

XIOOOOERNXK

XX

XD

i@

SW37 W45

OO XXK

XXX K

KX

XXRKR

=

RXRXXXRX

XXX

x>

SW38 W45

EXXXX]

XXX

XXX

XXXXX

X

XX

®

|
!
i
!
!
4
|
'i
?
l
!

TS
[%2)
=
o
N

XXX KR XXX XRXRXRXRRD

XX

T
|
\
|
\
|
\
|
\
|
\
|
\
L
h
11}
I‘|
I
|

®
®

|
i
®

T3

XKD

X2

X

XXX

X2

m
ORRX

XXX

O

XXX

XD

&

b

|
'
i
i
¢
'
I
i

XX

XXX

x>

XX

X2

KRR

X

RXXXX

RXRXRX

O

EXXXXX

XX

ST |

X

-——
.
13'-7"

OXRXRXRRRXRR

XX

X

XXX

XX

XX

1329,

R

XXX

I%

XX

XX

XXX

O

RXXX

XD

CRXXXXX]

XXX

XD

RO

| eSS Y L e . i |
| @ | @ o - T e o w0 T e —‘___‘ ‘
\ \ | (H288 1288 1288 \ \ .
[ [ [ [ [ <
| (o) | | | 2
| | | | |
\ \ \ \ \
- — —— - — T — = — = — — — - —— = — - — = o = = — -t = — —— = — = -t = — = - — = —\
\ \ \ \ \ \ \
| —\ | 7\ | | —\ | |
> »la | | »la | B
L \_/ 27|_g|/4u L \_r/ L "I-4%6" L \_/ | |
i \ i \ \

® ©

& ©

O © ©

®

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

pnn ll'",”,

\) 4,
SRR R0 1,

s eerern,,
o v,
e

SR .
§ .-’2@2220”’

Yy %y
Ve ”éﬂ 13362

E—’ % 7.2.7 5 .."5-'
",:% A NEES. <,

XY A
0/',;14/ D . B\\\-:{\\\\\

Wt

FOR CONSTRUCTION

111y

inn

(7
I,, I]

o
p T Ll

CONSTRUCTION
DOCUMENTS

N\1/4

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION

2015-06-18 | BUILDING PACKAGE
BID DOCUMENTS

if 2015-07-02 ADDENDUM #1

FWA PROJECT NO:  2420.02

SCO PROJECT NO:  #12-10117-03A
KWK PROJECT NO: 13110

DRAWN BY: KPM

APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

4TH FLOOR
NORTH
STRUCTURAL
WALL PLAN

SHEET NUMBER

CF204-N




02-JUL-2015 11:01

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIVNCADD Files\xivCF205N.dgn

10"-5%"

710"

SHEET NOTES

4, SWXX

5_ _-— -

INDICATES INTENDED LOAD BEARING COLD FORM WALL BELOW.
INDICATES LOAD BEARING WALL CALL OUT, SEE CF101FOR LOAD BEARING WALL SCHEDULE.

INDICATES INTENDED COLD FORM SHEAR WALL BELOW.
INDICATES SHEAR WALL CALL OUT, SEE CF102 THROUGH CF103 FOR SHEAR WALL SCHEDULE.

INDICATES DESIGNATED BEAM, HEADER, OR GIRDER.
INDICATES BEAM, HEADER, OR GIRDER CALL OUT, SEE CF101FOR BEAM, HEADER, AND GIRDER SCHEDULE.

INDICATES POST CALL OUT, SEE CF101FOR POST SCHEDULE.

25'-8/%," . 17'- 2 " . 17'-10%" ; 10'-8%" ; 22-11%" ; -1 .

i i 7 7

| |
‘

W28 i< 09
a d (W09) .—>@
p | |

-5 - = — - — - —

POOORXRXRKX

D@

2RI

®

XXXK]

2O

X2

RO

XXX

XXX]

XX KX

RS

XX

XXX

TR

X0

XX

XXX

X2

|
=
8

XIOOOOERNXK

XX

XD

i@

SW37 W45

OO XXK

XXX K

KX

XXRKR

=

RXRXXXRX

XXX

x>

SW38 W45

EXXXX]

XXX

XRXXXK

XXXXX

X

XX

®

|
!
i
!
!
4
|
'i
?
l
!

SIS

KRR XRXARRIHXRRXRXRKRXRX

:I:
i
®

T
\
|
\
|
\
|
\
|
\
|
\
L
h

11}

I‘|

I
|

®
®

T3

XKD

X2

X

XXX

X2

m
ORRX

XXX

XX

XXX

X

XKD

X0

XXX

IR

|
'
i
i
¢
'
I
i

XX

XXX

x>

x>

XD

X2

KRR

X

RXXXX

RXRXRX

O

EXXXXX

XX

ST |

X

-——
.
13'-7"

OXRXRXRRRXRR

XX

X

XXX

XX

XX

O

R

XXX

I%

XX

XX

XXX

O

XX

R

XD

CRXXXXX]

XXX

RO

| S e a | — T — v |
| @ | @ L e o 0T T e o o w0 T e —‘___‘ ‘
| | | (288 H288 H288 | | .
[ [ [ [ [ <
| > | | | 2
[ [ [ [ [
\ \ \ \ \
- — = — = — = — = — - — = — = — = — = -+ — = — - — = - = — = — ] —_—t = — = — = — = — = — = -t — = — = — == —X

\ \ \ \ \ \

(W27) >t 1 (W09 1 > 1 {w28) " i

\_/ 27|_g|/4u "L \_r/ L "I-4%6" "L \_/ T i

® ©

& ©

O © ©

®

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

pnn ll'",”,

\) 4,
SRR R0 1,

s eerern,,
o v,
e

SR .
§ .-’2@2220”’

Yy %y
Ve ”éﬂ 13362

E—’ % 7.2.7 5 .."5-'
",:% A NEES. <,

XY A
0/',;14/ D . B\\\-:{\\\\\

Wt

FOR CONSTRUCTION

111y

inn

(7
I,, I]

o
p T Ll

CONSTRUCTION
DOCUMENTS

N\1/4

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION

2015-06-18 | BUILDING PACKAGE
BID DOCUMENTS

if 2015-07-02 ADDENDUM #1

FWA PROJECT NO:  2420.02

SCO PROJECT NO:  #12-10117-03A
KWK PROJECT NO: 13110

DRAWN BY: KPM

APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

5TH FLOOR
NORTH
STRUCTURAL
WALL PLAN

SHEET NUMBER

CF205-N




Suite 201

NC Certificate of Licensure C-1863

Charlotte, NC 28204
7043333122 ®704.333.8252

CHARLOTTE, NORTH CAROLINA 28203
1347 Harding Place

704 | 332-7004
D #10 Palmetto Business Park

BSALE

Hilton Head Island, SC 29928
DESIGN ENGINEERING

[l 500 EAST BOULEVARD
843 | 785-2199

FOR CONSTRUCTION

#12-10117-03A

2420.02
13110

KPM

AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT

MANUAL ARE INSTRUMENTS OF SERVICE
WRITTEN CONSENT IS PROHIBITED.

THESE DRAWINGS AND THE PROJECT

FWA PROJECT NO:
SCO PROJECT NO:
KWK PROJECT NO:
DRAWN BY:
APPROVED BY: WDB
SHEET TITLE

SHEET NUMBER

2 W
o) &2 . z|22 %
S o Elow|=
— > a|F3 3
T T — - o |2
Z = Tw D, | 3233
SETT < EE zQ | 8352
> T k5 5893
R M LL > Z WW 5
L —
- - PNV SE OM Zhe Emm m
C X > 0O oy S| |o
(7p) O uw E< U 1552 |2
Z0 Og 22 25 |58 R
O @l bz 3
O D w T > P ¢ M A_
O o 355 §&6 L=
e e b —

12'- 113"

L

12'- 113"

L

17-_1|/4u

L

" 17'-29,"

17'- 2% "

291"

17-29,"

17-_ 1|/4u

410"

XXX

>

XXXXKX

XD

XXX

X2

RXXX

4

2

X2

J-----_I

S

SW22

ROXXX

e
ST

XX

XX
RXRD

3.

STSTS

ZS
3.

R
XX

XX

XXX
X2

XX

o

3

XX

X

a>,
X

&
X

R

79

XXX

XX

XXX

XX

X0

X2

TaTSTe,

CXXR2

XX

XX

XX

XXX

XXX

XXX

ATeTATAT¢
XAX2

x>

XX

X2
X2

<

»

<

»

17'-2V "

RRXRXRXXN

XX

XD

XX

X

XX

XX

RXRXRXD

XXX

XX

XX

X0

vav,
XXX

XKD

PO

XXXXXXN
P

W47

X0

'@
Vl‘

O

»

XX

2

(X

avay,

XX

XXX

2

X2

O

X

o

XK
XX

2

XRXX

RN

XX

TR

XX

R e \

y
A

<

>

7%

CRRAXRRXRX

X

TR

XX

XX
RAXXXXX

XX

X2

x>

SW05
SW06

XX

ERXRXRRRXRRXD
RXX

a>

X2

XXX

XXX

XX

CRXRAXXXD

XRRXXRXX

OO

RO

XXX

CRXRXA

TaTaTeTSTS

XX

XXXX
XRRXXRRX

XX

X0

2

- T —

'
Vl‘

Demn = =

-5

L

- —

XXX

XRRXX

L 10*-10" T 9-0%" ’ 12-7%" r 12113 T 12'-113" "

Swi2

R

X2

T2

X

XXNA
KX

XX

SXRXRXAD

XRRRXRXRRXX

T2

RXXXX

X2

XX

X

OO

$1476,

XXXA

XXXA

rave

TR

XX

XXXX

X2

XX

>

5ZS

X2
XK

O

XX
XX

X

XX

XXX

XX

XX
XX

X2

X

TR

X2

XX
.

X2

XX
XXX

B>

= ol - =

= P

.

..N..M.—

..a\m@..w\\ o

:.v..w

STRUCTURAL

5TH FLOOR
WALL PLAN

SOUTH

A

INDICATES LOAD BEARING WALL CALL OUT, SEE CF101FOR LOAD BEARING WALL SCHEDULE.
INDICATES SHEAR WALL CALL OUT, SEE CF102 THROUGH CF103 FOR SHEAR WALL SCHEDULE.
INDICATES BEAM, HEADER, OR GIRDER CALL OUT, SEE CF101FOR BEAM, HEADER, AND GIRDER SCHEDULE.

INDICATES INTENDED LOAD BEARING COLD FORM WALL BELOW.
INDICATES POST CALL OUT, SEE CF101 FOR POST SCHEDULE.

INDICATES INTENDED COLD FORM SHEAR WALL BELOW.
INDICATES DESIGNATED BEAM, HEADER, OR GIRDER.

&

3. EXXXXXXXXXK

®

SWXX

SHEET NOTES

5.

10:lL GlOC-1Nr-20 ubp-SGOZ 40AIX\Sall4 QAVON\AIX 8SDUd DONN $£Z°¢L0Z\EL0Z\S¥29(01d\Zz03ASa\\



02-JUL-2015 11:01

Partial Plan Above

PLAN ABOVE

SHEET NOTES

5.

:~J

17'-10%"

INDICATES INTENDED LOAD BEARING COLD FORM WALL BELOW.
INDICATES LOAD BEARING WALL CALL OUT, SEE CF101FOR LOAD BEARING WALL SCHEDULE.

INDICATES INTENDED COLD FORM SHEAR WALL BELOW.
INDICATES SHEAR WALL CALL OUT, SEE CF102 THROUGH CF103 FOR SHEAR WALL SCHEDULE.

INDICATES DESIGNATED BEAM, HEADER, OR GIRDER.
INDICATES BEAM, HEADER, OR GIRDER CALL OUT, SEE CF101FOR BEAM, HEADER, AND GIRDER SCHEDULE.

INDICATES POST CALL OUT, SEE CF101FOR POST SCHEDULE.

10°-8%" 22" 11" -1

I

A

XX

<X]

XD

X0

(XD

XX

e

XXX

SRR

XX

&

TSTR

XXX

2

2N

RXKRS

RN

Z%
QXXX

2OOXKX

X

X

XXX

OO

XXX

XX
XX

KD

<

R RARXRRRRRXNR

XX

TS

XX

TSTS

XX

X

2

XXX

XX

C

CXRXXXRX

XXX

XXX

>

I

x]

x>

TeTe

X2

vavava

XX
XX

XXX
XXX

ST
28

COXXXX

XX

4

NN

XX

AT

TSR

<

XXX

T2

XX

vava:

O

X

O

X

XX

X2

Z%
XXX

XXX

RXXXRRX
XXX

XX
OO

XXX
X

X

POC

RE: PARTIAL _ "+

XXX

X

T2

SXXXRXX

XXX

.

ravav

XX

XX

XX

5T

CXXXX

Z2

RXXXX

EXXRXXX

X

CRRXRXRRX

2

¢

® ©

SOOI

X

XXX

XD

X

XX

o p—
®
13'-7"

O

X

XX

o

O

XX

XXX

T

X

2

XXX

XXX

I52

— 4443(,

X002 X

<

X

XXX

XX

O

XX

&

X

XD

XX

XX

XX

POOKRRXK

Y
A

®

A

O O

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

pnn ll'",”,

\} 4,
o Q\\\:\‘ CARy / '/,,,,

SR .
§ .-’2@2220”’

Yy %y
Ve ”éﬂ 13362

—ﬁ"". 142-/ S~

"'z,,/z ~ W) Ni‘c‘f;..-’\h\‘
%</ 8
T

LT

111y

inn

(7
I,, I]

o
p T Ll

FOR CONSTRUCTION

CONSTRUCTION
DOCUMENTS

N\1/4

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION

2015-06-18 | BUILDING PACKAGE
BID DOCUMENTS

if 2015-07-02 ADDENDUM #1

O © ©

i
i
i
j
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
44444%4444444
|
|
|

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIV\CADD Files\xivCF206N.dgn

FWA PROJECT NO: 2420.02

SCO PROJECT NO: #12-10117-03A

KWK PROJECT NO: 13110
DRAWN BY: KPM
APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

ROOF

NORTH
STRUCTURAL
WALL PLAN

SHEET NUMBER

CF206-N




02-JUL-2015 11:01

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIV\CADD Files\xivCF301.dgn

4

PIECE OF STUD w/
MATCHING WIDTH

& THICKNESS x 1'-0"
LONG @ SPLICE

TOP OR BOTTOM
TRACK

ALTERNATE WELD CONNECTION
t = THICKNESS OF THINNER PART (UNO)

(4)-+12 SCREWS e
EA. SIDE OF SPLICE

INDEXED STUDS, INSTALL STUDS

SO THIS DIMENSION IS THE

SAME ALONG BOTTOM TRACK. U

MAY ALSO OCCUR ALONG TOP /2" MIN.
TRACK WHEN APPROPRIATE. EDGE DIST.
(FOR BRIDGING ALIGNMENT)

(2)-0.157" DIA. HLTIX-U PAF'S

NOTE: SET ALL STUDS ' (OR EQUAL) AT EACH SIDE OF
TIGHT TO WEB OF TRACK. SPLICE, MIN. SPACING 4"
(TYP.) (TOP & BOTTOM) ()-+12 SCREW e BETWEEN PAF'S

EACH STUD FLANGE

(BOTH SIDES) Into Concrete

Typical Detail @ Track Splices

01 Typical Stud-To-Track Connection No Scale 03 T

150U50-54 COPE FLANGES AND
INSTALL TO BOTH SIDES OF
STUD @ INTERIOR WALL OR TO
THE INTERIOR SIDE OF AN

EXTERNAL WALL.

(1) *12 SCREW

NOTE:

1. STUD BRACING MUST BE ATTACHED TO JAMBS, POSTS & END STUDS
(ALL ACTING AS BRIDGING ANCHORS) TO PREVENT HORIZONTAL MOVEMENT.

2. WHERE BRACING IS INTERRUPTED BY STRUCTURAL STEEL COLUMNS,
ATTACH w/ 16 GAUGE CLIP ANGLE w/ (2) *12 SCREWS TO BRIDGING AND
(2) PAFs TO COLUMN.

INSTALL CLIP ANGLE w/
VERTICAL LET TOWARDS
CHANNEL FLANGES AT ALL
PANEL END STUDS.

16 GAUGE CLIP ANGLE ATTACHED TO

e EA STUD (TYP. STUD & CHANNEL w/ (2) *12° SCREWS
EA.STUD (TYP. AS SHOWN. LENGTH TO BE /" LESS
THAN STUD DEPTH.
150U50-54 BRIDGING @ SPACING
INDICATED IN WALL SCHEDULE
TYP.STUD BRACING SPLICE USE:
(1) 150U54 x 12" LONG INVERTED
OVER CENTER OF SPLICE w/ (3)
*12 SCREWS ON EA. SIDE OF SPLICE.
U-Channel Replacement @ Field Cut CRC Stud Bracing Detail w/ Splice

+ >
b|g
+ + o+ +
4" MIN.
Section A-A Section A-A Section A-A
I e e
! 1 (1) 0.157" DIA. HILTIX-U UNIVERSAL ! 1 (2) 0.157" DIA. HILTIX-U UNIVERSAL ! 1 (2) 0.157" DIA. HILTIX-U UNIVERSAL
< ; | KNURLED SHANK POWDER ACTUATED < ; | KNURLED SHANK POWDER ACTUATED < ; | KNURLED SHANK POWDER ACTUATED
& | | FASTENER WITH 1" MIN. EMBEDMENT & ‘ | FASTENERS WITH 1" MIN. EMBEDMENT < ‘ | FASTENER WITH 1" MIN. EMBEDMENT
| | (OR EQUAL) AT EACH INTERIOR | (OR EQUAL) AT EACH INTERIOR JAMB. | | (OR EQUAL) AT EACH EXTERIOR
| / WALL STUD. / | '/ WALL STUD.
| | |

3" MIN.

Interior Stud Bottom Track Interior Jamb Bottom Track Exterior Stud Bottom Track

06 Typical Bearing Wall Bottom Track Connection

ical On-Center Stud Bracin

Section A-A

A-A
—

(1) %" DIA. HILTIKWIK-HUS EZ SCREW
ANCHOR WITH 134" NOMINAL EMBEDMENT
(OR EQUAL) AT EACH EXTERIOR JAMB.

 PANEL A | PANEL B

|~

FIELD NOTE: 150U50-54
BRIDGING SPLICE (12"
LONG MIN.) INSTALLED
w/ (3) *12 SCREWS
PER SIDE. SPLICE IS
REQUIRED AT ALL
PANEL BREAKS OF

CONTINUOUS WALL TYPES.

_/l,_

Bridging Continuation Detail

4" MN.

Section A-A

S,

”/
(2) *12 SCREWS AT EA STUD/
INSTALL BEFORE POURING

—
v-v

CONCRETE FLOOR SLAB.

3" MIN.

Exterior Jamb Bottom Track

Typical Bearing Wall

DOVETAL PROFILE
METAL DECK

No Scale

No Scale 08 TOE Track Connection No Scale

600-T200-68 x 5" LONG

CONTINUOUS TRACK
@ TOP & BOTTOM

FULL LENGTH HEADER STUDS
PER OPENING SCHEDULE
(UNPUNCHED)

JAMB MEMBER PER COLUMN (4)
OF WALL OPENING SCHEDULE.

(1) #12 SCREW @ 24" 0.C. &

NEAR ENDS (EACH SIDE) (TYPICAL) PASTEN HEADER TO TRACK SECTION

WITH *12 SCREWS INTO TRACK FLANGES.
FASTEN TRACK SECTION TO JAMB

WITH *12 SCREWS INTO TRACK WEB.
QUANTITY OF SCREWS PER COLUMN (5)

CRIPPLE STUDS TO MATCH THE N OF WALL OPENNG SCHEDULE.

DEPTH, SPACIG, AND mucmess\ S L

OF THE WALL TYPE. JAMB MEMBER PER COLUMN (4)
OF WALL OPENNG SCHEDULE.

PER ANGLE LEG.

— 16 GAUGE CLIP ANGLE ATTACHED TO
L HEAD/SILL & JAMB w/ (2) *12 SCREWS

S HEAD AS REQURED PER COLUMN

(3) OF WALL OPENING SCHEDULE

(SILL SIMILAR),
SEE WALL OPENING SCHEDULE FOR
HE%/EILL lgElﬁBE%NS* '\(‘ZOC;JNSECTION.
(1) *12 SCREW @ EACH CRIPPLE HEAD/SILL | INUOU
STUD (TYP.) (EACH SIDE) MEMBER, NO SPLICE.
Detail at Head /Sill Connection

11 Load Bearing Box Header No Scale 12 ToJamb at Wall Opening No Scale

FULL LENGTH HEADER STUDS SUPPORT HOIST BEAM ON —

PER OPENING SCHEDULE
(UNPUNCHED)

600-5162-43 KING STUD AT
EACH SIDE OF HOIST BEAV.
TYP. EA. END. PROVIDE HOIST
. BEAW SUPPORT FRAMING IN
AR @ EA ADDITION TO ANY OTHER REQD.
COLD FORM METAL FRAMING

600-S162-54 STIFFENER STUDS
SET TIGHT TOP & BOTTOM
FLANGE OF HEADER MEMBERS

4-600-5162-43 JACK STUDS ™
w/ 600-S200-43 TOP TRACK.
PROVIDE A FULL HEIGHT

|_—— W8xi8 ELEVATOR HOIST

BEAM COODINATE WITH
ELEVATOR MANUFACTURER

1 6 Header Stiffener Detail No Scale 1 "7 Hoist Beam SuEE()rt No Scale

1 3 Multi-Member Post Detail

No Scale

- -

o -

H—t

w“m m

STRONGBACK ——|_

o -y

{ |
DETAL "B"
SM.
H——H
DETAL “A"

%z =+

TYP. 0.C.
" WAL STUD

DETAL "8"

am m

Typical Wall Elevation With Strongback

05 Strongback Details

6005162-54 STRONGBACK STUD
CUT LENGTH 15" LESS
THAN 0.C. STUD

STUD WALL TRACK
(2) *12 SCREWS STUD

¥," MIN. PROJECTION PAST TRACK FLANGE TO
EDGE OF STUD TRACK FLANGE STRONGBACK WEB
(TOP & BOTTOM)

Detail "B": Typical Strongback To Stud Track Connection

16 GAUGE LONG
CLIP ANGLE

(3) *12 SCREWS
(3) *12 SCREWS TO U-CHANNEL

TO STRONGBACK
150U50-54 BRIDGING
U-CHANNEL

600S162-54
STRONGBACK
STUD

Detail "A": Typical Strongback To Bridging Connection

No Scale

CONTINUOUS 600S250-97

Top
]_O At Top of 5th Floor No Scale

< @ EA WALL STUD

L~

TOP TRACK TO MATCH THE WIDTH OF,
L AND MEET OR EXCEED THE THICKNESS
I AND YIELD STRENGTH OF, WALL STUDS.
TOP TRACK MINIMUM THICKNESS TO

P BE 54-ML. TOP TRACK MINIMUM YIELD
‘ \_ STRENGTH TO BE 50 KSI.

WALL STUD

PER SCHEDULE

Track Detail

MASONRY VENEER
RE: ARCH.

BRICK SUPPORT ANGLE
L5x5x% CONT. (GALV.)
SEE 05/5401

FOR ATTACHMENT.

AN\

METAL STUD

RE: PLAN

ALIGN INSIDE FACE

w/ INSIDE FACE BELOW

'/," DIA. DEFORMED DOWEL
BAR ANCHOR e 24" 0.C.
RE: 05/5401

FOR ATTACHMENT.

CONC. SLAB

2'-0" MIN.

METAL STUD
RE: PLAN

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

%7 HENES S8
0, S 7 g et N
’,I,' ;1 4/ D_ \\\’\{\\\\\

’, \
Wt

FOR CONSTRUCTION

CONSTRUCTION
DOCUMENTS

\

Wz

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

MARK

DATE
(YYYY-MM-DD) DESCRIPTION

2015-06-18 | BUILDING PACKAGE
BID DOCUMENTS

AN

2015-07-02 ADDENDUM #1

1 2

3

FWA PROJECT NO: 2420.02

SCO PROJECT NO: #12-10117-03A

KWK PROJECT NO: 13110

DRAWN BY: KPM

APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

TYPICAL DETAILS

SHEET NUMBER

CF301




02-JUL-2015 10:59

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIV\CADD Files\xivS002.dgn

STRUCTURAL STEEL

1.

STRUCTURAL STEEL SHALL BE FABRICATED AND ERECTED ACCORDING TO THE "LOAD AND RESISTANCE FACTOR DESIGN SPECIFICATION FOR
STRUCTURAL STEEL BUILDINGS" AND THE AISC "CODE OF STANDARD PRACTICE FOR STEEL BUILDINGS AND BRIDGES".

SUCTURAL NOTE

COLD-FORMED STEEL FRAMING - CONT'D.

6.  CONNECTIONS OF COLD-FORMED STEEL FRAMING TO CONFORM TO THE FOLLOWING:

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

willitigy,

A\ 1

o CARQ, ",
\\‘\ Q\\\'\'_..........g{ / 4/4”/,’

SR

& N tSS g

Y
205 i §
$

5 . d~

/(( '-.,'_54’ Gl NFS‘Q:_..-"' .\\s
*oteanigupened® \)

”l/,,/f Y p e \\\'\{\\‘\\

Y

\\U
)
o

"
gt

FOR CONSTRUCTION

CONSTRUCTION
DOCUMENTS

\

Wz

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION

2015-01-06 BID DOCUMENTS

2015-06-18 | BUILDING PACKAGE

2015-07-02 ADDENDUM #1

& BID DOCUMENTS

6.1 ALL WELDED CONNECTIONS TO BE PERFORMED IN ACCORDANCE WITH THE LATEST VERSION OF AWS D1.3 “SPECFICATIONS FOR WELDING
2. STRUCTURAL STEEL SHALL BE OF THE FOLLOWING GRADE UNLESS NOTED OTHERWISE ON DRAWINGS: SHEET STEEL IN STRUCTURES”. CONSULT AWS D19.0 “WELDING ZINC COATED STEEL" & ANSISTANDARD Z49.1FOR INFORMATION REGARDING
SAFE WELDING PROCEDURES. ALL WELDS ARE TO BE TOUCHED-UP WIHT A RUST INHIBITIVE GALVANIZNG PANT.
21 W-SHAPES SHALL CONFORM TO ASTM A992, GRADE 50. (ASTM A572, GRADE 50 MAY BE SUBSTITUTED FOR ASTM A992.
6.2 SUGGESTED WELD METAL & PROCESS FOR SHOP WELDING ARE: 6OKSIWELD METAL STRENGTH (MNIMUM). SUGGESTED METHODS FOR
2.2 SQUARE/RECTANGULAR HOLLOW STRUCTURAL SECTIONS (HSS) SHALL CONFORM TO ASTM A500, GRADE B. FIELD WELDING: " (UN.0.) E70XX_(MINMUM) ELECTRODE - SMAW: OR "GASLESS" MIC. MNIMUM WELD THROAT THICKNESS (1) MUST
MATCH OR EXCEED THE BASE STEEL THICKNESS OF THE THINNEST CONNECTED PART (UN.O.).
2.3 ROUND HOLLOW STRUCTURAL SECTIONS (HSS) SHALL CONFORM TO ASTM ASO1OR ASTM AS00, GRADE B.
6.3 AL SCREWS SHALL BE OF THE DIAVETER & SIZE INDICATED ON THE DRAWINGS & SHALL BE THOSE MANUFACTURED & TESTED BY GRABBER
2.4 PLATE SHALL CONFORM TO ASTM A36 UNLESS NOTED OTHERWISE. ITW BULDEX, OR APPROVED EQUIVALENT. A MNMUM OF 15 x SCREW DIAVETER EDGE DISTANCE & 3 x SCREW DIAVETER SPACING IS
REQUIRED (UN.0.).
25 OTHER STEEL SHAPES (CHANNELS AND ANGLES) MAY CONFORM TO ASTM A36.
6.4 SCREW PENETRATION THROUGH JOINED MATERIALS SHALL NOT BE LESS THAN THREE EXPOSED THREADS.
3. BOLTS,RODS, ANCHORS AND HEADED STUDS:
6.5 SELECT SCREW WITH AN ADEQUATE CUTTING TP TO ACCOMODATE THE TOTAL THICKNESS TO BE DRILLED. DRLLING MUST BE COMPLETED
31 ALL CONNECTIONS SHALL BE SNUG TIGHT WITH A MNMUM ;" DIAMETER A325 HIGH-STRENGTH BOLTS. BEFORE THE THREADS ENGAGE THE MATERIAL.
32 ANCHOR RODS SHALL CONFORM TO ASTM F1554, GRADE 36, UNLESS NOTED OTHERWISE. 6.6  WHERE SCREW ATTACHMENTS ARE MADE TO FRAMING COMPONENETS OF DIFFERENT THICKNESS, THE THINNEST COMPONENT MUST BE
PENETRATED FIRST.
3.3 EXPANSION ANCHORS SHALL BE HLTIKWK BOLT 3 ANCHORS SUPPLIED BY HILTIFASTENNG SYSTEMS, TRUBOLT WEDGE ANCHORS
SUPPLIED BY ITW RAMSET/RED HEAD, POWER-STUD ANCHORS SUPPLIED BY ~POWERS FASTENING, OR APPROVED EQUAL.INSTALL IN 6.7 AL SCREWS WITH HEADS TO BE COVERED BY DRECTLY-APPLIED WALL SHEATHING TO HAVE LOW PROFILE HEADS.
ACCORDANCE WITH THE_ MANUFACTURER'S RECOMMENDATIONS. MNMUM EMBEDMENT SHALL BE EQUAL TO 6 TMES THE
ANCHOR DIAVETER, UNLESS NOTED OTHERWISE. 7. PRODUCT IDENTIFICATION:
3.4 ADHESIVE ANCHORS SHALL CONSIST OF AN ALL-THREAD STEEL ANCHOR WITH HIT-RES00 MAX INJECTION ADHESIVE (HIT HY20 INJECTION 7.1 THE AMERICAN IRON AND STEEL INSTITUTE STANDARDS ARE USED IN THIS PACKAGE. ANY MANUFACTURER WHOSE PRODUCT GEOMETRIES
ADHESIVE FOR MASONRY CONSTRUCTION WITH VOIDS) SUPPLIED BY HILTIFASTENING SYSTEMS, EPCON SYSTEM CERAMC 6 EPOXY MEET OR EXCEED ASISTANDARDS ARE ACCEPTABLE.
ADHESIVE SUPPLIED BY ITW RAMSET/RED HEAD, POWER-FAST EPOXY INJECTION GEL SUPPLIED BY POWERS FASTENNG, OR APPROVED
EQUAL.INSTALL IN_ACCORDANCE WITH THE MANUFACTURER'S RECOMMENDATIONS. MINMUM EMBEDMENT SHALL BE EQUAL TO 6 7.2 MEMBER IDENTIFICATION:
TIMES THE ANCHOR DIAVETER, UNLESS NOTED OTHERWISE.
35 HEADED STUDS SHALL BE %" DIAVETER, UNLESS NOTED OTHERWISE, AND SHALL CONFORM TO AWS DL.LLENGTH OF STUD SHALL BE AS 600 S 1672 - 54
FOLLOWS UNLESS NOTED OTHERWISE ON THE DRAWING:
3 WEB SizZE —) L THCKNESS (MLS)
COMPOSITE BEAMS: 5% LONG HEADED STUDS (LENGTH BEFORE WELDING)
MISCELLANEOUS EMBEDS: SEE CONTRACT DRAWINGS JEVBER TYPE LANGE SIZE
4. CONNECTIONS SHALL BE DETALED BASED ON THE DESIGN INFORMATION PROVIDED IN THE CONTRACT DOCUMENTS. DEVIATION FROM THE
CONNECTION DETALS DEPICTED IN THE CONTRACT DOCUMENTS SHALL NOT BE PERMITTED WITHOUT WRITTEN PERMISSION FROM THE
STRUCTURAL ENGINEER. 7.3 THE LAST TWO NUMBERS INDICATE THE STEEL THICKNESS:
41 STANDARD SHEAR CONNECTIONS SHALL BE DETALED AS DOUBLE-ANGLE, SNGLE-PLATE, SINGLE-ANGLE, OR TEE CONNECTIONS IN
ACCORDANCE WITH CONNECTION TABLES IN THE "MANUAL OF STEEL CONSTRUCTION: LRFD", SECOND EDITION, VOLUME Il, PART 9. CAUGE DESIGN VINNOM AS|
42 FOR WELDED CONNECTIONS, USE PREQUALIFIED WELDED JOINTS IN ACCORDANCE WITH ASC AND THE STRUCTURAL WELDING CODE OF 8 0.0451" 0.0428" 43 MILS
THE AMERICAN WELDING SOCIETY. "NON-PREQUALIFIED JOINTS" SHALL BE QUALIFIED PRIOR TO FABRICATION,
16 0.0566" 0.0538" 54 MLS
4.3 FACTORED DESIGN REACTIONS SHALL BE AS SHOWN ON THE STRUCTURAL DRAWINGS OR,IF NOT SHOWN, THE FACTORED DESION
REACTION SHALL BE HALF OF THE MAXIMUM FACTORED UNIFORM LOAD TABULATED IN THE "MANUAL OF STEEL CONSTRUCTION: LRFD", " 0.0713" 0.0677" 68 MLS
SECOND EDITION, VOLUME |, PART 4.
4.4 STEEL CONNECTIONS NOT SPECIFICALLY DETALED ON THE STRUCTURAL DRAWINGS SHALL BE DESIGNED BY THE CONTRACTOR. THIS ” 01017 0-0966 97 LS
DESIGN SERVICE SHALL BE INCLUDED IN THE CONTRACTOR'S SCOPE OF SERVICES. SHOP DRAWINGS AND CALCULATIONS OF SUCH 0 0.1042" - 18 MLS
CONNECTIONS SHALL BE SEALED BY AN ENGINEER LICENSED IN THE PROJECT STATE.REVEW DOES NOT RELIEVE THE CONTRACTOR OF
THE FULL RESPONSIBLITY FOR THE DESIGN AND ADEQUACY OF SUCH CONNECTIONS. FOR CONNECTION DETALS DEPICTING ARRANGEMENT
CONCEPT OF THE CONNECTION WITHOUT COMPLETE DETALS, THE CONNECTION DESIGN ENGINEER SHALL FOLLOW THAT ARRANGEMENT
CONCEPT IN THE DESION.
5. COMPOSITE FLOOR MEMBERS ARE DESIGNED TO BE UNSHORED UNLESS OTHERWISE NOTED. THE WEIGHT OF THE WET CONCRETE WILL RESULT
N DEFLECTIONS OF THE SUPPORTING STEEL DECK, BEAMS, AND GIRDERS. ALL OVERRUNS OF CONCRETE QUANTITIES ARE TO BE ANTICIPATED
AND INCLUDED N THE CONTRACTOR'S BID. THE CONTRACTOR SHALL COORDINATE EMBEDDED ITEMS REQURED FOR ARCHITECTURAL,
STRUCTURAL, AND MECHANICAL ELEMENTS. CONCRETE FLOORS UTILIZNG UNSHORED CONSTRUCTION SHALL BE SCREEDED LEVEL.
6.  THE CAMBER OF STEEL MEMBERS SHALL BE VERFIED IN THE SHOP AND THE FIELD PER THE SPECIFICATIONS.
7. STRUCTURAL STEEL EXPOSED TO WEATHER SHALL BE GALVANIZED, UNLESS OTHERWISE DIRECTED BY THE ARCHIECT.
COLD-FORMED STEEL FRAMING
. AL 54-ML AND HEAVIER MEMBERS SHALL BE FORMED FROM STEEL CORRESPONDING TO THAT LISTED IN THE ASI"SPECIICATION FOR
THE DESIGN OF COLD-FORMED STEEL STRUCTURAL MEMBERS", WITH A MINMUM YIELD STRENGTH OF 50 KSI(UN.0.).
2. ALL 43-ML AND LIGHTER MEMBERS SHALL BE FORMED FROM STEEL CORRESPONDING TO THAT LISTED IN THE ASI"SPECIFICATION FOR
THE DESIGN OF COLD-FORMED STEEL STRUCTURAL MEMBERS", WITH A MINMUM YIELD STRENGTH OF 33 KSI(UN.0.).
3. ALL MEMBERS SHALL BE FORMED FROM STEEL WITH A G9O COATING.
4. ALL DEFLECTION CLIPS,RIGID CLIPS, AND ANGLES TO BE 50 KSI(UN.0.).
5. INSTALLATION OF COLD-FORMED STEEL FRAMING TO CONFORM TO THE FOLLOWNG:
5.1 ALL FRAMNG COMPONENTES SHALL BE CUT SQUARELY FOR ATTACHMENT TO PERPENDICULAR MEMBERS OR AS REQURED
ON ANGULAR FIT AGANST ABUTTING MEMBERS. MEMBERS SHALL BE HELD POSITIVELY IN PLACE UNTIL PROPERLY FASTENED.
52  TEMPORARY BRACING SHALL BE PROVIDED & REMAN IN PLACE UNTIL THE STRUCTURE IS COMPLETELY STABILIZED.
TEMPORARY BRACING IS THE RESPONSIBILITY OF OTHERS.
5.3 ALL FIELD CUTTING OF STUDS MUST BE DONE BY SAWING OR SHEARNG. TORCH CUTTING OF COLD-FORMED STEEL MEMBERS
IS NOT PERMITTED.
5.4 WHEN REQURED FOR BRDGING PURPOSES, THE FRAMNG FABRICATOR IS TO ENSURE PUNCH OUT ALIGNMENT WHEN ASSEMBLING
FRAMNG & FIELD CUTTING STUDS TO LENGTH. REFER TO TYPICAL STUD/TRACK CONNECTION & INDEXING DETAL.
55 NO SPLICING IN STUDS, JOISTS, OR OTHER LOAD CARRYING MEMBERS MAY BE MADE WITHOUT PRIOR ENGINEERING REVIEW &
SPECIFIC DETALS FOR ANY SUCH SPLICE(S).
56 NO FIELD CUT HOLES OR NOTCHNG/COPING OF COLD-FORMED MEMBERS IS ALLOWED, UNLESS SPECIFICALLY DETALED.
5.7 WAL BRIDGING MEMBERS ARE STRUCTURAL COMPONENTS. ANY CUT OR DAMAGED BRIDGING MEMBERS MUST BE PROPERLY REPARED
AS INDICATED.
5.8 WHERE SPLICING OF WALL TRACK IS NECESSARY BETWEEN STUDS, A PIECE OF STUD SHALL BE PLACED IN THE ADJOINING TRACK
SECTIONS & FASTENED TO THE TRACK FLANGES AT BOTH SDES OF THE WALL OR THE TRACKS SHALL BE BUTTED TIGHT TOGETHER
& FASTENED TO STRUCTURE EITHER SIDE OF JOINT.
5.9 MECHANICAL BRIDGING, SPACED AT INTERVALS SHOWN WITHN THE STRUCTURAL DRAWINGS, SHALL BE INSTALLED PRIOR TO THE
ATTACHMENT OF FACING MATERIALS.
510 INSTALLATION OF SHEATHING, WALLBOARD, OR ANY OTHER COLLATERAL MATERIAL SHALL BE PERFORMED IN ACCORDANCE WITH THE
PRODUCT MANUFACTURER'S SPECIFICATIONS, THE CURRENT ASTM STANDARD AND/OR GUIDELINES OUTLINED IN THE CONTRACT DOCUMENTS.
5.1 ALL TRACKS USED IN COMPOSITE MEMBERS SUCH AS TRUSSES, POSTS, HEADERS & JAMBS MUST BE INSTALLED AS A SINGLE PIECE:
NO SPLICING IS PERMITTED.
512 THE MAXIMUM ALLOWABLE GAP (MEASURED BETWEEN THE WEB OF THE STUD AND THE WEB OF THE STUD AND THE WEB OF THE TRACK)
FOR A STUD SEATED IN A TRACK IN A NON-AXIAL LOAD BEARNG CONDITION IS Yg" UN.O. IT IS RECOMMENDED THAT THIS GAP BE
ELIMNATED IN AN AXIAL LOAD BEARING CONDITION BY PRE-LOADING THE STUDS UNTIL THEY ARE FULLY SEATED IN THE TRACK. FALURE
TO DO SO COULD RESULT IN SERVICIBILITY PROBLEMS IN THE FUTURE.
513 ROOF & FLOOR JOISTS MUST ALIGN DIRECTLY OVER STUDS (UN.0.).

FWA PROJECT NO: 2420.02

SCO PROJECT NO: #12-10117-03A

KWK PROJECT NO: 13110

DRAWN BY: KPM

APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

STRUCTURAL
NOTES

SHEET NUMBER

S002




02-JUL-2015 10:59

I_s%.. _ 4 SHEET NOTES
|

Charlotte, NC 28204
7043333122 ®704.333.8252

2. |JJSSXEI NOICATES SLAB BEAM, RE: 11/S403 FOR SCHEDULE AND DETALS.

Lo | I, 7I IOI/ " L
I / | I/ 1. SECOND FLOOR FINISH FLOOR ELEVATION SHALL BE 745.00" UN.O.

/= I

= | | V4 IEEL 0T BRAN DIACTAE: 7 NEHT CONGRETE ON 2% 32 GAGE. CALVANYED DOVETAL, PROFLE COUPDSITE NETAL DEC

77777777777777777777777777777 ! ! IGH " , VANI VETAL IL | K.
— | ‘ -~ 1+ /1 INDICATES AREA ALLOWED FOR INDIVIDUAL M.E.P. PENETRATIONS. BEAM SIZE - TOTAL SLAB THICKNESS = 5Y4".IN ADDITION TO ANY REINFORCING SHOWN, REINFORCE SLAB W s00EaSTBOULEVARD
b Ig | | \. A - 1. CONTINUE METAL DECKING OVER THESE AREAS. \ W24x55 \ WITH W.W.F. 6x6-W2.hW2.1. 704 | 332-7004
é@I lz? I 01/5401 I \\ 2 FORM BLOCKOUTS ON TOP OF DECK FOR PENETRATIONS C- Ma" 30K 3. TOP OF STEEL SHALL BE 5'/4" BELOW FINISHED FLOOR UNLESS OTHERWISE SHOWN IN ( ). I:l #10 Palmetto Business Park
T e e | p— ‘ NG ' ' BEAM CAMBER (UP) ULTIMATE END REACTION (KIPS) Hilton Head Island, SC 29928

- , | I -9 . : WITH BRIDGING. SEE COLD FORM FRAMING DRAWINGS FOR DETALS. E
If%—kk fffff == =~ A= = = . N 4 POUR SLAB A. IF NO REACTION IS SHOWN: A) FOR BEAMS W12 AND SMALLER.
i‘ I ] N s ' PROVIDE CONNECTION W/ 10K MIN. SHEAR CAPACITY. B) FOR
Ok I | < 5 CUT AWAY METAL DECK AS REQD. BEAMS W14 AND LARGER. PROVIDE CONNECTION BASED 's, 5. INDICATES SPANNING DIRECTION OF DECK

| | | ' T o e e LD creons et o 6. SEE ARCH.AND M.E.P.DRAWNGS FOR EDGE OF SLAB DIMENSIONS, OPENNG LOCATIONS AND
! A\ | ol - o pekl CONSTRUCTION: LRFD. SECOND EDTTION. " DMENSIONS, DEPRESSED SLAB LOCATIONS AND EXTENTS, SLAB SLOPES, FLOOR DRANS, CURB
i Hsapapsfy I AND CMU WALL LOCATIONS.

x6x7g

II RE: 01/5605\*&, 7. SEE SO01FOR STRUCTURAL NOTES.
I 8. SEE S3XX SERES DRAWINGS FOR FOUNDATION DETALS
! ' ' BULLA SMITH
| 9. SEE S4XX SERIES DRAWINGS FOR FLOOR FRAMING DETAILS. DESIGN ENGINEERING
| 10.  SEE S6XX SERES DRAWINGS FOR COLUMNS AND BASEPLATE DETALS. NC Certificate of Licensure C-1863
h 1. <« INDICATES STRUCTURAL STEEL MOMENT CONNECTION 347 Harding Place  Suite 201
I
1

“\\uumm,,

o “\ C RO[ / ", ‘Y,
* ’kf’/

%, 4 o
oy f’ D B\Ik\\\‘
Ny

FOR CONSTRUCTION

B !

H : ]
I
1
I
ix'o 4|/4u
1z - e HSSBxBx gﬁs-os' 3%
| ik / HSSBxGxZV(TOS* 376
EVAVAN)
I__': \
i 1675403 I y, N
7 N
P vd N
1! ool o
|%A N i é} >
1! o \’
II (Z) K J/ & ~ 7
1! Lo} v e \\ <
1 s | < /
S5 SN | > o
II;\eo ( AN I X /
1" I X 7
\ = CONSTRUCTIO
N g < NSTRUCTION
] R b
| \ 9 %
A OCU S
Y D MENT
N z \\
/\/\/ %
// \\ 70{ \\
\\ \&)% \
o9
\\
N
N
h Vs
N )l
\\ ‘2.,
N

\

Wz

172V " 17'-10%" 10"-8%" 22" -1%e" -1 UNC CHAB]_UIT E

© o

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

25'-8/y"

01/5401 I Héégigiég (10s.- gg}';) B RN A 01/5401 I i
o ¥ e OU/S401 | i \ p— 3% L=l ousson ¥ 9201 UNIVERSITY CITY BLVD.
Z I [ ': & ': — 3% . J © CHARLOTTE, NC 28223
- - %( [ | Aﬁ% - 2 |%r x
— Ay e e I e N W AENRRARARRRRRN| GRNRRARRARRARRRRRRRRRRAREEY) R /A o DATE
i 1 i g ol i i T i MARK |(YYYY-MM-DD)|  DESCRIPTION
|
| I A | 16/5403 ﬁ | A I | 2015-01-06 | BID DOCUMENTS
|
[ [ I 4|/4-- 4|/4.. [ [ [ B 2015-01-26 ADDENDUM #1
I I T —— I I ~ / \
| I I | I I P
‘ ‘ : ‘ ‘ ‘ - 2015-02-05 ADDENDUM #2
! I I | —HSS 6x6x¥s HSS 6x6x%g w 2 B A
I I I |/ BELOW ONLY A BELOW ONLY A | 0 2015-04-10 ADDENDUM #5
| | | /e ovse0s Lo M RE: 01/5605 I S
X
f—f—f—f—f—f—f—f—f—f—if—f—f—f—f—f—f—fi— fffffffffffffff o * .ﬁ—f—f—‘f—f—f—f—f—fi: 77777777 - é 2015-06-09 ASI_008
|
i i | i é i ) é 2015-06-16 ASI_009
‘ | Bk W8x18 | 15k Iv\ | ‘ =
| I /HII A | ! 2015-06-18 BUILDING PACKAGE
| | HSS Bxbute — | |\ HSS 6x6x% HSS ExExy H3S Exulf | e A BID DOCUMENTS
18/5403 RE: 01/5605 RE: 01/5605 BELOM |ONL ¥ BELOW ONLY
| | ! | | RE: 01/5605 0175605 | 2015-07-02 ADDENDUM #1
i nm 1 e ‘ [ AN 36k Wi4x22 | 39k Y 33k W8x28 35k i . B @ / \
| | | HSS xbdly — I e e -
HSS 6x6x%e BELOW ONLY ~ HSS 6x6x¥ M =
| | gf \ | BELOW ONLY \ RE: 175605~ BELOW ONLY \ i A4 ggsbaxﬁast 525 &
I i RE: Q5605 |||\ T wiast ||| ||| RE0V/SB05 ask_ wexas ook T DM AL ~
********************************** = s |- S | I - 77777t_’_ﬁ777777772 — — - — = N
! T | S2 | 43k/‘ ' — 20k W8x10 20k
HSS 6 S
| B/5403 | I bt g S~ ggspaxsazs 1
: v FWA PROJECT NO: 2420.02
| | HSS Gx6x3fs — | | - HSS 6x6x%s BELOW ONLY \ / CSRE: D1/3605 S OJECTNO 00
| | EEL?)IIISIS)(I)IEI;Y | | EEL?)IISQI)IEI;Y RE: 01/5605 ‘ ’\I\ SCO PROJECTNO:  #12-10117-03A
01/ 0 e =
N RESOS605 O\ UL L UL ] | R nan O LT N 42k W2 3T B 46k Wix26 4Bk 30k W26 44k WA o L | 122 B KWK PROJECT NO: 13110
| I I [ j /‘I 2'-5% » J el I DRAWN BY: KPM
| | | | | |
» » » o\ mam T el
| I | T ; | < |
I I I | RE: 01/5605 RE: 01/5605 | I < I = THESE DRAWINGS AND THE PROJECT
| | | | | o | ~ MANUAL ARE INSTRUMENTS OF SERVICE
HSS' Bx6x%e | | | | | | o AND REMAIN THE PROPERTY OF THE FWA
RE: 01/S605 | I | I | | GROUP ARCHITECTS. UNAUTHORIZED
A | | | | | | DUPLICATION OR REUSE WITHOUT
| I | I | | WRITTEN CONSENT IS PROHIBITED.
I I I I I I
RE* 01/S60 7é ,,,,,,,,, Ll L A LU L Rt L Ll L il | L L Ll A sl |11 ELEC L)Lt | S ' SHEET TITLE
I w w L * * () |a
’ BELOW = I I — I R 3%" | 3%" I -
\ /EE- 01/3605 RE: 01/5605 — B sl | | 01/5401 | i | — | ) 2 N D F _OO R
: W12y, 95 01/5401 R | | | 01/5401 | |
A&“’ N2, & | | | | | | @ NORTH
— = ~— A=A — = — = — = — - — — — = -+ — — — = ——— = — = ———— e — = — = — — — ————— = — = ——— == —X
P 25 | | | | | | FRAMING PLAN
“Cro 15 | | | | | |
27|_g|/4u L i L "I-4%6" L i i

SHEET NUMBER

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIVNCADD Files\xivS202N.dgn

S202-N




02-JUL-2015 10:59

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIV\CADD Files\xivS303.dgn

*4 VERT.@ 48" 0.C.
MATCH DOWELS

8" CMU

*4 DOWEL w/ 90° HK.

| |
\ \
MASONRY VENEER 1 1 2N S "
RE:SA'[‘}CH' N A— A— z\“ = @ 18" MAX. 0.C.
| ‘ =N D% CONC. SLAB DRILL & EPOXY INTO
] NETAL STUD | CONC_ SLAG /2" EJ. Em mE CONC. 2La8 ON GRADE EDGE OF SLAB MASONRY VENEER
| : | EN BE : 18" P S | " ‘
GROUT CAVITY | 0 | - WALL AND RE: PLAN \ \; = / RE: PLAN REPLAN | 2-04 cONT.~_ # W W RE: ARCH. T META ST
BELOW GRADE } ‘ } | CURB BEYOND | E . ___—8-%4 CONT. 1
CONC. SLAB Ml : : i |
. 72150 EXT. SLAB | ON GRADE =N (1= & - GROUT CAVITY |
FINSHED GRADE T "I’ RE: CIVIL \ | RE:PLAN  FiisH FLOOR ’80&%%580&2@5 %ﬁ&@&)% 5_@ HBGRRE3% 3@0 B3RS 00 51008 500 55 S & BELOW GRADE } | }
SH ‘ -GIBRE:PLAN #7 DRANAGE— =l ' A g pRanAGe o CONC_SLA8 0
] ‘ CO RSE ‘// = | \\ CO RSE wJ ON GRADE - 18" 2'.4 CONT CONC SLAB
| \ U y i \ U . . FINISHED GRADE \
- y , . = RE: PLAN ] ON GRADE
4t W ! Q Q&QO OQS\Q 5 20 VAPOR '~ i “-VAPOR N *4 0 9" 0.C.—] RE: CIVIL L RE: PLAN
‘ 2 : | o e Q0G%e L RETARDER | ~v4 DOWeLS RETARDER | & 1 :
L g CONC. SLAB 1 4" OPEN-GRADED | 7" e 48" 0C. \ i ‘ “l
sen i ] e o Al SR [ rowac T RO
LR ’ FINISH FLOOR LN VAPOR = r T RZRRL G RALRS R ORZRR S RAS =z
FOUNDATION e : RE: PLAN FOUNDATION e e > R TARDER -1 =375 CONT. *4 DOWELS \ \_,+ ooen- T 4" OPEN-GRADED
el i 4 A 7 S\ e - WBHE | | e
. L RE: PLAN i i . RE: PLAN
RE: PLAN A EN | £ | , <= : *4 e 18" 0.C. w _¢7
RUN DRAN AT 2 SN ceevanon ov o | ]! ‘ T = s oo || SweeR > = /s con TRt N
OF ADJACENT FOOTINGS. { O Tho T TS, { N i d o L V a,/
b A £ | WHERE FOOTINGS : | |
H I '4 VERT. I VAPOR '4 VERT. e n n n ‘ n
STEP' DOWN. 0 18" 06 [Nl RETARDER STEPDOWN. | g '1gv 0.6, [Nl 8% . 7% _ 8% - o e 3L
' i i L S I H | i | < 3" CLR. : 8 P78
g \ i / L 2" L. (TYP.) § \ i / L 2" L. (TYP.) 2 -0 8-- 8-- 8-- 1I'0" 8" 4"
iE | imE |
{ 5 3 O 3 20" 20"
H H ‘ - H H ‘ - . . . . °
1= == R0 E == (03 Typical CMU Partition Support » -1 04 Section 10" (05 Section =10
iM: | i e 18" 0.C. EME i i e 18" 0.C.
| |
TOP OF FTG. , TOP OF FTG.
0 1 / /—*4-@ 18".0.C. RE: PLAN i 1 / /4@ 187.0.C. RE: PLAN @ @
. | / + . | +
i ] | —4-4 CONT. T ra / | —4-4_CONT. ‘
o | /| S 1L | /] MASONRY VENEER | Mooy VENEER 1 METAL STUD
: ELD) : £ RE: ARCH, | B ’ ] RE: PLAN
‘ | ‘ ‘ | ‘
| |
L
3" CL. | 3" CL. 3" CL. | 3" CL. BENCH o METAL STUD GROUT CAVITY |
95,5 5 RE: ARCH\L[ } | } RE: ARCH BELOW GRADE } | }
|
1I_6II 10" 8" 1I_6II 10" 8" ‘ ‘ ‘ ‘ @ ‘ 1 "
A -+4 CONT. .
| | FINISHED GRADE — 8 Zr4 CON 83N8R§Béa
3-0" 3-0" | ] . RE: CIVIL BN RE: PLAN
- Ulg -24 CONT . " . ~|
. . FINISHED GRADE B Ft SO N Graoe. i | )
07 Section =10 (02 Section =10 RE: CVL GROUT CAVITY L RE: PLAN 2 |
BELOW GRADE\ ‘ : - o= TOP OF FTG
\ <} N .
\ \ i — = WASHED STONE LN
z 1" CL. ‘ 4 @ 18" 0.C. VAPOR #7
£ L2 | y TOP & BOTT. RETARDER S
o TOP OF FTG. |
| WASHED STONE L i |
| VAPOR -497 i - ‘ ,~5-44_ CONT.
| RETARDER | | = [ 1/ D'/ TOP & BOTT.
/—10"4 CONT. o
E f— | TOP & BOTT. |
= o i ' CL. i 3" CL.
~ 45/8"93/8'
=0 -0 g 4
3" CL. 2'-0
2-9" g |
59 10 Section = 10"
09 Section oo
: ) |
RE M YN 0
MASONRY VENEER ] METAL STUD MASONRY VENEER NI METAL STUD MASONRY VENEER e METAL STUD
RE: ARCH. | / RE: PLAN RE: ARCH. ] / RE: PLAN RE: ARCH. ] / RE: PLAN
L] \ i \ \ \ i \
| N | \ |l \ | |
0 e 2o CONT CONC. SLAB 001 G 2o CONT CONC. SLAB 0 e g-es cont. /~CONC.SLAB
FIRST FLOOR I : / RE: PLAN I : / RE: PLAN n : / RE: PLAN FIRST FLOOR
E - - - — - -JHeR g - = 1 o s~ e e UENECR MCHORS. —~_ (- T G T 4
IN DOVETAL SL : © ™ IN DOVETAL SL = ™ IN DOVETAL SL 5 © »
e 16" 0.C.E.W. | f S @ 16" 0.C.E.W. ‘ S e 16" 0.C.E.W. -lﬁL S
GROUT CAVITY i - GROUT CAVITY I x = I % =\
BELOW GRADE 1 T “toxa¥ LLv BELOW GRADE | = \Loxax¥ LLV = |ML6x4x¥ LLV
] I/ n I/ n I/ n
FINISH GRADE | OR '/g" BENT PL. FINISH GRADE \ OR '/g" BENT PL. | OR 4" BENT PL.
RE: CIVIL \ \ ‘ ATT}A)CHDTI? AL 1 RE: CIVIL \ \ 1 - ATTQ)CHDTI? AL e z ATTg}CHDTBEV;SLL 1
w/ 78" DIA, XY [ w/ 78" DIA, XY w/ 8" DI XY
Hl|Z | 1 A ANCHOR w/ 3%" BEAM H|Z 1 ANCHOR w/ 3%" \—BEAM S| ANCHOR w/ 3%" \—BEAM
¥ | MIN. EMBED. © RE: PLAN = | MIN. EMBED. © RE: PLAN = | MIN.EMBED. @ RE: PLAN
/ ‘ 48" 0.C. MAX. . | 48" 0.C. MAX. | 48" 0.C.MAX.
[ | / Jd
6 1 10" 6 | 14"
VENEER SUPPORT T Iz T VENEER SUPPORT " =
glél(E)Ll;' argp AS g S SE(E)L; ﬁTEP AS : 1 =
1 I 4-- H 1 I 4-- ] |
INCREMENTS TO g 151 INCREMENTS  TO - | I o 18" 0.6
REMAIN 8" MIN. . i REMAN 8" MIN, . BN C.
ggﬂ FINISH i T EER%EI FINISH i 1 5
E -/'. ‘ o E / ‘
1 -+ 1] J‘%r
H | A
4 VERT, = | 4 VERT, i
e 18" 0.C. g ;! *4 x 6'-0" @ 24" 0.C. e 18" 0.C. g |
E \ CONC. SLAB—  CTR. OVER WALL . i
§ | ON GRADE 18" | 18" . CONC. SLAB H
i | FRST FLOOR ~ REPLAN 44 CONT. RE: PLAN i |
g | RE: PLAN 4;_ | . |
E | - . (=] = E ‘
u \ - XX H |
B 1 20000 X0 Q00 ° g 1 . *4 HORZ
2" CL: L L2 = _ 2! CLi | L2 cL 09" 00
=8 | 4" OPEN-GRADED H L6x4x¥e LLV o+ o
. | WASHED STONE ] . OR /4" BENT PL. 1. |
" o ] 8| e - I
u H w/ 7" H
*4 HORZ, - | AET1R0ER g 5 ANCHOR w/ S iagm *4 HORZ, i | i
09" 0.C. T g : : : : e 6" 0.C. T
;T"’\\L‘@ 1 . 487 0.C WAL A ;‘C-l)\?\‘i-) A
- | H H ‘ .C.
: | g . : i
*4 VERT. : 8 X A RE: 16/S303 FOR *4 VERT. : ‘
e 6" 0.C. 1 | ; WALL BELOW e 6" 0.C. - i
™ | . o, %" E
|| 16A section . i
WATERPROOFING 1 i WATERPROOFING . |
4 ] : H ‘
RE: ARCH. \; i RE: ARCH. \; i
- ‘ -
E | . |
MOLDED SHEET . MOLDED SHEET . |
DRAN PANEL N | DRAN PANEL "X i
w/-FILTER FABRIC — ] ‘ w/ FILTER FABRIC — ] | VAPOR
] . N |
: AL, . | RETARDER
H \ H !
1 Ny | CONC. SLAB /1 NN | CONC. SLAB GROUT CAVITY — ¥ A\ CONC. SLAB
H 1o ON GRADE H | 1o ON GRADE N R 1w ON GRADE
E 1 Vy" E.J. N SRk £ | Yo" E.J RE: PLAN BELOW GRADE » o EJ. RE: PLAN
1 =l 3 e 2 :
K =Bl 11z 2 Z
: =z | W : = H BUC =
1 =S X5 2ALSR 1 Izl &N o SR E%DAHON\ & Dnnr%@of\nr%@of\n&&g\ﬁ%m&r@
H | WATERSTOP g L I L WATERSTOP ]
X o |E || P i VAPOR 4" OPEN-GRADED X ol | | L VAPOR PEN-GRADED RE: PLAN - | 1= s - 4" OPEN-GRADED
. | 25 R XA SHED ST TOP OF FTG. g 13, WASHED. ST TOP OF FTG. y"x3)s WASHED. ST TOP OF FTG.
;:?é%\ (\ NE I_-Zg/ AR KEY RETARDER WASHED STONE RE: PLAN %’8 ('Qr\ - (\ R .‘\//_ SR key RETARDER ED-STONE RE: PLAN ;4690(‘),%'_5 — (\ ) /SHEAR 2ey SHED- STONE RE: PLAN
*4' DOWELS —_ | 5 + 4 DOWELS —_ ur N il! W S il!
a2 | a2 | CTR.IN WALL
*5 @ 6" 0.C.— ; — 4 *5 0 6" 0.C.— | — |4 *4 @ 18" 0.C. ~ — |4
8-*5 CONT. —~| ™~ | 3|+ 8-*5 CONT. —~ ™~ | 3|+ 5-5 CONT. —| S+
% (] .‘ g (] (] (1} (] h % ‘ [ .: .g (] (] (] h % (] (] (] h
0% | 5% | \
*5 DOWELS " LAl ‘ 3 n *5 DOWELS " 3/ u "
e | T | el 05 0F 3" CL. 0% 1% e 3" CL. 3% 3" CL.
: ! SECTION T 1!_0" 1!_10" 3!_2" 1!_6" 8II 1!_10"
1-_0-- 1-_4-- 3-_8--
. 60" . 6'-0" . 4'-0"
16 Section = 10" 18 Section 4= 10" 20 Section = 10"

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

pnstn ll'""”

won CARgy M,
.s&;gq\}.‘\:\"..mm..,.’{../ ’kf”’/’ .,
§ .-"..‘QQ(‘ESS@&@P
= 5 Q 2
E "éﬂ B2 ;=
% /'.o.-' €4Zl Z./{); ._..\.:?é:s
NP CINTY S
t,,,, Uy KO &
, DM

FOR CONSTRUCTION

CONSTRUCTION
DOCUMENTS

\

Wz

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION

2015-01-06 BID DOCUMENTS

2015-02-05 ADDENDUM #2

2015-04-10 ADDENDUM #5

BID DOCUMENTS

2015-07-02 ADDENDUM #1

if 2015-06-18 | BUILDING PACKAGE

3

5

FWA PROJECT NO: 2420.02

SCO PROJECT NO: #12-10117-03A

KWK PROJECT NO: 13110

DRAWN BY:

APPROVED BY:

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

FOUNDATION
DETAILS

SHEET NUMBER

5303




02-JUL-2015 10:59

\\BSDEO2\Projects\2013\2013.23 UNCC Phase XIV\CADD Files\xivS501.dgn

STUD SIZE & SPACING

COPING AND TRACK SIZE TO
RE: ARCH. MATCH STUDS AND TRACK CONT. 16 GAUGE ANGLE
FROM WALL BELOW CONNECT ANGLE TO ROOF DECK
w/ (1) +12 SCREW @ 6" 0.C. — CONT. TRACK SECTION w/ 2" FLANGES
| 1 CONT. 16 GAUGE ANGLE GALV. METAL GALV. METAL CONNECT ANGLE TO EA. STUD DEPTH AND THICKNESS wro MATCH JOIST.
MASONRY | CONNECT ANGLE TO ROOF DECK e CALV. META w/ (3) *12 SCREWS CONNECT JOIST WEB TO TRACK WEB
VENEER | w/ (1) *12 SCREW @ 6" 0.C. w/ 16 GAUGE CLIP ANGLE
; | CONNECT ANGLE TO EA. STUD COPING STUD SIZE & SPACING AND TRACK >
RE: ARCH. | 1 (3) *12 SCREW RE: ARCH SIZE T MATCH STUDS AND TRACK W/ (2) 112 SCREWS. CONNECT TRACK
|| W 2 SCREWS * ARCH. SIE TO MATCH STUDS A0 TRACK WEB TO EA. STUD FLANGE OR TRUSS
= IN THE CF DRAWINGS. w/ (2) *12 SCREWS.
| | PRE -ENGINEERED \_ RE: ARCH. } | R ARER ?
- - GALV. METAL | CONT. 16 GAUGE ANGLE Y
o LIGHT GAGE ROOF DECK MASONRY | | CONNECT ANGLE TO ROOF DECK &
. METAL TRUSS RE: PLAN VENEER | w/ (1) *12 SCREW @ 6" 0.C. I GALYV. METAL 82
e OVERBULD ' RE: ARCH. ) CONNECT ANGLE TO EA. STUD N ROOF DECK >
L (TYP.) | | w/ (3) *12 SCREWS | VASONRY . RE: PLAN
BLOCKING \ BLOCKING VENEER N Y | PP A A I
‘W—— RE: ARCH. EEEQ{,E‘EG TRUSS | | 'j e —————————— E T TRUSS RE: ARCH. \ O )
Vel RE: 16/55.01 | CONT. TRACK SECTION = g 4 \_ CALV. METAL RE: 16/55.01 | e o
= | i PRE-ENGINEERED w/ 2" FLANGES. DEPTH AND ] = — — — e = ROOF DECK i PRE-ENGINEERED . \
\ ‘ | LIGHT GAGE THICKNESS TO MATCH JOIST. \ RE: PLAN | LIGHT GAGE Ll METAL JOIST
RUN METAL TRUSS CONNECT JOIST WEB TO ] 1 METAL TRUSS | RE: PLAN
‘ | (TYP) TRACK WEB w/ 16 GAUGE | 1/ | (TYP) |1
| | SCREWS. COWNECT TRACK Ol | 1 METAL STUD
\ I ROOF DECK ‘ . Pz 600-S162-43 PRE -ENGINEERED ‘ | RE: CF DRAWINGS
N RE: PLAN MASONRY | WEB TO EA. STUD FLANGE N 7" JOIST, MATCH LIGHT GAGE MASONRY | |
R VENEER | OR TRUSS w/ (4) *12 SCREWS. | STUD SPACING METAL TRUSS VENEER | . oR R
RE: ARCH. | TYP. EA END. (TYP.) RE: ARCH. | N PR (ENGINEERED
= | 2 | o METAL TRUSS
g | | | | GIRDER (TYP.)
TRUSS BEARING } < TRUSS BEARING — | TRUSS BEARING A 600-S162-43 KICKER — TRUSS BEARING | TRUSS BEARING | : B
RE: PLAN 5 RE: PLAN N RE: PLAN | MATCH STUD SPACNG | RE: PLAN | RE: PLAN . METAL STUD
i METAL STUD N !Ii 1 METAL STUD | CONNECT EA. END | N / RE: CF DRAWINGS /
| | | / RE: CF DRAWINGS PRE-ENGNEERED | | | / RE: CF DRAWINGS e w/4-*12 SCREWS. ‘ } | } PRE-ENGINEERED
—4;_ | LIGHT GAGE
| TAL TR | METAL STUD HSS COLUMN |
| ‘ | Mipy U5 . || RE: CF DRAWINGS — RE: PLAN 1 oy
. . . | . . .
01 Sectlon 3/4” — 1v_0u 02 SeCtlon 3/4u — ]."O” 03 %u — 11_011 04 Sectlon — 11_0n 05 Sectlon %vv — 1v_0u
88%5'52% GA%%G% %GLIEOOF DEC
L K
, ! CONT. 16 GAUGE ANGLE
gé)N(NzE)ngAtigREWTOQE?k gfcb CONNECT ANGLE TO ROOF DECK
‘ A u 16 GAUGE CLIP ANGLE | w/ (1) *12 SCREW_ @ 6" 0.C.
BE w/ (5) *12 SCREWS CONNECT ANGLE TO ROOF JOIST | CONNECT ANGLE TO EA.STUD  PRE-ENGINEERED
R w/ (4) *12 SCREWS | w/ (3) 12 SCREWS LIGHT GAGE <
| CONNECT ANGLE TO TRACK | METAL TRUSS
N GALV. METAL w/ (6) *12 SCREWS | — GIRDER (TYP.)
| @ ] ROOF DECK | ] CONT. TRACK SECTION w/ 2" FLANGES
B RE: PLAN | ) DEPTH AND THICKNESS TO MATCH JOIST.
o | | | CON%E((:;TA Jc%ls(r: gEEN (T;OE TRACK WEB
w/ U LI L
1 MASONRY 0 W/ (4) *12 SCREWS. CONNECT TRACK
B VENEER R WEB TO EA.STUD FLANGE OR TRUSS
CONT. 16 GAUGE ANGLE LR * ARCH. 0 w/ (4) *12 SCREWS.
CONNECT ANGLE TO ROOF DECK Ol | ALV, METAL
| w/ (1) +12 SCREW @ 6" O.C.  _ CONT. TRACK SECTION w/ 2" FLANGES ‘ a ] ROOF DECK
N CONNECT ANGLE TO EA. STUD 7 DEPTH AND THICKNESS TO MATCH JOIST. e \ e L
- W/ (3) *#12 SCREWS CON%E%LU tc%ls(rz vI;EBAN (T;OE TRACK WEB . METAL JOIST | o
W LIP_ ANGL | . RE: PLAN | g AT AT AT VA A A A
. W/ (2) "2 SCREWS, CONVECT TRACK ok CONT. TRACK SECTION w/ 2° FLANGES, VETAL STUD ol TRUSS, BEARNG o
@ WEB TO EA.STUD FLANGE OR TRUSS | JOIST. RE: CF DRAWINGS || RE: PLAN I
HUR w/ (2) %12 SCREWS. | CONNECT JOIST WEB TO TRACK WEB | —*— -
ad o w/ 16 GAUGE CLIP ANGLE ALIGN JOISTS ] | \
| ‘ w/ (6) *12 SCREWS. CONNECT TRACK Wit <TUDS a . METAL JOIST
o GALV. METAL BN w/ (6) *12 SCREWS. | ] '
| ROOF DECK | METAL STUD LIGHT GAGE
I | I Y | RE: CF DRAWINGS METAL TRUSS
, < E Wy AN AN v AN A A A . \e
I o = & BN el . "
\ i s » 5\99& L \ ﬁ‘} 09 SeCthﬂ %" =1-0
N \ N ué?)(
b METAL JOIST R |
‘ RE: PLAN ‘ ‘
1 1 IN
MASONRY } | } PRE -ENGINEERED MASONRY } | } 1
VENEER | LIGHT GAGE VENEER | |
RE: ARCH. |1 METAL TRUSS RE: ARCH. . ‘
e GIRDER (TYP.) B | }
e A ‘
| [j | CONT. TRACK SECTION w/ 2" FLANGES | [j | !
T DEPTH AND THICKNESS TO MATCH JOIST. N B !
| CONNECT JOIST WEB TO_ TRACK WEB | N
|0 w/ 16 GAUGE CLIP ANGLE | |
BN w/ (2) *12 SCREWS. CONNECT TRACK BN i 1N
| i | WEB(ZTOéAég;gaSFLANGE OR TRUSS | i | E%E_I'TEN&%EERED—\' i \
w/ (2)® .
o ~ METAL TrUSS | }
) YP.)
] | 6" METAL STUD 1 CONT. 16 GAUGE ANGLE
. . RE: CF DRAWINGS | CONNECT ANGLE TO ROOF DECK
Bl B ALIGN INSIDE FACE || w/ () *12 SCREW @ 6" 0.C.
Ol N géLglv?IDE FACE | CONNECT ANGLE TO EA.STUD o
I'-[IE;HSS e N o | } w/ (3) *12 SCREWS .E?”?é o B <
USS BEARI | ~Ft] [ | ‘ HIO7S. g
RE: PLAN N g e N 1 R CONT. TRACK_SECTION w/ 2" FLANGES =
—+' . \ _/4 o | ol DEPTH AND THICKNESS TO MATCH JOIST. &
g NETAL JosT  PRE-ENGNEERED o | L o/ 16 CAUGE CLp ANGLE o M8
B RE: PLAN METAL TRUSS | | | } | MASONRY | @ | w/ (4) *12 SCREWS. CONNECT TRACK
0! 0 L e Y Vs 10,4 1D FLvE
R T | “ ARCH. BE * 16 GAUGE CLIP ANGLE
| A y"x6" CONT. ol | | = | GALV. METAL  CONNECT ANGLE TO ROOF JOIST
} | } METAL STUD GALV. STEEL PL. 1 } ' ROOF DECK ¢ 8% RLE To TRAC
. BN : L K
o / RE: CF DRAWNGS i ] REPLAN 0/ (3) *12 SCREWS
\ (2.2 VAN VA N VY N VY N W N VY N W W N WY N W N VY A WY AV W
TRUSS BEARING o TRUSS BEARING . S TRUSS BEARING A — - ¥
RE: PLAN } | } RE: PLAN I e N L RE: PLAN } | T 77777777777777777777777777
| ‘ " ‘ |
I " |
| N | ye | i T ST | | s L N\ e svcneereo
R 700 | ’ | ] ol N LIGHT GAGE
i l b S e - AN e CEE S S
| /l/ L [ UTSI w/ QUTSI L RE: PLAN ! :
\ w | METAL STUD d (TYP.)
‘ | | | RE: CF DRAWINGS
A /5" DIA. DEFORMED DOWEL |
11 Section 3 T ek * Section 3
3" =1-0" MASONRY VENEER : 05/54 1 4 3" =1-0"
. RE: ARCH. | | FOR ATTACHMENT. 4
| | WW.F. CONC. SLAB
| | / / RE: PLAN
16 GA. ANGLE — L ]
O ek, 10 TRUSS ettt s + A\
vv L ]
CONNECT ANGLE TO TRUSS BRICK _SUPPORT ANGLE B 2-0" MN !
BLOCKING w/(4) *12 SCREWS. %EEGB?/S‘;%?NT' (GALV.) ] :
TYP. EA. END. 16 GA. ANGLE BOR
CONNECT ANGLE TO BEARING FOR ATTACHMENT. | J |
WALL w/(4) %12 SCREWS | “ METAL STUD
CONNECT ANGLE TO TRUSS . RE: CF DRAWINGS
BLOCKING w/(4) *12 SCREWS. ! ALIGN OUTSIDE FACE
TYP.EA END. —L W/ QUTSIE FACE
BEARING WALL | ABOVE

STANDARD TRUSS WEB
AND CHORD MEMBERS

18 GA. MINIMUM.
/ [e)e]
(e)e]
I cLP
PRE-ENGINEERED
BLOCKING LIGHT GAGE
/muss METAL TRUSS
CONNECT ROOF DECK
TO TRUSS BLOCKING
0 6 0. cLP
@ 6" 0.C. MAX.
il ' //_
GEARNG WAL~
1 6 Blocking Truss Details No Scale

%n — 1!_0n

20

3-0"

1t

~N

___" '.___

TrrrrTrT T

36 / 7 ATTACHMENT PATTERN

Type "B" Roof Deck

SIDELAP CONNECTORS
*10 TEKS SCREWS
16" o.c. MAX, MIN. 1 PER TRUSS SPACE

DECK SUPPORTS
*10 TEKS SCREWS

Typical Roof Deck Attachment noscte

[l 500 EAST BOULEVARD
CHARLOTTE, NORTH CAROLINA 28203
704 | 332-7004

D #10 Palmetto Business Park
Hilton Head Island, SC 29928
843 | 785-2199

BSALE

BULLA SMITH

DESIGN ENGINEERING

NC Certificate of Licensure C-1863
1347 Harding Place  Suite 201
Charlotte, NC 28204

®704.333.3122 ®704.333.8252

““ulllll'""”
X CARQ, e,
\ Q\\ {/ 4/4:,,,’/

et

FOR CONSTRUCTION

CONSTRUCTION
DOCUMENTS

\

Wz

UNC CHARILOITE

RESIDENCE HALL
PHASE XIV

UNIVERSITY OF NORTH
CAROLINA CHARLOTTE

9201 UNIVERSITY CITY BLVD.
CHARLOTTE, NC 28223

1

7

DATE
MARK|[(YYYY-MM-DD) DESCRIPTION
2015-01-06 BID DOCUMENTS
ii 2015-04-10 ADDENDUM #5
2015-06-18 BUILDING PACKAGE
BID DOCUMENTS
ii 2015-07-02 ADDENDUM #1
FWA PROJECT NO: 2420.02
SCO PROJECT NO: #12-10117-03A
KWK PROJECT NO: 13110

DRAWN BY: KPM

APPROVED BY: WDB

THESE DRAWINGS AND THE PROJECT
MANUAL ARE INSTRUMENTS OF SERVICE
AND REMAIN THE PROPERTY OF THE FWA
GROUP ARCHITECTS. UNAUTHORIZED
DUPLICATION OR REUSE WITHOUT
WRITTEN CONSENT IS PROHIBITED.

SHEET TITLE

ROOF FRAMING
DETAILS

SHEET NUMBER

S501




